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Welcome to Greek for Everyone!

Let’s admit it: If learning Greek interests you, you are an odd person. You are also a
brave person. Most people think of learning Greek as right up there with becoming a
nuclear physicist or a rocket scientist. The average person assumes it is impossible and
will never even try.

The truth is, anyone can learn Greek. This does not mean that it will be easy. Unless
you are a genius, Greek will boggle your mind. There will be terrifying new terms you
have never met and concepts that may take weeks to sink in. So why bother?

Because some of the best experiences of life are the the most difficult. There is a great
sense of accomplishment when you do something difficult.

In 2011, my son and | climbed Half Dome in Yosemite
National Park. | am not comfortable with heights, so
this scared me out of my wits. It felt like | was
suspended out over nothing, hanging onto those
slippery cables for dear life.

Why would | put myself through that?

Because the rush | felt at the top was like nothing |
have ever experienced. | faced a difficult challenge
and overcame it.

In the same way, there will be times during this class
when you feel like you are about to fall to your death.
Hang on! Conquering Greek is worth it! Why?
Because...

When You Climb Mt. Greek

You will be able to read first century Greek documents like the New Testament, the
Septuagint, and Greek writers like Plutarch with the freshness and force of the original
language.

You will have a sophisticated understanding of grammar. The word grammar is a
dirty word in many places today. Rosetta Stone has popularized the idea of grammar-
free language. This is nonsense! Grammar is our friend!

Once you master grammar, there are enormous benefits.

- You will be a better writer and speaker. Greek has greatly improved my writing and
speaking skills, simply because | understand the rules for putting words together.
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- You will have a foundation that will make learning other languages much easier.
Once you know the rules of grammar, they apply to every language.

- If you are a student worried about doing well on standardized tests to get into
college or grad school, Greek will help you enormously with the English section. You
really cannot learn Greek well without mastering English grammar.

« This may sound strange, but Greek will even help you think better. Why? Because
we think with language. Master grammar and your brain simply works better.

| teach the Greek that was spoken in the first century, known as Hellenistic Greek, or
sometimes, Koine Greek. “Koine” (pronounced “COIN-ay”) just means “common.” It was
the Greek spoken by the common person all over the world.

If you are interested in Modern Greek or Classical Greek, Hellenistic Greek is a good
place to begin. It is not as nuanced as Classical Greek, and it is pronounced differently
than Modern Greek, but it has close similarities with both so it is easy to go from one to
the other.

The Challenges

Before mountain climbers begin their ascent, they study the mountain to anticipate
obstacles to determine their route. As we approach Mount Koivn, here are some of the
challenges we can anticipate.

It’s a Big Mountain!

There used to be a method advertising “Greek in a Week.” This is like inviting people to
pack a picnic lunch to scale Everest. Mount Koivn is a lofty one. The top is way up in
the clouds. There is no short cut, but there are ways to ascend that are less difficult than
others. It can be downright fun.

In fact, the joy is in the journey. All along the way the vistas get better and better.
Muscles grow stronger. Your mind is a muscle, after all, and muscles like to be
exercised. The promise that Greek (or anything else) can be learned with the click of a
mouse is always false. The computer may be a helpful tool, but only you can master
Greek.

Strange Looking Letters

Most people look at a Greek text and are immediately intimidated by the strange looking
letters. They assume this presents an insurmountable obstacle. Not so! The Greek
alphabet is similar enough to the English alphabet that you will find it easy to adapt, and
unlike English, Greek pronunciation is marvelously consistent. You just say what you
see.

English
Believe it or not, one of the greatest obstacles to learning Greek is English. English is a
strange and inconsistent language. We are so accustomed to it that we don’t notice.
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Greek is much more logical and consistent (and lovely) than English. Often the
challenge is not that the Greek is unclear, but that discovering a way to say something
in English is difficult.

Jumbled Up, Shape-Shifting Words

One thing that will strike you very quickly is that Greek word order seems all jumbled up.
This is because Greek does not rely much on word order to tell us the role the words
play in a sentence the way English does. Instead, Greek words change form (called
“‘morphology”) to explain how a sentence goes together to give meaning (called

“syntax”).
This is the greatest challenge of learning Greek.

The patterns of change are marvelously regular, even awe-inspiring once you learn to
recognize them. For a while it will be overwhelming, though. Every part of speech has
its own patterns of behavior that must be learned. This is why there is no way to escape
grammar if you really want to learn Greek.

Terms, Terms And More Terms

As we start to describe all the changes that Greek words go through, we will need terms
to describe the changes. Since there are many changes, there are many terms. |
promise that you will get them mixed up, at least at first.

Nothing about Greek is difficult. It is as easy as snapping puzzle pieces together. The
problem is that there are too many pieces. It is like being handed a 10,000 piece puzzle.

Along the way, you will be overwhelmed. You will feel like there are half a million pieces!
This is normal. You are not stupid. You are attempting a great feat. If it were easy,
everyone would do it. As someone who is getting closer to putting the puzzle together, |
can assure you that it is possible. There are not as many pieces as it seems at first.
When the picture starts to take shape, you will feel a rush. It is worth it!

Our Approach
Each week consists of six parts.

1. Watch a 20-30 minute video.

2. Read Mt. Koivn (the Greek Grammar).

3. Do some exercises in the Take a Hike! exercise book.
4. Work on vocabulary. (Learn 20 vocabulary words.)

5. Put yourself to the test. (Take the online quizzes.)

6. Stay fired up! (Meet in the live weekly session.)

Mt Koivn 4



Base Camp

EEEEEEEEEEE




1. Grammar Overview

Lesson in a Nutshell

The parts of speech may be divided into substance, motion, and
relationship.
a. Substance
i. nouns (persons, places and things)
ii. articles (“the” and “a” in English)
ii. (modify nouns)

iv. (stand in for nouns)
b. Motion

i. verbs (action words)

ii. (modify verbs)

iii. participles (verbal adjectives)
iv. infinitives (verbal nouns)
c. Relationship
i. prepositions (anything you can do with a box)
ii. conjunctions (connect words and phrases and clauses)

Close your eyes.
Now open them.

What do you see?

To answer this question you will use language. Language is fascinating.
But language is not reality.

Language is just a series of arbitrary noises we make and attach to reality. Say the word
“‘monkey,” for example. A long time ago we English speakers agreed that this strange
sound would call to mind the furry critter that lives in trees and swings by its tail. But this
is only true in English. Saying the word “monkey” in China would be as meaningless as
saying the word “Hou-Zi” in America.

There are patterns that every language follows. These patterns are called grammar.

We will break grammar into three categories: Substance, Motion, and Relationship.
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Substance
By “substance” | mean the things. The people. The places. The “stuff’ of life. The first
thing a child does when she learns a language is point and name: “Mommy!” “Daddy!”
“Bottle!”
The names are nouns. For example,

monkey.

If you want to call special attention to a thing you can use the article. Not just any
monkey.

the monkey.
If you want to further describe what you see, you can attach an
The monkey.

If you get tired of saying monkey over and over, you use a to stand in for the
noun.

| saw the brown monkey. /f was eating bananas.

Motion

What if you want to describe how the things move? You would select a verb, an action
word.

The monkey flies!
And if you want to further describe the action you use an to modify the verb.
The monkey flies !
What if you wanted to use a verbal idea to modify a noun? You would have to create a
verbal adjective. These are called participles. Don’t let the scary word scare you. It's
simple. As simple as...
a flying monkey
See? The participle “flying” is a verbal idea, used like an adjective to describe a noun —

a verbal adjective. These are participles. Usually, in English, these are the “ing” words.
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Infinitives are the “to be” verbs. They are verbal nouns.
To love is my highest ambition.

Do you see how “to love” in the sentence above could be replaced with a noun?
Health is my highest ambition.

The “to- ” combination acts just like a noun, but not just any noun, a noun in
motion. Infinitives are verbal nouns.

Relationship
What if you want to describe the relationships between things? You use a preposition.
The monkey flew over my house!

And if you want to link two words or ideas together you use conjunctions.

The monkey and his wife were laughing at how easy this is.

| want to teach you Greek but | do not want to bore you.

Don’t let anyone fool you. At the core, language is simple. Substantives (nouns, articles,
adjectives, pronouns) are put into Motion (verbs, adverbs, participles, infinitives).

Relationships are described by prepositions and conjunctions.

Language is so simple that every one of God’s children uses it. In fact, the stupidest
people do the most talking.

Grammar only gets confusing when you get into the details. When you begin to feel

overwhelmed in your study of Greek, review this basic summary. It will help you keep
the big picture in mind.
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2. The Greek Alphabet

Lesson in a Nutshell
The Greek Alphabet is similar to the English alphabet and may be learned
using the following memory aids:
1.a,b,“g"de(aPyde)
2. zeta ate a theta! ({1 0)
3.Lineupi-u(t_xAuvéom_potv)

1. drop “” and “q” (which are jungue anyway).

2. add €. There is “no” reason for  to be between “n” and “0.”
4. Poughkeepsie (¢ x ) and w.

Name Upper Case Lower Case Pronunciation Transliteration
Alpha A o car a
Beta B B book b
Gamma | Y good g
Delta A o donkey d
Epsilon E € every e
Zeta y4 C zebra z
Eta H n beta 2
Theta O 0 think th
lota I 1 intrigue i
Kappa K K kitchen k
Lambda A A lazy I
Mu M w monkey m
Nu N \Y nut n
Xi = E extra X
Omicron O 0 blot 0
Pi I1 T person p
Rho P ) rotten r
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Name Upper Case Lower Case Pronunciation Transliteration
Sigma > o, C snake S

Tau T T trick t
Upsilon Y V super uly

Phi D ) phone ph

Chi X X Bach ch

Psi ¥ Y psychology ps
Omega Q [0 no 0

The Greek alphabet has much in common with the English alphabet. | find it easiest to
memorize it in blocks.

Alphabet Memorization Tricks

1 2 3 4

alblc|d|e|f|g||i|j|k|[lI | m|n|o|lp|g|r|s|t|u|¥|w|[x|¥|z2

o(Bly|dle| T n [t K?»HV&OTE pgfcud)xww
0

ab“g"de zeta ate a theta! there is “no” reason for & to be there! write your own ending
(Poughkeepsie)

The first five letters are as easy as a, b, “g,” d, e.

1
a b c d e

o By o €

ab “g”de

Just remember to replace the “c” in the English alphabet with a “g” (y) in the Greek
alphabet.
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Next, we depart from the English script because something truly terrifying happens: In a
horrifying act of alphabet cannibalism, “Zeta Ate-a Theta!”

2
t g h~

Cn o

zeta ate a theta!

This is my corny trick to remember the letters zeta, eta, and theta.

Next comes a long stretch of thirteen letters that pretty much correspond to the English
alphabet.

3
I+ kil mnopeg/r s tu

1 K?\,uV&OﬂZ p%tu

there is “n 0” reason for & to be there!

(1114

i” and “q.” These are JunQue! After all,

First, let’s get rid of the English letters
- There is no soft “j” sound in Greek (as in “jelly”).

- “Q” is a lame letter, don’t you agree? It is codependent on a “u” just to survive.
So throw it out!

Otherwise the letters line up nicely with the exception of ﬁ & is inserted between “n”

and “0.” | remember this by reminding myself that there is “N-O” reason for& to be
there!
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One other little quirk is that there are two forms of sigma. One is used when the letter
appears within a word and the other is used when it comes at the end, (called “final
sigma”). The word KOOUOG is a good example of this.

KOOLLOC

(universe)

That’s all but the last four letters. At this point we depart again from the English alphabet
and write our own ending.

Everyone knows that the last letter of the Greek alphabet is w, right? So all we have to
learn is the three letters ¢, ¥, and y.

4
¥ W X ¥ 2

XV W

write your own ending
(Poughkeepsie, NY)

This is my weakest memory aid, but it helps me to think of the town of Poughkeepsie,

New York. The consonants don’t line up exactly with the Greek ones but it points me in
the right direction.
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Sharon

57 q
Hyde Park Washington
oume New Paltz %
Ell Il .
- PoughReepsie
Wappingers
Mamakating 5 I New Milford
Walden
L34 Newburgh Patterson
Middletown Comwall. Carmel
West Point Danbury
Ainisink
Pine Island Peekskill South
p Montrose " Salem
Sterling L.

Vernon Fo;w v T ien I
WestMit 67 New City, Fai
WestMifford |+ (17) Norwalk

Stockholm Mahwah Nanuet
tamford
White Plains Sia
p2874
... Paterson YORKSFS
Parsippany, Clifton @ Bronx Comm
M i{ (205 |
oo East Manhattan ' /gy %D Bre
Oranie {295} Hicksville
Queens West
- & New York Hempstead Babylon
Elizabeth — Freeport
water  Plainfield Frookiyn e
. Staten Long Beach
Iselin &5 Island -
Lower Bay
Parth

Pough

kee

PSie

O phi
A chi
Y psi

If that doesn’t help you, maybe you can come
up with a better way to remember the last four
letters. Let me know and I'll make you famous.

One of the best ways to learn the Greek alphabet is to practice writing it as you say the
names of the letters aloud. Open up the “Take a Hike” workbook and practice writing
and saying the letters out loud.
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3. Vowels & Diphthongs, Syllables,
Punctuation

Lesson in a Nutshell

Greek vowels are very similar to English vowels: o (1), €, 1, 0 (w), v.

The diphthongs are a1 (aisle), €1 (eight), o1 (oil), av (sauerkraut), ov (soup),
V1 (suite), ev/nv (feud).

One syllable per vowel or diphthong.

Vowels

Greek vowels are similar to English vowels. | think of the 1 as a long “a” sound and the
 as a long “0” sound.

® |

cC O
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Diphthongs

Diphthongs are two vowels that combine to create a single sound. | find it helpful to
remember the diphthongs like this:

a oipw
e €l
“‘we” vidg
i olKlo
“you” £000g, NUEAVEY
(@) aDTOC
u 0V8€

In most cases, the diphthongs make the sound you would expect if you were to say the
two single vowels together very quickly.

Do diphthongs seem stupid to you? Think about English. We
have diphthongs and they are not nearly as consistent.

Consider the words
eight
height

Leigh (girl’s name)

Notice how inconsistent English is. Aren’t you glad you are
learning Greek instead of English?

Improper Diphthongs

Sometimes at the end of a word, you will notice that an iota has crawled under an o, n,
or o like this:

N | )

L L

These are called “improper diphthongs.” The iota is not pronounced.
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Syllables

To pronounce Greek, it is important to be able to divide Greek words into syllables.
Thankfully, this is relatively easy — much easier than English. The rule is simple:

One syllable per vowel (or diphthong).

You can see how many syllables any word has by counting vowels/diphthongs. Notice
how important it is to recognize diphthongs. If you fail to see them you will create two
syllables where there should only be one. | underlined them and put them in bold type to
help you see them.

0VOPWTOC

man

0V-Bpm-TOC

Yivopot

| become

Yi-vo-jot

T You might wonder how to place the consonants. Actually, this is not important since when you put the
word together and say it, it will sound the same whether you put the consonants with the preceding vowel
or the one that follows. But in case you want to know, here are the rules:

- Single consonants and consonant clusters that can be pronounced together go with the following
vowel.

- A consonant cluster that cannot be pronounced together is divided. The first part goes with the
preceding vowel and the second part goes with the following vowel. You can tell if a consonant
cluster can be pronounced together by two tests: 1. Try it! If it is awkward it probably does not
belong together. For example, in &vepmnog, try saying the letters vOp together. Doesn’t work,
does it? 2. Look up the letters in a dictionary. If no words start with a given set of consonsants, it is
probably a cluster that cannot be pronounced together.

- Double letters are divided (see OALOL below).

But please do not sweat too much about this. The important thing is to recognize the vowels, not to be
precise in the division of consonants.
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Notice the difference between dto and kot in the next two examples. Since 1o in Sl is
not a diphthong, it is separated into two syllables. But since the ot in Kot is a
diphthong, this word remains a single syllable.

o0

through

o1-0!

Kol

and

Kol

EYW
|

E-YW

el
| am

EL-{LL

EpYOLOL

| come or go

£p-Y0-pot

AEYW
| say
AE—Y®
TOLEW
| make or do

TOL-£-0)
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0SEADOC
brother

0-deA—-00C

bl /
OLAACL
nevertheless

OA-A0L

0LTTO
from

0=TCO

Practice dividing some words into syllables in the “Take a Hike” workbook.

Punctuation
Greek punctuation is super easy:

« The period and comma in Greek are identical to English.
- The Greek question mark looks like an English semicolon.
- The Greek semicolon looks like a dot above the line.
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4. Pronunciation, Breathing Marks,
Accents

Lesson in a Nutshell

The first sound of a letter is the sound that it makes.

There are three accents (= 7). Stress the syllable with the accent.

Every word that starts with a vowel will have a breathing mark. The smooth
breathing () is not pronounced. The rough breathing ( *) sounds like an
“h.”

Pronunciation
The pronunciation of Greek is marvelously consistent.

For starters, if you know how to say the name of a letter, you know the sound it makes
since the first sound of the letter’s name is the sound of the letter.

For example, Beta makes a “b” sound. Delta makes a “d” sound.

As we have seen, every vowel or diphthong in Greek gets its own syllable. This can
create words with a large number of syllables. For example, take Oeoopon, which
means “| behold.” It would be broken up as follows:

B - a - 0 - pot
(ot is a diphthong, remember)

It would be pronounced like this.
thé -a-o0-mai

The best way to learn pronunciation is not to read about how to do it, but to hear it and
practice.

Please spend plenty of time with the pronunciation video.

Also, be sure to speak words OUT LOUD as you study Greek. Your friends may think
you are losing your mind but it will significantly speed your learning.
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Breathing Marks

Every Greek word that begins with a vowel (or diphthong) will have a breathing mark
over it.

There are two breathing marks, rough and smooth.

9 e

silent (not pronounced) pronounced like an “h”

9 4 —
For example, the word OUVT|D (male/husband) is pronounced «ad-Ner ithasa
smooth breathing mark which is not pronounced.

The word OLLOPTLL (sin) is pronounced i a-mal‘-ti-a.” Notice that it

has a rough breathing mark which is pronounced like an “h” at the beginning of the
word.

Accents

Almost every Greek word will have an accent over one of the syllables. Originally, these
were pitch accents which either rose, fell, or went up and down.

’
acute rising
‘ .
grave falling
- circumflex rising then falling
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Today, most people just place stress on the syllable with the accent. There is debate
about the importance of learning the rules of accenting. Since these can get rather
complicated and we only have to read Greek, not write it, we will not worry about
learning the rules of accenting right now.

Instead, when we read a Greek word, we will stress the syllable which has the accent.

There is one additional accent that you will run across now and then. It is called a
diaeresis. (dee-AR-e-sis) It looks like this:

An example of the diaeresis can be found in the word “Isaiah.”
Hootlog
(Isaiah)

Whatever vowel the diaeresis stands above is pronounced as a separate syllable.
Normally the diphthong O(1 would function as a single syllable, like this:

"Ho - ot - oc

But since the iota has a diaeresis above it, the alpha and the iota each are pronounced
separately, like this:

9

Ho - o -1 - oc

You will not see many of these.
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5. Conjunctions

Lesson in a Nutshell

Conjunctions connect words and phrases and clauses. They do not change
form.

Conjunctions are used to connect words, phrases and clauses. They are very common.
Thankfully, they do not change form. Here is a list of common conjunctions. (The
number is how many times they occur in the New Testament.)

Conjunctions

but, yet, rather, nevertheless

for, so, then

but, and, rather, now, then

if, when

if, that, whether

until, while

or, either, nor, what, than

in order that, that, so that

as, just as, even as

and, even, also, but, yet

whenever, when

that, so that, because, for

and not, neither, nor

so, therefore, consequently

in this manner, thus, so

with, together with

and, and so, so

then, therefore

as, like, because, when, while
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There is nothing odd about Greek conjunctions. They behave very much like English
conjunctions.

Just in Case You Are Curious

Question: What is the difference between a phrase and a clause?
Answer: Clauses contain a subject doing the action of a verb. Phrases do not.

Examples of Phrases

- through the looking glass

- happily, and without reservation
- over the rainbow

- because of the large explosion

Notice that in every case there is no subject and the thoughts are incomplete.

Examples of Clauses

- bald is beautiful

- | was happy to finish my work

- might does not always make right
- although he was silent

- whenever she loses her patience
« when the saints go marching in

In each of these clauses, there is a subject doing the action of a verb.

Clauses may be divided into two types: independent and dependent.

Independent clauses can stand on their own as complete sentences if they want to. The

clauses in black print are independent clauses. Add punctuation and they make
complete sentences.

Bald is beautiful.
| was happy to finish my work.
Might does not always make right.

The clauses in red print are dependent clauses. They must be attached to a sentence to

make sense. For example:
Although he was silent, it was clear that he was angry.

The veins in her head get big whenever she loses her patience.
| want to be in that number when the saints go marching in.
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6. Prepositions

Lesson in a Nutshell

Prepositions place one thing relative to another thing. They do not change
form. The meaning of the preposition can vary, depending on the case of its
obiect. Greek prepositions are veryv flexible in meanina.

Prepositions are the little words that place things relative to other things. As | like to say,
they are everything you can do with a box.

You can be in_the box
You can walk around the box
You can slide through the box

You can sit under the box
You fly over the box
Etc. Etc.

Prepositions normally stand at the head of prepositional phrases (the underlined words
above).

The chart below summarizes the meanings of the most common Greek prepositions.
(The bold entries are the spatial ideas.)

Prepositions

a: around
P g: concerning, about

£

€V d:in, on, among
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Greek prepositions have had an enormous impact on English vocabulary. Paying
attention to this may help you to remember them. Here are some examples.

eV inside

61d 61’ diagnosis
TOPO.  TTOP parallel
glg eisegesis
mept vericardial

é]( gi extravert
d(V’Ci antigravity
fmép hyperbole
éTCi ‘éﬂ’ é(D epicenter
dn(/) apostasy

One Oddity of Greek Prepositions

The only trick of the Greek preposition is that the meaning of the preposition changes
depending on the case of its object. This is nothing like English, so it will take a little
effort to grasp. We will explain this when we study nouns. Do not worry about it until
we get there.
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Here is a chart to illustrate how the case of the preposition’s object changes its
meaning.

LLETOL TOVTOV with these
(genitive case)
LLETOL rovTo after these
(accusative case)
TOPO. avbpwrov alongside of a man
(accusative case)
TopO, avBpwmov from a man
(genitive case)
TOPO. avOpwre beside a man
(dative case)

dlo ToVTOV through these
(genitive case)
S0 ToVTo on account of these
(accusative case)

Greek prepositions are very fluid. At the risk of overwhelming you, on the next two
pages is a chart of the full range of meaning of most of the Greek prepositions. Do not
worry about memorizing it! Just be aware of the flexibility of the preposition.
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Preposition

ovol

217

St

g

ET1

use
d
with

A

Usage

Distributive
Spatial
Separation
Source
Cause
Partitive
Agency
Agency
Means
Spatial
Temporal
Cause
Spatial
Spatial
Temporal
Purpose
Result
Reference/Respect
Advantage
Disadvantage
In place of ev

Source
Separation
Temporal

Cause

Partitive

Means
Spatial/Sphere
Temporal
Association
Cause
Instrumental
Reference/Respect
Manner

Thing Possessed

Standard (Dative of Rule)

equivalent to e1¢
Spatial
Temporal

Cause

Spatial
Temporal

Cause

Spatial
Temporal

Translation

in the midst of
up, motion upward (with verbs)

away from

from, out of

because of

of

by, from (rare)

by, through

through

through

through(out), during

because of, on account of, for the sake of
through (rare)

into, toward, in

for, throughout

for, in order to, to

so that, with the result that

with respect to, with reference to
for

against

(with various nuances)

out of, from

away from, from

from, from [this point]...on
because of

of

by, from

in

in, within, when, while, during
with (often close personal relationship)
because of

by, with

with respect to / with reference to
with

with (in the sense of which possesses)
according to the standard of
(with verbs of motion)

on, upon, at, near

in the time of, during

on the basis of

on, upon, against, at, near
at, at the time of, during
on the basis of

on, upon, to, up to, against
for, over a period of
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KOTOL

HETOL

TP,

TEPL

PO

TPOG

ouvv

VTEP

VIO

Spatial

Opposition

Source

Standard

Spatial

Temporal
Distributive
Purpose
Reference/Respect

Association/Accompaniment
Spatial

Manner

Temporal

Spatial

Source

Agency

Spatial

Sphere

Association (= simple dative)
Spatial

Comparison

Opposition

Reference

Advantage / Representation
Spatial

Temporal
Reference/Respect

Spatial

Temporal

Rank/Priority

Purpose

Spatial

Temporal

Result

Opposition

Association
Accompaniment/Association

Representation/Advantage
Reference/Respect
Substitution

Spatial

Comparison

(Ultimate) Agency
Intermediate Agency
Means

Spatial

Subordination

down from, throughout

against

from

in accordance with, corresponding to
along, through (extension); toward, up to
(direction)

at, during

indicating the division of a greater whole into
individual parts

for the purpose of

with respect to, with reference to

with, in company with

with, among

with (attendant circumstance)

after, behind
after, behind (rare)

from

from, by

near, beside

in the sight of, before (someone)
with (someone/something)

by, alongside of, near, on

in comparison to, more than
against, contrary to

concerning

on behalf of, for (=umep)
around, near

about, near

with regard/reference to
before, in front of, at
before

before

for, for the purpose of

toward

toward, for (duration)

so that, with the result that

against

with, in company with

with, in association (company) with

on behalf of, for the sake of
concerning, with reference to (=nept)
in place of, instead of (=ovt1)

over, above

more than, beyond

by

through (with active verbs)

by (rare)

under, below
under (the rule of)
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7. Nouns

(case, number & gender)

Lesson in a Nutshell

English nouns usually change form to tell you their number (singular or
plural).
Greek nouns have:

a. case (nominative, genitive, dative, accusative). The case tells you the
function the word performs in the sentence. In English this is
accomplished by word order.

Nominative | Subject of the sentence
Genitive Possession of
Dative Indirect object in, with to, by
Accusative Direct object

b. number (singular and plural) and
c. aender (masculine or feminine or neuter).

Before you read on, let me beg you not to panic. What you learn in this section will
apply to all substantives. When you grasp these concepts you will be well on your way
to understanding Greek.

Also, don’t forget that we will be encountering these ideas in a much more interesting
way — in the Greek text itself. So if you read this and it confuses you, don’t worry. It will
become clearer as we go along.

Noun Syntax

As we have said, nouns are verbal tags we put on the various pieces of our world.

Wall
Woman
Man
Subway
Car
Dog
Cat
etc. etc.
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Nouns describe the stuff of the universe. There is a lot of stuff so there are a lot of
nouns. As Steve Martin once complained about the French language, “Those French
have a different word for everything!” Exactly. Every language has a different word for

every thing.

Greek nouns and other substantives have case, number, and gender. The easiest way
to get at these ideas is to begin with English. We will begin with number, since English
and Greek number are the same.

Number

Consider two variations of the same noun:
cat
cats

What is the difference between the two? In both cases we are describing a cute, furry
critter, right?

The difference is in the number. “Cat” is singular — it describes one cute, furry critter.
“Cats” is plural — it describes two or more.

English nouns change form to tell us whether we are talking about one (singular) or
more than one (plural).

Normally, in English, we add an “s” to the end of a word to make it plural.

cat (one)
cats (two or more)

Nice and simple, right?
Sometimes English does other things. Consider these two words.

man (singular)
men (plural)

Why not just say “mans” if we want the plural form of “man?” Because no language is
perfectly consistent. In this case, the number was changed by altering the vowel in the
middle of the word.

And there are even some words that use the same form in the singular and plural:

deer (singular)
deer (plural)

If you are tempted to gripe about Greek, remember that English is at least as crazy!
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Gender
Consider these three nouns:
Prince
Princess
Monarch
What is the difference? They all define someone lucky enough to be royalty, right?

The difference between these three lucky people is their gender. These nouns are by
nature either masculine (prince), or feminine (princess) or neuter/undefined (monarch).

The “gender” of a noun tells us whether it is masculine, feminine or neuter.
Greek gender is much like English gender, but there is one big difference:

In English, most nouns are not gender specific. You might think of English nouns as
following a “don’t ask, don't tell” policy. They simply don’t declare their gender.

Consider the following nouns:

Lamp

Bee

Tree

Sky
You would not refer to any of these nouns as “he” or “she.” You would refer to all of them
as “it.” It isn’t that they are neuter. It’s just that the noun doesn’t tell us the gender so we
declare it neuter by default.

A few English nouns have a trace of gender. For example, we might call the church or a
ship “she,” but most English nouns are genderless.

Here is an important difference between Greek and English

Every Greek noun, without exception, is
either masculine or feminine or neuter.

In some cases the gender is logical to us (called natural gender).

“man” (LVOPWTOG) is a male noun.
“‘woman” (Yvuvn) is a feminine noun.

But in most cases, we can discern no rhyme or reason to it.

“word” (Xéyog) is a masculine noun.
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“sin” (&uocpuoc) is a feminine noun.
“book” (BLBALOV) is a neuter noun.

You must get used to the idea that every Greek noun, without exception, will be either
masculine or feminine or neuter.
Case
The concepts of number and gender are fairly easy. You may find it harder to grasp the
idea of case. Don’t worry. We will have plenty of time to let this sink in. And when you
comprehend Greek case, it will do wonders for your English as well as your Greek
grammar.

Venture on!

Consider two different variations of the same word:

|
Me

Unless you have a serious mental disorder, you consider “I” and “me” to be the same
person. | am me, right? If “I” am not “me” | need to see a shrink, pronto!

So here’s the big question: Why do we need two words to describe I/me?

Here’s the big answer: Because the two forms tell us how the word functions in a
sentence. This is the case of the noun.

That is so important that | will say it again in red:

Because the two forms tell us how the word functions in the sentence.
This is the case of the noun.

And in orange:

Allow me to demonstrate. Which sentence sounds correct to you:

#1 | am going to the store.

#2 Me am going to the store.
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Even if you can’t explain why, you will identify sentence #1 as correct. It just sounds
better. But why?

“I”

Because we use “I” when we want to identify ourselves as the subject — the one doing
the action of the verb. “I” is called subjective case.

Now look at these two sentences:
#1 My wife punched I!
#2 My wife punched me!
Which of those two sentences sounds correct?

Hopefully you said the second: “My wife punched me!” sounds right to the English ear.
But why?

Because we use “me” when we want to identify ourselves as the object — the one
receiving the action of the verb. “Me” is called objective case.

We learn to make these shifts intuitively, just from listening to people talk, even if we
cannot explain the grammar. If you are an English speaker, the logic of the following
sentences is probably self-evident.
Me don’t do things. | do things.
| do things to me. | don’t do things to |.

You don’t give things to I. You give them to me.

Do you see how “I’ and “me” change form depending on whether they are giving or
receiving the action of the verb?

“I” and “me” are examples of case.

What is case? Three more times to make sure you never forget:
Case is the form a word takes to tell us how it functions in a sentence.

Now strap on your seat belts for a loop-the-loop. Here is why English students find
Greek baffling.
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English nouns don’t change form very much.

They rely instead on their
order in a sentence
to tell us what role they play.

Greek nouns change form like crazy.

They change form
to tell us what role

they play in the sentence.

As we get into the Greek text we will see examples and this will become clearer. But to
get us started, consider an example. Here are two very different events:

The dog is biting the man.
The man is biting the dog.

Notice that the words “man” and “dog” do not change form at all. How do we know who
is biting whom?

By the word order.

English puts the subject before the verb and the object after it. But Greek doesn'’t
depend on word order to tell us what role each word is playing in a sentence.

In Greek, these two sentences mean the same thing.

0 KVOV SOKVEL TOV 0LVOPWTOV.
The dog is biting  the man.

TOV aLVOPWTOV SAKVEL O KVWV.
The man <« is biting—the dog.

The translation of both of these sentences is

“The dog is biting the man.”

Mt. Koivn 37



It looks like the dog is doing the biting in the first sentence but in the second sentence it
looks to an English speaker as if the man is the one doing the biting. We assume this
because of the word order.

In the second sentence, “the man” comes before the verb so we assume he is doing the
biting.

But Greek tells the subject by changing the form of the word, not by putting it before the
verb.

| highlighted the ways the Greek nouns changed in red. Don’t worry that you can’t
recognize these changes yet. You will soon.

One More Time

English nouns don’t change form very much.

They rely instead on their
order in a sentence
to tell us what role they play.

But Greek nouns change form like crazy.

They change form
to tell us what role

they play in the sentence.

The good news is that the patterns of change are consistent and easy to spot. In many
ways, Greek is easier than English. Once you learn the patterns, it’s a piece of cake.
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Remember:

Case is the form a word takes to tell us how it functions in a sentence.

There are four! primary cases in Greek that correspond with the four main roles the
nouns play in the sentence: 2

Nominative (subject)
Genitive (possession)
Dative (indirect object)
Accusative (object)

o

Nominative Case (Subject)

If a noun is in the nominative case it serves as the subject of the sentence.

0) ocvep(mrog YOOLOEL.
The man is writing.

“The man” is in the nominative case since it is the subject of the sentence.

Accusative Case (Object)

If a noun is in the accusative case, it serves as the direct object of the verb.

0 OVOPWOTOC YPOLhEL TV ETLGTOANV.
The man is writing the letter.

1 The fifth case is the vocative case. It is used for direct address, as in the prayer, “Lord, grant us peace.” “Lord,” in this example,
would be in the vocative case. The vocative case is not very common and it is easy to spot from the context so we will not worry
about it right now.

2 As we become more skilled at Greek we will see that there are many more possibilities than are listed here, especially in the
genitive and dative case. This is just to get us started.
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Dative Case (Indirect Object)

If a noun is in the dative case it identifies it as the indirect object.

) O(VQp(x)TCOQ ’yp(Xd)E-Zl ™myv €7tl0‘507m\/ ™ SKKKHGLQC.
The man is writing the letter to the church.

| think of it as a ricochet. The subject (nominative case) initiates the action which is
directed at the direct object (accusative case). The action bounces off the direct object
and hits the indirect object (dative case).

0 0VOpWTOC

the man
nominative case
(subject)
YPOOLOEL
is writing
main verb

TNV ETLGTOANV
the letter
direct object
(accusative case)

N €KKANCLN
to the church

indirect object
(dative case)

Language is much more nuanced than the ricochet of a bullet. Here are some other
examples.
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Ol OTTOOTONOL

the apostles
nominative case

/

AEYOLOLV
are speaking
main verb

TV oAndsia
the truth
direct object

7\

T SLVVOYWY”N
in the synagogue
indirect object

uoOntorg
disciples \
nominative case
(subiect)
VIKOVO1V
conquer
/ main verb
TOV TTOVNPov
evil
direct object \
(accusative case)
T oyomn
with love

indirect object
(dative case)

To get us going, we will use the following prepositions with the dative.

“toi’ “in” “with’7 “by’7
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Genitive Case (Possession)
If a noun is in the genitive case it shows possession.
0 Aoyoc Ogov
the word of God
(= God’s Word)
We will use the keyword
“of”

with the genitive case.

The keyword “of” is just to get us off the runway. The genitive is capable of great feats. It

can do much more than show possession. We will explore this when we get into the
Greek text.

Don’t Forget The Big Picture
Case is the form a word takes to tell us how it functions in a sentence.

And

English nouns don’t change form very much.

They rely instead on their
order in a sentence
to tell us what role they play.

But Greek nouns change form like crazy.

They change form
to tell us what role

they play in the sentence.

Mt. Koivn 42



Here is a summary of the four primary Greek cases.

Nominative | Subject of the sentence

Genitive Possession of
Dative Indirect object in, with to, by
Accusative Direct object

Remember: every noun will have:
Case (which tells us how it functions in the sentence)
Number (which tells us if it is singular or plural)
Gender (which tells us if it is masculine, feminine or neuter.)

The possible variations of case, number and gender are as follows:

Case Number Gender

Nominative
. _ Masculine
Genitive Slngular
) Feminine
Dative Plural
: Neuter
Accusative

The main differences between Greek and English are summarized in the chart below.

Comparison of Greek and English

only a few nouns
depends on much like Greek declare their
word order
gender
depends on all nouns declare
morphology much like English their gender
(changed forms) °

That’s it for noun syntax. On to noun morphology!
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8. First Declension

Lesson in a Nutshell

First declension nouns are usually feminine and end in an o or n

Every Greek noun will give us three pieces of information about itself:

1. Its case tells us the role it plays in the sentence.
2. Its number tells us whether it is singular or plural.
3. Its gender tells us whether it is masculine, feminine, or neuter.

Case Number Gender

Nominative

Masculine
Genitive Singular o

Feminine
Dative Plural

Neuter
Accusative

But how will a given noun give us this information?

by inflection

“Inflection” is just a fancy word for “change.” The words will change form (“morph”) to
give us the information. English words inflect a little bit. But Greek words inflect like
crazy!

These inflections give us grammatical information about the word. It is nearly impossible
to understand Greek without understanding grammar. But this is a good thing! Because
once you know Greek, you will be a grammar whiz.

Greek nouns follow three patterns of inflection (change). These three patterns are called
“declensions.”

When you hear the word “declension”
think

“the pattern of change a noun follows
to show me its case, number and gender.”
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On the second page of the Master Chart, locate the Noun Endings Chart.

Noun Endings

Masculine Feminine Neuter Masc/ Fem

(2nd declension) (1st declension) (2nd declension) (3rd declension) | (3rd de?:llgﬁ;ion)

Nominative| o¢ o] oom i, |ov Tffc G| - &
Genitive [ 0v Joif 06N M| 00 Flim | |06 WaF| 08 S
in,?vg{i%,eby G.) toke(l) \ng]rd q Ofn to a%ggigning 0;) tgpvyc:?k 1 %O:ngs(; tg(:i);r:t
Accysative| ov Moot fovenv i, [ov i f o cile] -
Nominativel o1 e | o1 e | 0 e | |EC S | O Sene
S| Senitive |y Mool v Lo | ov Saey] v S| av S
=| Dative o skl g oo, | owg o] fore Satkn[ow uo
Accusative|ovg "] ac e, | o 3% | oo ] o G

Notice that there are three declensions.

Noun Endings

) dMascuIine 151Feminine , dNeuler» (g\rﬂdasc/ Fem - Neuter . .
n n
.« ‘ ‘ First declension nouns

Nominative Loyog apyn Epyov oopg oug

subject 0C  “wod” | QoM peginning | OV “work G fesh —  light (In blu e)
iti A0 EP'Y
5| Sonitive | 00 ol GGG oratmmming| OV ceent| |05 Whesr| 0 S
S
2 i royQ o EPYQ COopKL Wt
& in.la/%?.%,eby O a;/«o'm Qo) mabgg);ci;"ning o to%fk 1 mnpesn 1 12 Ii;ht ” f . .
i Aoyov opynv. Epyov copKe ow are USUB. emlnlne
- R e e | e y
i i Ao € ol o
Nominative| or e | 01 wegmme | O vore | [€S Temer | @ Sone d their st
Genitive Aoyaov apyOv epyav CapKaOV d0TOV an elr stem
TE mv of words mv of beginnings mv of works| mv of fleshes mv of Iigms
£ i Aoyou opyou 'you COpELY WoLv
B in,[\z/gg,l}g,eby OIQ tov:,ordgs alg to bggglcnniﬁgs OlG t?v!orkgs Clv toﬁgsghes Olv t?:ligh(s
i Aoyour o epya copK WTe i
Accysative[guc foex| oc o | o 212 | o | @ fou usually ends in an o or an 1.

Noun Endings

S d d I . e E‘nasculine (mFemining e dNamer_ (g\rﬂdasc/ Fem (MNsmsr_
N N )

econ eclension noun S_ Nominative Aoyog apyn epyov copE owg

subject O0C  ‘wod' | OoM  begining | OV “work [ | & fesn | — ignf

(I n blue) Genitive me

A0y0V op’
possession OV oraword| XCor NS ofabeginning | OV ofwork| |OS offiesh’ | O  oflight

£pyon CapKog 6wTog

:-\:s
, 5| atve, | @ oo oon oot @ S| [0 W] S
are usually masculine or neuter Accusative| oy 0 [oy v o [ov | [a come |~ e
: Nomnatvel o Mom| on oo [0 @] [ec | w G0
and their stem N O I e | e e
= Datve o Mrs] aig oo, |owg s jov S35 | ovy Sao
usually ends in an o. Accusative[oug W] oc o, [ o W | [oc WE| @ S
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Noun Endings

(zn'r\jnasculin_e (‘sremining (szeu«er_ (Masc/ Fem (amNeuter_
Nominative| og “maer | 0taml  oime | OV | |6 o | = fem

5| Senitve [ov Jomfac.ng | ov | Jog W] o S

2 "

;/E’; in,letig.%,eby u_) wx;);{/?rd QmT_l ma(ﬁg;(igmng (1_) ‘spv:/;)k :Zﬁlpe:r: 1 tqu)Ll?;r:t
Accysative | oy ase jov.mv g, [ov | o i ] —
Nompnatvel o g | o1 e [ o | fec mar] o G

o] entve [ov Jum| ov i |ov | fov S| ov S

e[ Datve fowc drs| arg L, | owg P Jor Seik| o faon
Accusative| gug I| 06 e | & s | |06 Gemer | O Sane

This will become clearer as we go, so if you are a bit confused at this point do not worry!

Third declension nouns

may be masculine, feminine, or neuter

ends in a consonant.

Let’s start by looking at a first declension noun: dpxﬁ

1st Declension Endings

Look carefully at the table above. Notice how the endings change to tell us their case,
number and gender.

Feminine
(1st declension)
Nominative o apyn
subject or TI beginning
.| Genitive apxng
g possession GG or T\G of a beginning
2| Dative a opxn
D1 in, with, to, by v or T] to a beginning
Accusative apynv
object Iav or TIV beginning
Nominative apya
subject ol beginnings
=| Genitive apYOV
€| possession OV of beginnings
E Dative apyog
in, with, to, by alg to beginnings
Accusative o apxag
object G beginnings

There are eight forms of every noun. This makes sense.

In the chart above, notice that in English translations there are only two forms of the
word: “beginning” and “beginnings.” This is because English does not inflect (change
form) to tell us its case. It only changes to tell us if it singular or plural. English
compensates for this by using word order and little helping words. English is not nearly

four cases X two numbers = 8 forms

as elegant as Greek!
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Here are three more examples of first declension nouns: d)\poc, ypoc(j)ﬁ and 86&&.
Notice how the endings are “tacked on” to the nouns. Also, notice how consistent the

endings are.

You might notice that in the case of 50&a. there is a shift between o, and 1. This is
called an alpha-eta shift. Don’t let it bother you. Just realize that in the first declension
singular, the endings may be made with alphas or etas.

1st Declension Endings

Feminine
(1st declension)

1st Declension Endings

Feminine
(1st declension)

1st Declension Endings

Feminine
(1st declension)

subject

Nominative

a.n wpo.

hour

Nominative

subject

Qo
a n 'Y‘EJOOKT‘l

|Nominative

subject

'a‘n

SoEn
glory

Genitive

possession

WPOLC
ag n‘; of aﬁ hgur

Genitive

possession

ag.ng o

Genitive

possession

ac.Me

30EnG
of a glory

Dative
in, with, to, by

PO,
q N t0anhour

Dative
in, with, to, by

YOOUDTI
to a book

@

Dative
in, with, to, by

.1

Soﬁ
toa glory

Accusative

object

wpaLy

Iav TIV hour

Accusative

object

ov.nv YPO“”“V

Accusative

object

jov.nv

SoEav
glory

Nominative

subject

o wpot

hours

Nominative

subject

adot
ot wl))ooks

|Nominative| ol

subject

dokou
glories

Genitive

possession

oV 0POV

of hours

Genitive

possession

oALODV
v Yoe b(?i)ks

Genitive | )y

possession

SOEDV
of glories

Dative
in, with, to, by

OPOILC
to hours

Dative
in, with, to, by

YPOLOOiLG

alg to books

Dative
in, with, to, by

S0E0LC
to glories

Accusative

object

Here is an example of how the endings are used in a Greek sentence.

0c WPOLG

hours

Accusative

object

YpaLdog
ag books

Accusative

object

d0EoiC

glories

n Con Tng oaAnBetoc S18mwoty o0&y ™ Yoy

The life

of truth

gives

glory

to the

soul

o n nominative subject
aANOELOC oc genitive possession
S0EoV oV accusative object
TANY M dative indirect object
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Here is another example in which the words are more mixed up (to us).

{omv TN Kopdlo S16WOLY T oYOmn TOV YPOhOYV.

life tothe heart gives the love * of books.
Lonv nv accusative object
KPS0 o dative indirect object
OUYOLTT n nominative subject
YPOLOWV OV genitive possession

| put this one out of normal English word order on purpose. Can you figure out how it
would be translated?

The word “love” is in the nominative case, so it is the subject of the sentence.
The word “books” is in the genitive case so it indicates possession.

The word “life” is in the accusative case so it is the object of the verb.

The word “’heart” is in the dative case so it is the indirect object.

To translate this sentence into English we have to do two things:

1. We have to rearrange the words since English relies on word order to tell us what role
each word plays in the sentence (case).

2. We have to add helping words (“of,” “t0”).
So here itis:
The love of books gives life to the heart.

If you understand why this sentence is translated this way, you are well on your way to
understanding how case works!

Use the “Take a Hike” Workbook to practice understanding Greek case.

Have fun!!
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9. Second Declension

Lesson in a Nutshell

Second declension nouns are usually masculine or neuter and end in o.

We saw that first declension nouns are generally end in o0 or 1, were usually feminine
and followed a single pattern.

The stem of second declension nouns generally end in an 0, may be masculine or
neuter, and follow two patterns, which differ slightly from each other.

Noun Endings

T e I e
Nominative| gc Aovc| g ,n 00 [ov BVl lc S8 [ - fo
5| SSntYe | 0 gt 0G-TIG asiiiins| 00 Siom| |06 Whest| 06 Ui
=] -
5| oDative | @ S Qo oartlie| @ ||t el v 2
Accysative] ov Wi |ov.nv g [ov S| |o ] -
Nominative| o7 0% | on % | a0 20| |eg ool o oo
S| Genitve [ gy Jover| ov o |ov R jov S| ov G
a| Dative |gic hooil ge | ooxme | i S10e] oy, 905 | ory QU0
Acousative[gue oiat| oc ot | @ (iR | [oc e o fo

Two Essential Things You Must Know About Every Noun

1. Its Gender

Every Greek noun will be either masculine or feminine or neuter.
2. Its Declension

Every Greek noun will be either first or second or third declension.
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You do not know a Greek noun until you know its gender and declension, but once you
know its gender and declension you know exactly what to expect in all of its eight forms.

Second Declension Second Declension
Masculine Noun Masculine Noun

Here are examples of two Mascuiine Mascuiine
second declension | el ) | ey
: o Nominative 00 Nominative| KOGWLO
masculine nouns: awbeet | O godg subject | OG woﬁdg
| Genitive | ;)  6eod .| Genitive [,  xocuov
8e0¢ and KOGUOG g | Possession of a god 8] possession of a world
' 5| pative [, 0o 5| pative [,  xooue
in, with, to, by | *  to a god in, with, to, by | "V to a world
Notice how the endings are Accusative| ,,,  0eov Accusative| o,  KOOHOV
« » object god object world
tacked on” to the words to
show you the case, number, [Nominative| ,,  ©eol [Nominative| o,  «douor
subject gods subject worlds
and gender. — = — .
_| Genitive [,  Geov _| Genitive [, xoonwv
g possession of gods g possession of worlds
a| pative Beoig &| Dative KOGHOL
in, with, to, by |06 1o gods in, with, to, by o5 to wgrldg
Accusative Beovg Accusative KOGLLOV
object 0ovg gods object 0vg woLrllds ¢

Second Declension Second Declension
Neuter Noun Neuter Noun

(an';leedu;a;‘rsion) (2nd§eeclijé?1;ion)
Here are examples of two Nominati r— [Nominati —

. Nominative| LEPOV Nominative| ov EVOLYYEALOV
second declension, neuter subiect | OV temple subject gospel
nouns: 5| Genitive [,  iepod 5| Genitive |, evayyehiov

S| possession of a temple < | possession of a gospel

> ’ < g _Dative | 1€pQ ,,i!,’ _Dative | EVOLYYEAL®
SUOC'YYSXIOV and LEPOV. in, with,to, by | *V"  to a temple in, with, to, by | to a gospel
Accusative| ,,,  LEpoV Accusative| snawekltov

. . object temple obje gospe
Notice again how the | | - Nominativel —

: “ inati ominative EVOLYYEALQL
endings are “tacked on” to Nominative| ¢ omles Taivel o crenel
the words to show you the _| Genitive [, epdv _| Genitive |\ etayyiriov
case, number, and gender S | possession of temples £ | possessin of gospels

’ ’ ' &| Dpative 1EpOig =| Dative EVOYYEMOLG
in, with, to, by | OVS  15'gods in, with, to, by |O¥S 1 gospels

Accusative| o, 1€pa. Accusative| ., eloyyeha
object temples object gospels

Mt. Koivn 50



The patterns Greek nouns follow to show
you case, number, and gender are
marvelously consistent.

Savor the wonder!

Now observe how some second declension endings function in a Greek sentence.

QYYEAOC BEOD KNPUVOGEL EVAYYEALOV OLVOPMTOLC

(an)! angel of God announces good news to men.2
word ending case function in sentence

&yyekog 0¢ nominative subject

Beov oL genitive possession

EVOYYEMOV oV accusative object

0LVOPWTOLC 01¢ dative indirect object

The word order of the preceding sentence matched English word order exactly. Before
you look at the answer, see if you can figure out how to translate the next sentence,
which seems scrambled up.

' We will learn later, that there is no indefinite article (“a,” “an”) in Greek so we must supply it where it
makes sense to do so.

2 Greek uses the masculine gender to refer generally to all people.
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VOLLOLC 0VAOVOLY TOV KOGUOV AOYOl OVOpWTMV

to laws (they) enslave the world words of men
word ending case function in sentence
VépOLg 01¢ dative indirect object
Kécuov oV accusative object
LOYOL ol nominative subject
dv@pcﬁnwv v genitive possession

The word “words” is in the nominative case, so it is the subject of the sentence.
The word “men” is in the genitive case so it indicates possession.

The word “world” is in the accusative case so it is the object of the verb.

The word “laws” is in the dative case so it is the indirect object.

To translate this sentence into English we have to do two things:

1. We have to rearrange the words since English relies on word order to tell us what role
each word plays in the sentence (case).

2. We have to add helping words (“of,” “t0”).

So here itis:

Words of men enslave the world to laws.

Isn’t Greek amazing?
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Lexical Form of Nouns

How will you know if a noun is masculine, feminine or neuter? How will you know what
declension it follows? You must learn all this when you learn the word.

A “lexicon” is a Greek dictionary. I'm not sure why we have to use fancy words. But most
people call Greek dictionaries “lexicons.”

“Lexical form” just refers to the way you will find it in the dictionary. Obviously, a Greek
lexicon can't list every form of every word. It would be far too bulky. Instead, Greek
lexicons list the word in its nominative singular form and tell you which pattern of
inflection it follows.

Here is how this works:
If 1 were to look up the word AOYOG (word) in the lexicon | would find it listed like this:

Adyog, ov, O

What are the OV and the O for?

0 is the masculine form of the article. It tells me that ?»(')yog is a masculine noun.

M (2) F (1) N (2)
Nominative “the” 0 n 70
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The “0V” is the genitive ending of 7»(,)'y0g. It shows me which column to follow as
AOYOG goes through its eight changes.

The lexicon doesn't list all eight endings. That would be a long list!

AOYOC, 0V, W, OV, Ol, WV, OlC, 0VG, O

aSE 0 0

Masculine Feminine euter Masc/ Fem euter
(2nd declension) (1st declension) (2nd declension) (3rd declension) | (3rd declension)

Nominativ X0Y0 ooy

N gpYyoV €l 0

e Og wc}lrdg Ol or n begFi)n)r(ﬂng ov E/)vzrk Q ﬁang (E)igh%
Genitive Aoyov apyn EPYOV €1p0 10
possession oV v%ra:;i ag or ng ofa t?e)éin%ing oV o?\yvork OQ 3% a Frzancl’ﬂ OG qﬂn |ightg
Dative AOYQ) opyn EPY® €1pL 0Tl
in, with, to, by 0? vtv%r% q Orn toa bgg)](iﬁning 01) '[Op\AYOI:k 1 toXa hgnd 1 ’((g light

Accusative LOYOV apymv gpyov €10, ®
object ov wg/rd oV begi%(r?ing ov eerk o Xhar[?d (Pigh%
Nominativ Aoyol opyo epya €PE wTo.
e 01' wo}'/ds al begﬁ)n)r(1ings a w%:/ks eg Xharﬁ)dsg a q?ights
Genitive LOY®OV apYwV EPYOV EPWV o0t
possession (DV of wyords (!.)V of bepg)i(nnings (DV ofpv}/lorks ('o )éf hgnds (DV of Ii:;hts
Dative X apyoL gpyot £POLV 0oLV
in, with, to, by OlQ to v?llordg alg to bepgi(nnir%gs OIQ top\:v/orkg Cvl %E)Eands Olv (tlzalights
Accusative Aoyov apyoL epyo. €1p0L T,
object O’DQ S ag beg?r?%inggs o w%:/ks ag Xhaﬁdsg o q?ights

The lexicon assumes that if you know the genitive form, you will be able to supply the
remaining endings. So “A6yog, ov, 0” gives you the information (in yellow above) and
assumes you are smart enough to supply the rest of the column. You are, of course!
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Now, let’s look up dpxﬁ in the lexicon. We find:
apxn, 1ne, 1

ﬁ is the feminine form of the article. It tells me that dpxﬁ is a feminine noun.

M (2) F (1) N (2)
Nominative “the” 0 1 70

ﬁg is the genitive ending of dpxﬁ. This shows me that | should follow the first
declension.

Case Endings

Masculine Feminine Masc/ Fem

euter _ euter
(2nd declension) (1st declension) (2nd declension) (3rd declension) | (3rd declension)

Nominative A0YO o £pyov el o)
subject OQ wglrdg O or n beg[ian)r(l]ilg ov eerk Q >h(ang - Iigh%

Genitive AOYOU o £pYoL £1p0 010
possession OU ofaYNord agmng ofat?e)ggm%ing OD o?yvork OQ g%aﬁangd Og qz)flightg

Dative 0} AOY® ol n apym 0} EPYW XEPL 1 OwTL

in, with, to, by N to a word ] s to a beginning J to work to a hand to light

Accusative oV LOYOV oV .MV apyMV oy PYov YELPO. oo

object word beginning work hand - light

Nominative AoyOL oo epyo £1pe 0.
subject ol onds ot beg[i)n)glings o W%YKS Xhar?dsg o q?ights

Genitive LOY®OV OV oPYWV ®V EPYWV YEPWV ®V OWTOV

possession of words of beginnings of works of hands of lights

Dative XS OPYOLLC €PYOLC YEPOLY OOV
in, with, to, by to words to beginnings to works to hands Olv to lights

Accusative hoyov opYOG QYO YEPOG dwTOL
object (Xg beginnings o works hands (1 lights

Once again, the lexicon does not give me all eight endings.

opxYn, NG, M, NV, oL, WV, oG, 0, M
The lexicon gives me the gender and the genitive form (in yellow above). | use my chart

to figure out the rest. Soon | won’t need a chart because | will remember this simple and
consistent pattern.
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Now, let’s look up ’épyov in the lexicon. We find:

£pyov, ov, TO

10 is the neuter form of the article. It tells me this is a neuter noun.

M (2) F(1) N (2)
Nominative “the” 0 n 70

0V tells me that | should follow the second declension.

ASE 0 0
Mascuiine Feminine Neuter . Masc/ F_em Neuter'
(2nd declension) (1st declension) (2nd declension) (3rd declension) | (3rd declension)
Nominative A0Y0 apy epyov YEP 0O0OC
subject OQ w:)/rdg O or n beg?n%ilg ov F\?vwc:rk Q hand - light

Genitive AOYOL opyM €PYOV €1P0 w10
possession OU ofaYNord agmng ofatge)g(in%ing olu o[f)\}lvork OG g%aﬁangd Og q:)flightg

Dative XA opy €Y e1p1 dwTL
in, with, to, by 0;) toa XO'rd q Ofn toa bgg);(irgning u? topvyofk l toXa hgnd t to light
Accusative royoV opyMv epyov €100, o)
object OV wgrd av or nv begi%(ning OV ev:grk a Xhar?d - ql)igh%
Nominative XS apyoiL epyo. e1pe 10,
subject 01 onds al begﬁi)n)r(ﬂngs a w%?lks 8G Xhar?dsg a q?ights

Genitive OV AOYOV OV oPYWV ®V EPYWV W xepwv ®V dWTOV

possession of words of beginnings of works of hands of lights

Dative 01g AOYO1G alg OPYOLG Olg €PYOLC Ol xepow Clv dwov

in, with, to, by to words to beginnings to works Y to hands to lights
Accusative Aoyov opxo QYO YELPOG owToL
object OUg S (Xg beg?r?%inggs o w%rks o hands o lights

By listing the article and the genitive form, the lexicon makes it possible to know every
noun in every form.
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10. Third Declension

Lesson in a Nutshell

Third declension nouns may be masculine, feminine, or neuter and have a
stem that ends in a consonant.

First declension nouns are generally end in o or 1, are usually feminine, and follow only
one pattern.

Second declension nouns generally end in an 0, may be masculine or neuter, and follow
two patterns which differ slightly from each other.

Third declension nouns end in a consonant and may be masculine, feminine, or neuter.
They are in yellow below.

Noun Endings
Masculine Feminine Neuter Masc/ Fem Neuter

(2nd declension) (1st declension) (2nd declension) (3rd declension) | (3rd declension)

Nominative Aoyog apxn epyov copg dog
subject OG word O or n beginning ov work G flesh - light

Genitive oV Aoyov 0CoNG o apxNg ov EPYov o COpPKOG oc dwTog

possession of a word a beginning of work of flesh of light

Dative AoyQ opxn EPYQ copK1 owTL
in, with, to, by 0;) to a word (,1 or n to a beginning (9 to work 1 to flesh 1 to light

Accusative Aoyov apxnv gpyov copKoL dwg
object ov word oLV or 'ﬂV beginning ov work o flesh light

Nominative Aoyot apyoL Epyo COPKEG oot
subject o1 words ol beginnings o works EQ fleshes o lights

Genitive AOY@V apYwv EpyQV COpKOV o0TOV
possession WV of words of beginnings Vv of works |0V of fleshes (02 of lights

Dative o1C Loyoig opyoG 01¢ gpYyolg lovy copEv Glv dwov

in, with, to, by to words to beginnings to works to fleshes to lights

Accusative Aoyoug 0PYOG Epya cOpKag dwTo
object OUG words beginnings o works ag fleshes o lights

Let’s look first at the noun capé. Zapé is a third declension, feminine noun. The stem of
cdcp& is copxk. Itis pretty easy to see how the endings are attached to copx except in
the nominative singular.

We would expect OOPKC

Mt. Koivn 57



But instead we get GOCP&_,

Here is what happened: The kG was changed to a &. If you think about it, this makes
perfect sense. The sound a & makes is “kc.”

cOpKC > oopé

Time Out

This the perfect opportunity to introduce you to the Square of Stops.

The Square of Stops is a table that tells you what happens when certain consonants
collide. You can find it on page 6 of the Master Chart

Collision of Consonants
The Square of Stops

The Square of Stops is a nifty way to show how consonants collide to create new
letters. For the most part, it is intuitive.

Square of Stops

when aspirates are reduplicated they become unvoiced

If two letters collide in such a way that they sound like a third letter, Greek simply
replaces the two colliding letters with the letter whose sound they make.
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There are two primary letters which create this collision: sigma and theta.

Addition of Sigma

Labials are made with the lips as in t, B, and 0.

Try pronouncing any labial plus sigma:

o, Bo o

Can you see why the result is a

|V

Velars are made in the back of the throat as in x, vy, and ¥.

Try pronouncing any velar plus sigma:

KO, YO (O

Can you see why the result is a

¢,

Dentals are made when the tongue touches the front teeth as in 1, 6, and 6.

Try pronouncing any dental plus sigma:

T0, 00 00

Can you see why the result is a

O-

The dental is dropped because it is so awkward to pronounce it before the sigma.
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Addition of Theta

Square of Stops

when aspirates are reduplicated they become unvoiced

Unvoiced consonants do not engage the vocal chords. Try pronouncing ©, K, and T
and notice that the vocal chords are not used.

Voiced consonants engage the vocal chords. Try pronouncing B, y. and 8 and notice
that the vocal chords are used.

Aspirate consonants involve the flow of air. Try pronouncing ¢, %, and 6 and notice the
flow of air.

Interesting, eh?

Here is the general rule: When you add 6 to a voiced or unvoiced aspirate, it becomes
the related aspirate. For example:

When a 0 is added to the labials T and B, it becomes ¢0. In other words

no > O
BO > ¢06

When a 0 is added to the velars ¥ and v, it becomes 6. In other words

k0 > 0
v0 > %O
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When a 0 is added to the dentals T and 9, it becomes 60. In other words

0 > o0
00 > o6

If this is overwhelming right now, don’t worry.
We will have the opportunity to see this again
and again. You will get the hang of it.

Back to Third Declension

Noun Endings The neuter noun, 6w¢, is built on the stem dpwr.

Masc/ Fem Neuter. . . . .
(8rd declension) } (Srd declension) § |t js obvious how the endings are being attached
N°';f,'b'j‘ec}“’° (L R except in the nominative singular and dative
Genitive P— suwoc | Plural. Remember the Square of Stops?
&| possession OG of flesh OQ of light
3 H . . .
g| ,Dative | 9] 1 gim | When sigmais added to a dental, the dental is
Accusative copKa oG dropped (see p. 61 above).
object O fesh —  light
Nominative gc ooexec| o doto TG > G
subject G fleshes lights
Genitive J— o0ty So dwT¢ becomes WC (nominative singular)
© possession v of fleshes wv of lights and
=
o Dativ copELy odwoLy _
Bl ey | O worieshes| OV 1oiights dwTolv becomes ¢V (dative plural)
Accysative] o | o

Square of Stops

when aspirates are reduplicated they become unvoiced

Mt. Koivn 61



Also, please notice that the nominative singular forms are often odd but the

genitive forms are always regular.

If you want to find out in what consonant a third declension noun ends, look at the
genitive singular form. Remove the noun ending (0¢) and you will see the final
consonant.

Some Greek students are terrified of third declension
nouns. This is a problem because there are lots of them!
There is no need to fear. Although they are not as
consistent as first and second declension nouns, the
patterns are fairly easy to see in context.

Here are examples of masculine, feminine, and neuter third declension nouns which
play by the rules: avnp, yvvn, and ovouo.

Third Declension Nouns

Masc . eminine Neuter,
(3rd declension) (3rd declension) (3rd declension)
Nominative ovnp yovn OVOLLOL
subject S man woman - name
Genitive 0 avdpog Yuvoukog o OVOWLOLTOC
8 possession S of man of woman S of a name
= n B 7 7 7
= Dative 1 ovopt YUVOLKL 1 OVOLLOLTL
%) in, with, to, by to man to woman to a name
Accusative o avdpa YUVOLKO ovopoL
object man woman - name
Nominative €C oLvOpEG YUVOIKEG o OVOLOLTO
subject men women names
Genitive @V ovop @V YUVOLK®OV @V OVOLOTOV
= possession of men of women of names
= . ’ ’ > ’
z|  Dative ovdpoovy yuvoigiv OVOLLOCLY
in, with, to, by | O " tomen to women Olv to names
Accusative oc ovopag YUVOLKOG o OVOLOLTOL
object men women names
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Here are examples of some third declension nouns that do not perfectly follow the chart.
However, notice the similarities.

TOTNP, TOTPOC,

XOPLS, O M 5 1EPEVC, €EWC, O | YEVOC, OVG, TO

Nominative | yop1c ToTNP 1epEVC YEVOC

% %gg'eist;g,? XOPLTOC TOTPOC 1EpPEWC YEVOUC

2

? JDative | yapitt ToTpl lepet Yyeve
Accusative | yapiv TOTEPQL 1epEQ; YEVOG
No'gjgjgtive YOPLTEC TOLTEPEC 1EpELC YEVI

g Gpggeist;gf YOPLTOV TOTEPWV LEPEMV YEVOV

o

Jpative | yapiot[v] ToTpoot|v] 1epevct[v] yeveot[v]

Accgg,jsegﬁ"e YOPLTOLC TOLTEPOLC lepeLC YEVI

The best way to master third declension nouns is to read lots of Greek. And that is fun!
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Let’s practice our third declension with a sentence.

TIGTIC CWIEL OLVIPOC KOl YUVOLLKOG T1) SVVOLLEL

faith saves men and women by the power

NS YOPLTOC.

of grace

word ending case function in sentence
nicng o nominative subject
v \ ~ accusative .
OLVOPOLC KOl YUVOLLKOLC (/e (plural) object
Xdptrog 0¢ genitive possession
SUvopel 1 dative indirect object

Noun Endings

Masc/ Fem Neuter
| (@ddecenson) | Grddecenson) § |y this example, the Greek word order is similar to
Nominative| ¢ % | -~ s | English so the translation is easy:
g Sonitive | o Wa| op Y
] _ Dative p soet | oL gem
@ | in, with, to, by to flesh to light
Accusative| o oforef 99 1 Faith saves men and women by the power of grace.

Nomin ttlve €C capkeg | o dwTo

subjec fleshes lights

Genitive CUPKOY b0tV
possession wv of fleshes WV of lights

Plural

Dative capELy dwolv
in, with, t0, by | OV tofleshes| OV  tolights

Accusative copKOg dwTo
object ag fleshes o lights

1 Notice that we do not translate the article. Abstract nouns in Greek often have the article in Greek. We
do not use in in English.
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Conclusion
So there you have it: The syntax and morphology of Greek nouns.

You may be blown away by this week. Do not be discouraged! As we continue on
together we will see this over and over. You will learn to recognize these patterns and it
will start to make sense.

If you have never studied a highly inflected language (where words change forms a lot)
these ideas are completely new to you. Do not worry if you find it difficult. That is
normal!

We are developing uncharted areas of your mind. This is a good thing! Your brain is
getting bigger. Pretty soon you will look like those really smart aliens on Star Trek.
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11. The Article

Lesson in a Nutshell

The article (and all modifiers) match the nouns they modify in case, number
and gender. They must be able to be masculine and feminine and neuter
nouns. The article changes form (“declines”) according to a 2-1-2 pattern.

English Articles: “A” and “The”

In English there are two kinds of articles, the definite article (“the”) and the indefinite
article (“a”).

The definite article “definitizes.” It points to something specifically. Not just any old
tree,“the” tree. Not just any old monkey, “the” monkey.

The indefinite article leaves options open. “A” tree, meaning any old tree. “A” monkey,
meaning any old monkey.

If I ask you to bring me a cup of coffee you grab any cup and bring it to me, filled with
coffee.

But if | ask you to bring me the cup of coffee, | have a specific cup of coffee in mind. The
definite article takes the general concept and “definitizes” it.

If you are an English speaker you will find this all very natural.

The Greek Article: Three Twists
As we go along, we will find that the Greek article is very helpful in our translation. But
there are three twists to the Greek article we must get used to.
Twist #1: No Indefinite Article
There is no indefinite article in Greek. In other words, there is no form of the article
specifically to designate that you mean “a” monkey. Or, if you prefer, there is no way to

be specifically non-specific.

So how does Greek communicate an indefinite idea? Usually by not using the article at
all.
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0 OVOpPWTOC = “the” man.

ovOpWTOC = “a” man

This is not a hard and fast rule. We will discover many exceptions as we go along.

For example, John 1:1 reads as follows:

_ 0ed¢ v 6 Adyoc

God was the Word

There is no article before 0€0¢ (“God”). Does this mean that “God” is indefinite here, in
other words, that the Word was a god? If so, then Jesus may be god-like but John is not
claiming that he is fully God. This would be contrary to other things that John says about
Jesus in his gospel.

What is going on here?
This is an example of the nuanced way that Greek makes use of the article.

One cannot automatically assume that if there is no article that the noun is
indefinite (“a”).

One cannot automatically assume that if there is an article that we supply the
definite article in our translation (“the”).

John has crafted a remarkably nuanced statement about the nature of Jesus in four
words. We will study this more in our next class, Studies in John.

Twist #2: Greater Nuance

Greek use of the article is much more nuanced than in English. There are similarities
with the use of the English article. But there are also many ways in which the Greek
article is used differently than the English article. The only way to get the hang of it will
be to read a lot of Greek.
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Twist #3: 24 Forms

H

There are 24 forms of the Greek article.! In other words, there are 24 ways to say “the.’

Huh?? Why??

Because in English we use the word “the” whether we are talking about...

the man
the men

the woman
the women

the work
the works

The English article does not change form to match the case, number and gender of the
noun it modifies. But in Greek, the article looks like this:

0 OVOPOTOC  the man
Ol oovBpwmOol  the men

f] Yovn the woman
oL yuvol the women
T0 €PYOV the work
TOL EPYU the works

See how the Greek article changes form? The boring old English article remains static.
The fascinating Greek article changes form to match the noun it modifies in case,
number and gender.

' There are actually fewer forms since some of them repeat, but | find it helpful to think of it this way.
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I’ll say it again: The article is changing forms to match the noun it modifies in:
case (nominative, genitive, dative, accusative)
number (singular, plural)
gender (masculine, feminine, neuter)

Let’s take a look at how the nouns “morph” to do this.

Article Morphology

We saw that every noun has case, number and gender. The same will be true with the

article.

But there were only eight forms of each noun. There are 24 forms of the article. Why?

Because the nouns were either masculine or feminine or neuter.

But the article has to be able to modify all kinds of nouns. This is why it must be able to

be masculine and feminine and neuter.

So rather than eight forms there are 3 x 8 forms = 24.

2 (numbers) X 3 (genders) X 4 (cases) = 24 (forms)

That’s...
2 (numbers) X 3 (genders) X 4 (cases)
Two Numbers Three Genders [Four Cases
The Article The Article e
M F N M F N M F N
Nominative “the” ) 1 0 Nominative “the” 0 n 0 Nominative ‘the” 0 n 70
g; Genitive  “of the” | 710D e 700 5| Genitive  “ofthe” | 1o g 700 £l Genitive  “of the” | 1o e 700
& | Dative “tothe” | @ L 0 ug; Dative “tothe” | 10 Ll o) & | Dative “tothe” | 1@ Ll )
Accusative the oV T 0 Accusative the wov | Ty 10 Accusative the TOV mv 70
Nominative “the” ot al 0 Nominative “the” ot o 2 Nominative ‘the” ot ol T
F|Genitive  “ofthe” | tav | tdv | 10V Z|Genitive ‘ofthe’ | tav | tov | tav E|Genitive  “ofthe” | tGv | t@v | 16V
z | Dative “tothe” | 1ol | Toig | toig * MDative “othe” | toic | teic | toic 2 Dative “tothe” | toig | taiig | toig
Accusative ‘the” touc | toc 0 Accusative ‘the” To0c | Toc T Accusative ‘the” tovc | Tac 10,

=24 (forms)
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This is what the 24 forms look like
The Article

Nominative “the”

Genitive “of the”

Dative “to the”

Accusative the

Nominative “the”

Genitive “of the”

Dative “to the”
Accusative “the”

At this point you may be terrified. If there are so many forms of Greek words, what hope
is there of ever learning all this!
Don’t panic.

It is not nearly as bad as it sounds. The patterns that Greek words follow to tell you their
case, number and gender are very regular. In fact, we already know them!

Compare the forms of the article with the noun endings table:

ottty | otsmmontn) | et enion

Nominative “the” ) 1 70 0C Mg | 0oM  oegmirg | OV “hone
5|Genitive  “ofthe” | tod | tfig | 10D OV o oers] G MG aratogmiing | OV chwenk
.(%’ Dative “othe” | 1@ M 10 O oovde] QoM wateihing| @ ek
Accusative the TOV v 70 ov M |oavenv i | ov e
Nominative “the” ot ol To o Ml o Lot | o o
5|Genitive  “ofthe” | tadv | tdv | t@dv OV o] @V ok | v S
& | Dative “tothe” | toig | tdig | 7Toig O1G ionms| UG obhmigs | 016 whwons
Accusative “the” T00¢ | 10C 10, ovg "Il g L | o BN

Do you see the similarities? In most instances, the article looks like the noun ending
with a tau attached to the front. Again, mastering Greek is all about learning to see
patterns!
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Lexical Form of The Article
When you look up the Greek article in a lexicon, it is listed like this:
0,1, TO

Why three forms? Because to know the article we have to know how it behaves in its
masculine, feminine and neuter forms. The lexicon gives us this information.

The article follows a 2-1-2 pattern. This means it follows the second declension in the
masculine gender, the first declension in the feminine gender and the second
declension in the neuter gender.

2nd 1st 2nd

declension declension declension

More about this in our next lesson.
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12. 2-1-2 Adjectives

Lesson in a Nutshell

2-1-2 adjectives follow the 2-1-2 pattern of declension. They are by far the
most common.
When you look up the adjective dyafdg in the lexicon, it will be listed like this:
ayaBoc, 11, Ov
Please notice that there is no article. Why?

Because aya0d¢ is not a noun. It is not masculine or feminine or neuter.

&yoceog is an adjective. It has to be able to be masculine AND feminine AND neuter.

The lexicon gives you the endings (in red above) to tell you how it behaves in all three
genders.

(;WOCG(I)Q is the masculine form
o’woceﬁ is the feminine form

OC’YO(G(SV is the neuter form

aya04¢ is a 2-1-2 adjective. This means it follows

second declension in the masculine (2)
first declension in the feminine, and (1)

second declension in the neuter (2)

Just like the article!
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Do you see why we must have all three genders? Because “good” needs to be able to
modify masculine and feminine and neuter nouns. This is unlike English. English has

only one form. Compare the English adjective “good” with the Greek adjective &yoceog.

nominative, singular, masculine ayolfoc ovOpwmoC good man
nominative, plural, masculine &V(XGOl &Vep(mtOl good men
nominative, singular, feminine &YOLGT] y’évn good woman
nominative, plural, feminine &yaeou yﬁvou good women
nominative or accusative, singular, neuter &VOLGOV ’épyov good work
nominative or accusative, plural, neuter &VOLGO( :épyoc good works
genitive, singular, neuter ayofov €pyou of a good work
dative, singular, neuter ayofo £pym to a good work

Do you see how “good” never changes form, but &yoceog is constantly changing to
match the noun it modifies?

Now the lights are going on!
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Notice how the endings follow the 2-1-2 pattern (in blue). Also, compare the endings of
ayaBog with the article below. Do you see how similar the endings are?

24 forms of ayoboc [2-1-2] :
m Feminine Neuter Moascuine | Feminine Neuter Masc/ Fem|  Noutor

S| Genitive | ov (ag.mg| ov oc | og

O

| Pae |0 |an | o 1 1
oyoOw Accusativel oy [orv.mv| ov o -

cryaty

_

Bl

g | oyodov | oyadng | oyodou
dl ayadn

B

oyolfov | ovyoldnv | oryoBov INominatvd 01 | o | o e | o

Plural

Genitive | v | @V | @V v | ov
oyoBor | oyoBon | oryoOo

ryadorg

n Dative 1 o1g | ong | o1g ou | ou
n oyobwv | ayobmv | oyobwv Accusativel oy | g | o ac | o
n oyolfovg | oryolbag | oryoBou

M F N
Nominative “the” 0 n 70
‘—g Genitive  “of the” | 10D ™me | Tov
& | Dative “othe” | 10 il 70
Accusative the TOV v 70
Nominative “the” ot ol 10
£| Genitive  “of the” | 1@V OV | 1OV
o [ pative “tothe” | Tolg | 7TOllg | TOIg
Accusative “the” 100¢ | 1Og 0L

Greek may seem complicated at first. But as you go along, you will come to recognize a
few consistent patterns that reveal the case, number and gender of every substantive. It
will become as plain as the nose on your face.
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Please study the chart below and be certain that all the letters in green make sense to
you. Be sure you understand:

1. That they follow the 2-1-2 pattern of declension.

2. That the articles and adjectives match the noun they modify in case, number and

gender.

3. The translations.
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S UOOU DI el U J
Masculine Feminine Neuter
(2nd declension) (1st declension) (2nd declension)
0 0yofoc Aoyog n oyodn opym 70 Oyoldov €pyov
N 0¢ the good word o.n the good beginning ov the good work
700 0Y0.00V AOYOV NG ayal®NG apyic 00 OY0.00D EPYOV
3 Glov of the good word OGNS ofthe good beginning ov of the good work
> . — ’ ~ ~ ~ ~ ¢ ~
gl p T oyofw Aoyw ™ oyoln opxn M) oyofw epyw
() @ to the good word qn to the good beginning v to the good work
A 0V 0yofov Loyov ovV. TNV ayodnv opynv 10 OyalBOV Epyov
ov the good word nv the good beginning ov the good work
N o ot ayofol Aoyot o ol oyofot opyot o 0. OyolfoL Epyo
the good words the good beginnings the good works
TOV OyoOdV AOYwV OV 0yofOV opY@V TOV 0yodQV EpYyQV
® G| ov of the good words wv of the good beginnings wv of the good works
2 ~ e ~ , ~ . ~ ° ~ ~ € ~
ol p olc O oyoBolg Aoyoig atc TG oyoBong opyog ot T01¢, oryafolg
G to the good words G to the good beginnings G eEpyolg
Alov T0UG 0yoldoVG AOYOVE o TOIG OLYOOOIC OPYOG o 0L 0yoldoL EpYOL
G the good words G the good beginnings the good works



13. 3-1-3 Adjectives

Lesson in a Nutshell

3-1-3 adjectives follow a 3-1-3 pattern of declension. [lo¢ is an important
3-1-3 adiective.

If the table below makes sense to you, you already understand 3-1-3 adjectives. The
rest is just filling in a few details.

2nd 1st 2nd

declension declension declension

We saw that 2-1-2 adjectives followed the
second declension in the masculine
first declension in the feminine, and
second declension in the neuter

8=i=8'adjeciives follow the

third declension in the masculine
first declension in the feminine, and
third declension in the neuter
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means “all” or “every” and is a common 3-1-3 adjective. Do you see how the case

endings were tacked onto in the tables below? (Look at the blue columns.)

Case Endings

24 forms of moc (3-1-3)

Masciine | Feminine Neuer Masc/ For| Neuer
2 1 2 3 3

Nominativel o¢ | a.m | oV G —
Genitive | ov [a@g.ng| ov oc | og
oae | o | | @ ! 1

Singular

nooo
TTOLVTOQG TToLloNng TTOLVTOG

Accusativel oy (gv.nV| OV o -
n TTOVTL TC(XG‘]] TTAVTL m——
ominative o

oL [ ot o £¢

TOVIo | Toeoy Genitive | v | @v | av ov | ov
- -

Dative | o1c | oug | oig oLy | Ol

TTOLVTEC | TTOLO O TTOLVTOL Accusative| oyc | o | o o | o

TTOVTIWV | TTOICWV | TOVTWOV

n TTOO1l ] | TTOCOLG | TOOlv]
TTOLVTOLG | TTOLOOLG TTOLVTO

In case you were wondering...

Plural

We saw that third declension nouns were those whose stem
ended in a consonant. 3-1-3 adjectives follow the third
declension in the masculine and neuter genders for the same
reason: those two stems end in a consonant. Observe:

stem stem stem
in masculine gender | in feminine gender in neuter gender
TTOLVT TTOLO X TTOLVT

Do you see how the masculine and neuter forms end in a consonant (t)? This is the
reason they follow third declension in those genders.

The feminine form ends in a vowel (o) so it follows first declension, which is used for
stems that end in the vowels o or n.
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e

£ e ""j
¥ - X 3
s

Ho perfetly logical!

When we were looking at third declension nouns, we saw that the third declension is not
as consistent as first and second declension.

The same thing is true with adjectives that follow the third declension. means
“fast” or “quick” and is a 3-1-3 adjective. Notice the slightly strange forms (in red).

Moascuine | Feminine Nouter Moo/ Fem|  Nouer
tag | e | toy | 5 [

Nominativel o¢ | at.m | ov o -
G | ToXE TOYXELOG | TOUYXE

ienitive | 0V |OlG.NG| OV oc [ og
Patve | o [an | @ 1 1

Singular

TOY
* v| x|
Nomipativel ot o o €6 o
TOYELOL | TOUYEO .
Dative | o1 | oug | oig ou | ow
TOYXEWV | TOYXELWV [ TOYEWV Accusativel oyg [ g [ o o | o
ﬂ TOYEO L | TOLYXELOLLS [ TOUXEO L
taeog | Togeo

Genitive | v | @wv | @V oV | ov

ﬂ TOYEL | TOXEWY | TOUXEL

Plural

We have already seen this sort of odd behavior when we looked at third declension
nouns.

Thankfully, most adjectives follow the 2-1-2 pattern.
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Lexical Form

When you look up the adjective in the lexicon, it will be listed like this.

TG, OO, TTAV
Notice that there is no article. Why?

Because is not a noun. It is not masculine or feminine or neuter.

is an adjective. It has to be able to be masculine AND feminine AND neuter.
The lexicon lists the three genders to show you how it behaves in all three genders.
is a 3-1-3 adjective. This means it follows

third declension in the masculine (3)
first declension in the feminine, and (1)
third declension in the neuter (3)

Note: There are relatively few 3-1-3 adjectives. So why bother with them? Because
when we come to the participle, this pattern will be very important to recognize. But
don’t worry about participles yet! All in good time.
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14. 2-2 & 3-3 Adjectives

Lesson in a Nutshell

2-2 adjectives follow second declension in all three genders. This is normal
for the masculine and neuter, but looks odd in the feminine.

3-3 adiectives are third declension in all three aenders.

A reminder: All we are doing is studying the patterns by which adjectives tell us their
case, number, and gender.

We have seen the behavior of 2-1-2 and 3-1-3 adjectives.

2-2 and 3-3 adjectives may strike you as strange. There are three genders. Why only
two numbers to designate three genders?

Because in the case of 2-2 and 3-3- adjectives, the first number tells us how the
adjective behaves in masculine and feminine genders. The second number tells us
how the adjective behaves in the neuter gender.

2nd 1st 2nd

declension declension declension

3rd 1st 3rd

declension declension declension
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Let’s take a closer look.

2-2 Pattern

is a 2-2 adjective that means “sinful.” It is called a 2-2 adjective because it
follows...

second declension in the masculine and feminine gender and
second declension in the neuter.

The pattern is a little strange to us because the feminine is usually first declension, not
second.

apopToroc [2-2]

H Maswlins
(2) Masculine M Feminine Nouter Masc/ P Neuter
- (2) Feminine e FOB“‘"” 1 2 3 3
“ OULOPTOAOG | OUOPTWAOV [Nominativel oc [ o | ov c ~

Case Endings

n QLOPTWAOV | CLOPTOAOV 5| cenitive | 0v |aig.mg| ov oc | oc
O
N N £| Dati
n OUOPTOA® | OUOPTWA® B o | @ | | @ 1 1

, e Accysativel ov_|av.nv| OV L
“ OLULOPTOAOV | CLLOPTWAOV
|N°"s‘uim’-‘e§“"e ol ol o €6 o
“_ OPTWAOL | OLLOPTWACL ”

wolp Hop Genitive | v | @V @V (0)Y (0)Y

ﬁ possession

N v 3 -
n OLOPTWADV | CUOPTOAWY a| patve [oic| oug | o | | ow | ou
OLLLOPTWAOLS | CLOPTWAOLE Accusative| oyug | oG | o ag | o

CLOPTWAOVG | CLLOPTWAL

Study these two tables until it makes sense to you how the endings in blue are added to
the adjective.
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3-3 Pattern

means “greater” and is a 3-3 adjective. This means it follows

third declension in the masculine and feminine gender, and

third declension in the neuter.

Do you see how the case endings (in blue) are attached to the adjective?

uettov [3-3]

T Ofemt | e
“ ueilov

& | upeloveg | peiovog |
4| pelovt | palowt |

B o | oo

Bl o | oo
B o | iy
Do oo | oo
_ i

Muscuine | Fomone | Nouor | |Masc/ Fon| Noer
2 1 2 3 3

[Nominative o¢ | . | ov c -

S| Genitive | 0v |ac.ng| ov oc | oc
S| Datve O |an| o 1 !
Accusativel oy (orv.mVv| OV o -

'N°"s'm§“"e oL | o o G o

S| Genitve | v | @V [ ov oV | oV
| Dative o | g | oig oL | ou
Accusative| oyg | Qg o o | a

Don’t be afraid!
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Lexical Form of Adjectives
How will you know what pattern an adjective follows? The lexicon will tell you by the
way it lists the adjective and if this leaves things unclear, it will list a few more examples
to help.

Here are the adjectives we have studied as they are listed in the lexicon.

2-1-2 3-1-3 2-2 3-3

The lexicon will list the adjective in its masculine, feminine, and neuter forms.

If the masculine and feminine share a form, the first entry will refer to the masculine and
feminine forms. The second entry will refer to the neuter form.

How will you tell an adjective from a noun? A noun will always be listed with an article. A
noun is either masculine or feminine or neuter. The article tells you the gender of the
noun.

An adjective has to be able to change forms to match all three genders. It is necessary
to understand the pattern it follows in the masculine and feminine and neuter genders.

Odd Patterns
Almost every time, you will be able to identify the case, number and gender of an
adjective using the case endings chart. But not all adjectives follow the case endings
exactly.

Don’t worry. It is usually very easy to figure out the case, number and gender of
adjectives.
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15. Adjective Usage

Lesson in a Nutshell

Adjectives may be attributive, substantival, or predicate.

Usage Definition English Example
1. Attributive Adjectives “attribute” some quality to a noun the man
2. Substantival Adjectives |“stand in” for a noun. God rewards the
3. Predicate Adjectives involve some form of “to be” God is

The article is an important clue to determine what kind of adjective it is.

Is there an
article with
the adjective?
1 1
l_;l I
Attributive Substantival Predicate
(if there is (if there is no (supply some
anoun to noun to form of
modify) modify) “to be”)

Adjectives are words that modify nouns. They give us useful clarification about the noun
in question. Greek adjectives are very similar to English adjectives with the exception
we have come to expect: Greek adjectives change forms to show us their case, number

and gender.

This lesson focuses on the three ways that adjectives are used in Greek

Usage

Definition

English Example

1. Attributive Adjectives

noun”

“attribute” some quality to a

the man

2. Substantival Adjectives

“stand in” for a noun.

God rewards the

3. Predicate Adjectives

involve some form of “to be”

God is
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Attributive Adjectives

Attributive adjectives modify a noun. They “attribute” some quality to a noun.

The tree
The grammar
The wife

In English, the adjective immediately precedes the noun it modifies (word order again!)
In Greek, attributive adjectives may follow English word order or may reveal themselves
in other ways.

Here is an example that follows English word order:

0 ovOpPWTOC
the man

Here is another common example of an attributive adjective that is unlike English word
order:

0 0VOPWTOC O
the man  (the)

Attributive adjectives usually have the article.

Substantival Adjectives
Substantival adjectives “stand in” for nouns. They have substance!
The will do well in this class.
Diligent what? Students, of course. But the word “student” is not in this sentence. It is
assumed. The adjective is left on its own, and performs the function of the noun in the
sentence.

Here are a few more examples of substantival adjectives.

The are treated better than the
The , the , and the

If there is no noun to modify, the adjective takes on substance of its own — a
substantival adjective!
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Here are a few examples in Greek.

e

0 {noet
the good (man) will live

e

n (noet

the good (woman) will live
ol {noet
the good (women) will live

The case, number and gender will match the missing noun. Notice in the examples
above that

In the first example o’cyocOég is singular masculine so we assume a singular
masculine subject.

In the second example oryolOn is singular feminine so we assume a singular
feminine subject.

In the third example oyt is feminine plural so we assume a feminine plural
subject.

Substantival adjectives usually have the article.

If there is no noun for an adjective to modify there is a good chance it is substantival.

Predicate Adjectives
Predicate adjectives involve some form of “io be.” For example,

The man is
That ice cream was I

In Greek, it looks like this:

0 OVOPWTOC EGTLY
the man is good

0 OVOPWTOC
the man (is) good
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In the first example, the “to-be” verb is expressed (écriv “is”). In the second, it is not.
Greek will often leave the verb unexpressed if it believes it to be obvious.

To summarize...

The predicate adjective
never
has the article.

Attributive Adjectives

“attribute” some quality to
a noun”

the good man

Substantival Adjectives

“stand in” for a noun

God rewards the good.

Predicate Adjectives

involve some form of “to
be”

God is good.

The article is an important clue to determine what kind of adjective it is.

Is there an
article with
the adjective?

Yes No
1 L 1 I
Attributive Substantival Predicate
(if there is (if there is no (supply some
a noun to noun to form of
modify) modify) “to be”)
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16. First & Second Person
Pronouns

Lesson in a Nutshell

In Greek, first and second person pronouns do not have gender so there
are only eight forms.

Nom| | Nom you
5] 5]
S (Gen my S |Gen your
2 2
5 | Dat to mef f¢5 [Dat to you
Acc me Acc you
Nom| we Nom you
'©|Gen our S |Gen your
=] 3
Q| pat tous | |% | Dat to you
Acc us Acc you

Pronouns are everywhere! There are not very many of them, but you will see them
splattered on every page. Even in English they are extremely common. | have
highlighted them in these first few paragraphs so you can see that it is true.

It is critical to recognize pronouns in their various forms. They are so important that on
your Master Chart | have spelled out eleven of the most common pronouns in every
possible form and translated them for you.

We have seen all of these variations before. Most pronouns follow the nice, simple
2-1-2 pattern of declension.

Please keep in mind that the pronouns on the Master Chart represent only eleven

words. Do not fear! Each box represents a single word in all of its forms. We have
already met the forms. There is no need to fear.

Syntax
Pronouns are the little words that “stand in” for nouns in all kinds of interesting ways.

There are different varieties of pronouns: personal, relative, interrogative, indefinite,
demonstrative and reflexive. Each has its own function, as we will see.
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Morphology
Pronouns must be able to “stand in” for all kinds of subjects: masculine, feminine and
neuter. Therefore, they will be like adjectives. There will be up to 24 forms of each
pronoun, depending on which pattern of declension it follows.

The Concept of “Person”

Before examining the personal pronouns, we must pause to understand what is meant
by “person.” Here is a chart of personal pronouns in English.

N: | N: we
G: mine G: our
D: tome D: tous
A: me A: us
N: you N: you
G: your G: your
D: toyou D: toyou
A: you A: you
N: he-she-it N: they
G: his-hers-its G: theirs
He_l-_:he-lt D: to him-her-it D: to them
=) A: him-her-it A: them

Notice three odd things about English personal pronouns.

1. Unlike most English words, they decline a lot and in ways that follow no clear pattern.
It’s positively barbaric!

2. The second person pronoun is the same in the singular and plural (unless you are
from the South, in which case you say “y’all” for the second person plural).

3. In the third person singular only, English pronouns have gender. This is why there are
three forms (“he-she-it”).
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Greek pronouns are much more civilized. Here are the Greek first and second person
pronouns.

Nom |
© T
= [Gen my =
g 2
5 | Dat to mej 15
Acc me
Nom we
® [Gen our
=
O | pat to us
Acc us

Please notice that there are only
eight forms of the first person pronoun, and
eight forms of the second person pronoun.

Do you see why? What is missing?

There are only eight forms because in Greek, first and second pronouns
do not have gender!
The first and second person personal pronouns follow a slightly odd third declension
pattern. It is best just to memorize them. You will see them on every page so do yourself

a favor and make friends with them.

Notice how similar the first and second person pronouns are to each other. There is just
a letter’s difference between them in most cases.

The forms in small print are emphatic forms. For example, Lov means “my” but éuof)
means “my!”

In the English translations, notice that English pronouns change form (“decline”) quite a
bit in the first person but not in the second person.
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17. Third Person Pronouns

Lesson in a Nutshell

The third person pronoun has gender and follows the familiar 2-1-2 pattern

3rd Person Pronoun
M (2) F (1) N (2)

Nom| or0t0C he | ovtn  she | ovto it

Gen| oy1)toL his ovtne hers | aoton its
Dat (X.‘l’)‘t@ to him (X‘l’)‘tfl to her (X‘l’)’t@ to it
Acc| optov him | gorny her [ gpro it

Singular

Nom| v0701 they | ot they | citor  they
Gen| oruTV ofthem| criytdv of them| criytdv of them

Plural

Dat q{n(ﬁg to them (x{n(ﬁg to them (x{no'i,g to them
Acc a{no{)gthem a{ndg them | or)Tcr  them

As a reminder, the English third person pronouns are in blue.

We

You
You

Z200Z200Z
Z200Z200Z

He-She-lt
They

As we are learning to expect, Greek third person pronouns are much more consistent.
They have gender for both singular and plural forms and follow a nice easy 2-1-2
pattern of declension.
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he

his hers

to him to her

—
c
3
O)
£
n

him her

they they they

of them of them of them

to them to them to them

them them them

It would be difficult to overemphasize the importance of the third person pronoun.

It shows up in nearly every line of Greek text.
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The third person pronoun follows a nice easy 2-1-2 pattern of declension. In fact, it
looks very much like the article with ovv added to the front. Take some time comparing

these three charts.

Noun Endings

M @) F () N(@) I

Nominative ‘the” 0 1 10 Nominative
5|Genitive  “ofthe” | 100 L O | E oV ag.Mg ov
.(%’ Dative ‘“tothe” | 10 il 70 g|  Dative o a.n )

Accusative the TO0V v 70 Accysative ov av.nv ov

Nominative ‘the” ot ol 0. Nominative ot o o
w|Genitive  “of the” | 1dv OV | TQV s|  Genitive @V @V (Y
& | Dative “othe” | toic | woic | toic |J|E|  Dative olg o o5
|| Accusative ‘the” T00¢ | tog 10 Accysative | oug oG o

M (2) F(1) N (2)
Nom he she it
g Gen his hers its
g" Dat to him to her toit
n
Acc him her it
Nom they they they
@ Gen of them of them of them
E Dat to them to them to them
Acc them them them

The pronoun will take the case, number, and gender of the noun it “stands in” for (called

its “antecedent”).

The Greek third person pronoun is perfectly logical. The reason third person pronouns
are difficult for English speakers is not because of Greek but because of English.

| provide you with the full paradigms and translations for all of the pronouns so you can
get used to the English. The Greek is easy!
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Three Uses of a0t0C

In Greek, the third person pronoun is usually used as a pronoun, but there are two
additional functions to watch out for.

1. as a personal pronoun (normal

John 1 is full of examples of this. There are three in verse 12.

12 O¢ EAafov , EdWKeV efovoiav
Asmany but (they) received him He gave to them authority

Tékva 00D yevéaDat, Toi¢ TOTEVOVGLY £1¢ TO dvoua

children of God to become, to the ones believing in  the name

of Him,
Do you see how
the accusative case is used for the direct object ( )?

the dative case is used for the indirect object ( )?

~

the genitive case is used for possession ( )?

In each instance, the pronoun is behaving just like it would in English — as a personal
pronoun.
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2. for emphasis

Sometimes, is used to emphasize the subject. In translation, we use some form
of “self” (myself, himself, herself, itself, themselves...)

O100I0K®W KOLVN

I myself am teaching Koine to you.

C \ ~
O athp PLAEl

Himself the father loves you.
= “The father himself loves you”

When used this way, will never have the article.!

3. meaning “the same...”
Every now and then, you will run into and it should be translated “the
same 7

Here are a couple of examples:

Kol aneAOwv Tpoonvéato Tov Adyov

and again leaving he prayed the same word

AMOPEGELC XAPLOUATWY €101V, TO d€ aT0 TTVEDUX

Varieties of gifts there are the but same Spirit

This is the rarest uses of . We will not run into it in John 1.

" When a substantive lacks the article it is said to be in “predicate position.”
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18. Relative Pronouns

Lesson in a Nutshell

bEAN1Y

The relative pronoun (“who,” “which”) looks like the 2-1-2 noun ending chart.
They always have a rough breathing and an accent mark. Relative
pronouns introduce relative clauses.

Relative pronouns introduce relative clauses. Here are some examples of relative
clauses in English.

The man is bald.
Students will pass this class.
Joy will fill the hearts of people

Is this the book

Do you see how in each case, the underlined clause acts like an adjective to modify a
noun?

The man.
The students.

The people.
The book.

The confusing thing is that in English, the relative pronoun and the interrogative
pronoun use the same forms. For example, | might say:

Who is teaching us Greek?
Who is listening well?
On whom does the Spirit fall?
If the pronoun asks a question, it is an interrogative pronoun.

If it connects a relative clause with a noun, it is a relative pronoun.

This is a problem with English, not Greek. Greek has different forms for the relative and
interrogative pronouns.

Relative:
Interrogative:

We will meet the interrogative pronoun in our next lesson.
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In English, the relative pronoun is “who,” “whom,” or “which.” It does not change form
very much.

In Greek, every relative pronoun will give you its case, number and gender. Therefore,
there will be more forms.

The relative pronoun is very easy to recognize. It follows a nice 2-1-2 pattern, the one
we are growing to love.

The relative pronoun looks very much like the noun endings chart with one important
difference. Do you see it?

Noun Endings

M (2) F (1) N (2) e S P

_ Wil who Which og ‘ove| aam  oo¥h, | OV Y
%., of whom of whom| 0V ofwhichll o1y JOWPf CIGaMG oratmmeing | OV e
'UE) el 10 Whom 0 Which 0,) tokao\},vg]rd (,lorT.l to a%ggi"r:\lning u,) tgpvyc:?k
whom whom which oV sz&v AV oMV b(:gim:g oV aaz::(v

who who which o el o Lo o B

of whom of whom of whichl| v 2091 @y ooproy | ov Frey

to whom to whom towhich | o1¢ (ol oG eeioe | 010 Lo

whom whom which oG lgggjgc g b;gmcg o @

The relative pronoun will always have both a

rough breathing mark

and

an accent.

You will find relative pronouns relatively easy to spot.

Remember: when you see a relative pronoun, look for a relative clause that modifies

some noun.
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19. Interrogative and Indefinite
Pronouns

Lesson in a Nutshell

Interrogative and indefinite pronouns follow the 3-3 pattern and are identical
except that the interrogative pronoun always has an accent on the first
syllable.

The relative and interrogative pronouns can be confusing because of
overlapping forms in Greek and English.

someone
? ich? .
who, which who? which? something
what? anyone
anything
06, M. 0 TG, Tl TG, TU
Be Brave!
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Interrogative and Indefinite Pronouns

M/F (3) N (3) M/F (3) N (3)
who? which? someone .
Nom what? what? Nom something something
5 of whom? of which? of someone .
« G| Gen . of somethin
5| % of what? of what? 3| of something S
£ to whom? to which? (= to someone .
| Dt to what? to what? o D=t to something to something
whom? which? someone .
Ace what? what? Ace something something
who? which? someone .
Nom what? what? Nom something something
L of whom? of which? —| Gen of someone of somethin
g Gen of what? of what? g of something 9
O|  pat to whom? to which? | pat to someone to something
to what? to what? to something
whom? which? someone .
Acc what? what? Acc something something

interrogates. It asks questions. Who? What? Which? Here
are a couple of examples in English.

Who is enjoying learning Greek?
What would you rather be doing right now?

Which is your favorite football team?
As we have seen, one obnoxious coincidence of English is that “who” serves as both
the relative pronoun (which we studied in the previous lesson) and the interrogative
pronoun. Do not let this confuse you.
Interrogative: Who is working hard?
Relative: The students, who are working hard, will do well.
does not interrogate. It refers to some undefined subject. Here

are a couple of English examples:

Someone will get tired of this lesson before it is over.
Hand me something to wipe up this mess!

As you can see, these pronouns look very much alike, even though their meaning is
quite different. Can you spot the difference between the two forms?
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The difference is that
The interrogative pronoun always has an accent on the first syllable.
The indefinite pronoun never has an accent on the first syllable.

| find it helpful to think of the accent on the first syllable as a question mark.

The Grand Confusion

It is easy to see why there is confusion with these pronouns. In English, there is overlap
in form between the forms of the relative and interrogative pronouns. In Greek, there is
overlap in form between the interrogative and indefinite pronouns.

Relative Interrogative | Indefinite

someone

English | who, which Whovzh";’th?i"h? S‘Z:}féwgg
anything

Greek oc, M, 0 TS, T TG, T

Please remember that Greek does give you a clue to distinguish the interrogative
pronoun from the indefinite pronoun. I'll say it again:

The interrogative pronoun always has an accent on the first syllable.

The indefinite pronoun never has an accent on the first syllable.

What pattern of declension do these two pronouns follow? Hopefully you can guess!

turn the page for the exciting answer
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3-3

M.sc/ Form| Neueor
3 3
M/F (3) N (3) M/F (3) N (3)

o e — |
8] cen | s G e | 2l oo [0 | vt tmmen]| 0G| o€
I5| Dat :g x:gg? :g x:':g’ I5| Dpat :g :g?gg:ﬁg to something 1 1

Ace x:gg? x::r';? Acc :z::?hr;ﬁg something o _

wt? e, amemng || ¢ | o
S ner? e | o e asomening|| v | v
ownap e | o somemg| 710ty osmannsll 61, [ 1,

somenns || o | o

Just in case you have forgotten, this means that they follow

third declension in the masculine and feminine, and
third declension in the neuter.

This looks exactly like the third declension portion of our noun endings chart (in yellow).

Study the charts above until you can see how the third declension endings are being
added to show you the case, number, and gender of the pronouns.

Notice that the English forms change a little bit to give you information about their case,
number and gender. But the Greek forms do it regularly, consistently, and beautifully.

Yay Greek!
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20. Demonstrative and Reflexive
Pronouns

Lesson in a Nutshell

Near demonstrative pronouns (“this” and “these”) look a lot like third
person pronouns except they start with a rough breathing or a . Far
demonstrative pronouns (“that” and “those”) begin with

First person reflexive pronouns all begin with éu
Second person reflexive pronouns all begin with o€
Third person reflexive pronouns all begin with €

Near and Far Demonstrative Pronouns

Here are examples of the near demonstrative pronouns in an English sentence:
is becoming very easy!
Whatever you did for the least of , you did for Me.

And here are examples of the far demonstrative pronouns:

Are you finished with ?
are my favorite jelly beans!

M@ [ F@M) [ N@ Me [ Fm ]

N (2)

Notice that in English, the pronoun does = e
not change except to show whether itis [ This £l That
singular or plural. The English chart = =
would look like this: o P
B These o= Those
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The Greek chart looks like this:

M (2) F (1) N (2) M (2) F (1) N (2)

Nom this this this Nom that that that
S [Gen of this of this of this | |- |Gen of that of that of that
=] <))

(o)}
< | pat to this to this to this | &5 | pat to that to that to that

Acc this this this Acc that that that

Nom these these these Nom those those those
[ of of - of of of
g Gen of these these these g Gen those those those
o to to o to to to

Dat to these these these Dat those those those

Acc these these these Acc those those those

Why is the Greek chart so complicated? Because it gives us the case, number, and
gender every time it uses the pronoun.

This is not really complicated. It is just following the 2-1-2 pattern we have grown used
to. The way to learn the pronouns is not to memorize every one of them, but to notice
the patterns.

The near demonstrative pronouns have either a rough breathing or begin with a .
Otherwise, they look very much like the third person pronoun.

The far demonstrative pronouns are especially easy to recognize. They always begin
with exelv.

Reflexive Pronouns
The reflexive pronouns reflect the action of the verb back onto the subject. For example:

First Person: | plan to read to myself tonight.
Second Person: Give yourself a break!
Third Person: She is very strict with herself.
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Here are all of the English forms:

Singular Plural
First

Person myself ourselves
Second

Person yourself yourselves

‘ himself
nggn herself themselves
itself

Since Greek gives us the case, number and gender of every substantive, we will expect
more forms, but these forms will follow the nice, easy 2-1-2 pattern we already know.

Once you get the hang of a few patterns, Greek is not as hard as it first appears!

Greek Reflexive Pronouns

M (2 F@1 N (2
M@ F () @ | (1) (2)

Nom Nom
% Gen of myself of myself | Gen of himself of herself of itself
)] =
c o
o | D2t to myself tomysell § B! pat to himself to herself to itself

Acc myself myself

Acc himself herself itself
M (2) F (1) Nom

Nom Gen of of of
5 § themselves themselves themselves
= f If f rself =
3 Gen of yourse! of yourse 2| ur o o ©
E| pat to yourself to yourself themselves themselves themselves
n

Acc yourself yourself Acc themselves themselves themselves

| did not include the plural forms of the first and second person reflexive pronouns

because | ran out of space. But they follow the 2-1-2 pattern. Easy as pie!

You might notice that there are no nominative forms. Why?

Because the reflexive pronoun by definition receives the action of the verb. There is no
need for a nominative form. For example:

| hit myself.

Myself does not hit myself.
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There is really nothing new to learn here except three words.
Notice the patterns.

First person reflexive pronouns all begin with éuocm.
Second person reflexive pronouns all begin with ceovt.

Third person reflexive pronouns all begin with €0

Lexical Forms of Pronouns

Pronouns, like the article and adjectives, have forms in all three genders. Therefore,
they are listed in their masculine, feminine and neuter forms in the lexicon.

Remember that we are only discussing eleven words. They change form in very regular
ways. Once you learn a few patterns you are well on your way to learning Greek!

Lexical Form Pattern Translation
First Person f-;yu) no gender ||
Second Person (513 no gender
Third Person OL{)’E(,)Q, ﬁ, (3 2-1-2
Relative oc, M, O 2-1-2  |Who
Interrogative ’cig, 'ci 3-3 Who? What? Which?
Indefinite TG, Tl 3-3 someone, something

Near 0 1% ~ .
Demonstrative OVTOC, XLTN, TOVLTO 2-1-2  |this, these

Far s A

Demonstrative  |EKELVOG, T, O 2-1-2  |[that, those

First Person ) ~ - ~

Reflexive ELOVTOV, NG, OV 2-1-2  |of myself

Second Person ~ A ~

Reflexive OEOVTOV, NG, OV 2-1-2  |of yourself
;2}12)('?5;30” £0LLTOV, NC, 0V 2.1-2  |of himself / herself / itself
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Valley of the Verbs

EEEEEEEEEEE




Introduction
ﬂ/fﬂefcome to the ma&tegn’ece cy[‘ the gree/( fzmjucye.

We learned that the endings of Greek substantives changed to tell us their case,
number and gender.

Greek verbs change form to give us five (!) pieces of information:
tense, voice, mood, person and number.

If you do the math, you quickly discover that the massive number of forms will make you
feel like you have landed in Alice’s Wonderland.

5 tenses
(present, imperfect, future, aorist, perfect)
X
3 voices
(active, middle, passive)
X
3 moods
(indicative, subjunctive, imperative)
X
3 persons
(first, second, third)
X
2 numbers
(singular, plural)

270 forms of every Greek verb!!

The good news is that just as we saw with substantives, verbs will follow predictable
patterns of change. We do not have to learn 270 forms of every verb we meet! We only
have to familiarize ourselves with a few regular patterns of variation.

The bad news is that there are more patterns to learn with verbs than with substantives.
The verbs can change form so completely that you have no idea what the original was.

Also, we will discover that a few of the commonly used verbs behave with seeming
disregard for the rules. Anarchists! But these scofflaw verbs, like all anarchists, follow
patterns of their own.

1 This is a rough estimate for demonstration purposes. | have left out the rarely used optative mood and pluperfect tense and am not
counting the infinitive as a mood.
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21. Tense, Voice, Mood, Person,
Number

Lesson in a Nutshell

The goal of this lesson is to understand what tense, voice, mood, person,
and number mean.

Every Greek verb will give you five important pieces of information:

1. Tense
2. Voice
3. Mood
4. Person
5. Number

The possibilities are:

Tense Voice Mood Person Number

Present Active |ndicative 1 First Singular
Imperfect Middle SUbjunctive 2 Second Plural
Future Passive IMperative 3 Third
Aorist (Participle).“r

PeRfect (Ninitive) *

*technically, not moods, but usually classified here.

In this lesson we will understand what tense, voice, mood, person, and number mean.
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Person

We have already discussed the concept of person when we looked at pronouns.

m—

“You (a”)y'
He‘ She‘ lt

Number
Number tells us whether the subject of the verb is singular or plural. No sweat!

Voice

The voice of a verb describes the relationship between the subject of the verb and the

action of the verb.
m
The subject does the I stud
action of the verb Y

The action of the verb
. | study
ricochets back to affect . I
the speaker in some way (for myself)
The su.bject receives the | am studied
action of the verb

- In the active voice the subject does the action of the verb.

- In the middle voice the subject does the action of the verb and that action comes back
to affect the subject in some way. The middle voice is one of the subtleties that was
disappearing from the Greek language at the time of the New Testament. There are
very few verbs in the New Testament that have a clearly “middle” meaning.

- The passive voice describes the subject receiving the action of the verb.
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Mood

The mood of the verb describes the relationship of the verb to reality.

m

The mood of | misht stud
possibility or probability 8 y

Tense

In English, tense primarily has to do with time — when an action takes place. We speak
of past, present, and future tenses.

Present: | fly
Future: | will fly
Past: | flew

Greek tense also gives us information about when the action took place, but it also tells
us what kind of action took place. “Kind of action” is called “aspect.” There are three
aspects in Greek. They are often represented with lines and dots.

|. Continuous aspect

2. Undefined aspect

3. Perfected aspect

- Continuous aspect describes the action as ongoing.

- Undefined aspect just says something took place without giving any information about
the kind of action.

- Perfected aspect tells us that an event took place with results that continue.
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The chart below illustrates the aspect and time of the five Greek tenses.

OW
ent Continuous Present

(or undefined)
E
E Undefined

Undefined

Past event with

. Past to Present
ongoing results

N

« The present tense describes continuous or undefined action in the present time.
(Context will have to be used to determine if the action is continuous or undefined.)

- The imperfect tense describes continuous action in the past time.
« The future tense describes undefined action in the future time.

- The aorist tense describes undefined action in past time. It is the most common way to
say that something happened.

- The perfect tense describes an action that took place in the past with continuing
results. Exegetically speaking, this is one of the most interesting tenses.

That’s it!
On to the wonder of morphology!
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22. The Personal Endings

Lesson in a Nutshell

The personal endings give us four pieces of information about the verb.
1. The person
2. The number
3. The voice
4. The time of the action

They are very important to learn to recognize!

Obviously, if we set out to study 270 forms of every Greek verb we would soon lose our
minds. Instead, we will learn clues to identify the tense, voice, mood, person and
number. In most cases, these clues will tell us everything we need to know.

How To Identify Person and Number

Greek (and many other languages) have a very slick way of indicating changes of
person and number. Rather than using personal pronouns as we do in English, the
ending of the verb is modified in such a way that the person and number are made clear
in the verb itself.

Beginning with a simple verb like AVw (I loose), observe how the person and number
change as the personal endings change:

Person Verb + Ending Translation

() | loose

Slg You loose

€1l He/She/lt looses

Ouev We loose

ETE You (all) loose

OVO1(v) They loose
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The key to identifying the person and number is to know the personal endings. There
are four sets of endings.

Personal Endings

€1¢
£l
OUEV
ETE
0VOL(v)
oV

2

Why four? Because these endings do more than tell you person and number. They also
give you information about:

1. The vOice of the verb

Active: The subject does the action of the verb.

Middle: The subject does the action of the verb and it comes back to
affect the subject.

Passive: The subject receives the action of the verb.
Notice the two columns: “Active” and “Middle/Passive.”
2. The time of the action

The primary endings are used for present and future time.
The secondary endings are used for past time.

Notice the two rows: “Primary” and “Secondary.”
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In English, the table would be translated like this

Personal Endings

| | am
(I jump) (I am jumped)

| do the action The action is done to
in present time. me in present time.

| | was
(I jumped) (I was jumped)

| did the action The action was done
in past time. to me in past time.

The chart below shows the way the endings are applied to AUw
and gives the translations.

Personal Endings

)\.‘ll)(!) | loose o _opotr

AVeElg  you loose e
AVEL he/shefit looses et
Avopev  we loose opev
AMete  you (all) loose  gre
AMvovotv they loose “ovoiy)

Aopon | am loosed
v you are loosed 1
AMetar  helshefitis loosed etoi
Avopebo, we are loosed opedo
AMecBe  You (all) are loosed go6¢
Movtor they areloosed  gyron

sAvov  |was loosing ov
cAvec  you were loosing £¢
cAvev  he/shefit was loosing e()
“Aopev we were loosing OpEV
“\Vete  you (all) were loosing gte
Avov  they were loosing ov

savopunv | was being loosed ounv
EAVOV you were being loosed oV
EAVETO he/shefit was being loosed _ €70
sAvopeda.  we were being loosed opuedar
s\ecBe  you (all) were being loosed eofe
ZéAvovto  they were being loosed ov1o

You may notice something else going on here.
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In the secondary row, all of the verbs begin with an €. Why is that? Because in Greek,
when a verb goes into past time, it augments. It does this by adding an ¢ to the front of
the verb.

It might help you to think of the way that English puts a verb into the past time.

Jump

becomes

Jumped

The “ed” on the end of the word makes it past time. Think of the € added to the front of a
Greek verb in the same way.

If the Greek verb has an augment on the front, it is in the past time.
So you get two clues you are in the past: the augment and the secondary endings.
Let’s experiment with a few examples.
PAénw means “l see.” What would the following forms of fAénw mean? Cover the

answers on the right and see if you can figure out the translations. | will translate them
all using the continuous aspect.!

PAEmelg You are seeing

PAémete You (all) are seeing
PAEmouot [ am being seen

PAémeabe You (all) are being seen
EBAemov I (or they) were seeing
EPAEmOUEY We were seeing

ePAEmeTo He/She/It was being seen
¢PAEémovTo They were being seen

' The primary forms in these examples are all present tense, which can be undefined or continuous
aspect. The secondary forms are all imperfect tense, which can only be continuous aspect. More about
this soon.
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The hardest part of this by far is figuring out the English. Compare the nice compact
Greek verbs with the complicated English translations.

Aren’t you glad you are learning Greek?

And if you are feeling blown away by all this new information, don’t give up! We will be
seeing this again and again and again and again...

You will get it!
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23. Contract Verbs

Lesson in a Nutshell
Contract verbs are verbs whose stem ends in an o, € or 0. When this

happens, the contract vowel and the first vowel of the personal ending
chanae into somethina new.

As we have seen, Greek modifies verbs by adding letters to the front and back. This
creates all kinds of collisions.

Most of the time, no blood is shed. But when certain vowels collide with each other, they
morph into something new.

This is a simple chart that accounts for nearly all collisions of vowels.

Vowel Contractions
00, OE, €0 => 0V

any other vowel + O or 0 => @

omn, €01, OEL => Ol

contract vowel + first vowel of diphthong
implify if the same, otherwise contract

Since we do not have to write Greek, only read it, we do not have to become experts at
this. We only have to recognize when a collision has happened so it doesn’t throw us for
a loop.
One of the most common places to see these collisions is with contract verbs. This is a
great place to practice on some collisions.
Contract Verbs

Contract verbs are verbs whose stem ends in an o, € or 0. For example:

LYOLTTOLM is an OL contract verb, meaning “l love”

TTOLEW is an € contract verb, meaning “l do”
TE?VT]pO(x) is an O contract verb, meaning “I fill”
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You can easily recognize contract verbs by the vowel before the final omega.

When the personal endings are added to the contract verbs, vowels collide and result in
some odd looking personal endings. But there is really nothing odd about it. It is just the
normal combination of vowels.

See if you can use the vowel contraction table below to figure out the following
collisions. Don’t worry about accents.

Vowel Contractions
00, OE, €0 => 0V

any other vowel + O or () ->

01, €01, OEL => O1

contract vowel + first vowel of diphthong
implify if the same, otherwise contract

Present, Active Contract Verbs

o € 0

QLYOUTTOLW TOLEW TANPO®
ayom______ |0 o ot X0 AN 0w
ayom______ o elg oL £ €1 AN 0 £1C
ayom_____ o el moL______ £ €1 AN 0 €l
ayon_____ |oopev fmor_______ g ouev | mAnp 0 OLEV
ayam_____ |oete moL_____ € £1¢ AP 0 £1¢
ayam______ |o ovowv o g ovowv [ TAnp 0 OVOLV
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Here are the answers.

owomm TOL® TANP®
3 owomag - TOLELG n?mpou;
"8 oryouma .8 TOLEL -8 n?mpm
gayommuev 2 TO0DPEV 3 TATPODPEV
QLYOLTIOITE nowws TANPOVTE
QYUTAGLY  TOLODOLV TANPOVOLY

Again, you do not have to write Greek, just read it. So if you can just recognize contract
verbs, you will be able to understand the strange looking endings.

You do not have to be an expert.
You just have to be able to do two things.

1. Recognize that the strange personal ending is due to the fact that you are
dealing with a contract verb.

2. Recognize the shape clearly enough to see which personal ending is being
used.
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24. Regular Roots & Stems

Lesson in a Nutshell

Beginning with a root (like Av), Greek verbs follow a few obvious and

consistent patterns to show us their tense.

Let’s begin with AVw, a nice, regular verb that plays by all the rules.

On your Master Chart, you will notice that some of the boxes are shaded. These are the

oddballs. Never fear! We will master them soon. | have deleted them in the picture

below.

Active
“l was

Elvov
EAveg
EAvev
EAdopE
eAdETE
EAvov

Indicative Mood

loosing”

Imperfect

augment, present tense stem

secondary endings

Middle/Passive
M: “I was loosing for seif”
P: “l was being loosed”

EAVOUTY
eAvov
EAVETO

v £AVOpEd
EAdechE
eAdovio

Personal Endings

Present

Present tense stem (lexical form)
primary endings

Active

Mid/Pass

“I loose” M: “I am loosed for seit”
P: “l am loosed”

Ao
Aderg
Aver
Adopev
Avdete
Adovory

Adopot
AdY
Adeton
Avopefo
Adeobe
Adovron

Future
O before
primary endings

Active

“I will loose”
Moo
Aoerg
Adoer
AMdoopev
Adoete
Adoovary

Middl:

“I will loose for seif"

Adoopot
Aon
AMdoerton
Avoopebo
AMdoeobe
Avooviar

Aorist

augment, OO,
secondary endings

Active
“l loosed”
Elvoo
EAvoog
EAvoev
EAdoOpEY
EAdoate
Edvoav

Middle
“I loosed for seit”

eAvoapuny
eAMdow
EMdoato
eAvoapedo
erdoacte
erdoavTto

Perf Act

reduplication, K
primary act end
Active
“I have loosed”
AEAvKOL
AEAVKOG
AEAVKEY
AeAOKopEY

Aehvxate
AeAOKaOLY

Tense Stems
. Present
. Future
. Aorist Active
. Perfect Active
. Perfect Middle/Passive
. Aorist Passive

Perfect Middle/Passive

reduplication, N0 K, no connecting vowel
primary m/p endings

M: “I have
loosed
for self”

P: “I have been
loosed”

Aor Pass
augment,
secondary act end

Passive

“l was loosed”
EAVBNY
EADOTG
£A00N
EADOTuEV
EAdOnTE
EMddnoav

Mid/Pass
Aédvpon
AeAvoat
AeAvTan
Aedvpebo
AEAvobe
AEAOVTOL

Future Pass

primary m/p endings

Passive
“I will be loosed”

AvOroopan
Avbnon
Avbroeta
AvBnoopeda
Mvbnoecte
Avonoovral

As you can see, there are many forms. But remember: there are only a few patterns.

As we have seen, the personal endings tell us the person and number as well as the

voice.

There are only a few clues we need to recognize to determine the tense.
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This is the “recipe book” to make all the tenses of Abw. Here is some great news: The
clues for Aow hold true for almost all the verbs!

Recipes for Verbs

Tense Clues Meaning
Present Present tense stem (lexical form) Ongoing or undefined
AV primary endings aspect, present time
Imperfect augment, present tense stem , -
EAvOV secondary endings Ongoing aspect, past time
Future before Undefined aspect, future
Ao primary endings time
Aorist augment, o0, Undefined aspect, past
eAvoo secondary endings time

Perfect Active

reduplication, k¥

Perfected aspect, past to

AEAVKOL primary active endings present time
Perfect reduplication, no K,
Middle/Passive no connecting vowel Perfected aspect, past to
/ . . . . present time
AEAVLLON primary middle/passive endings

Aorist Passive
eAuonV

augment, On
secondary active endings

Undefined aspect, past
time

Future Passive
AvOnoopoit

primary m/p endings

Undefined aspect, future
time

Now let’s look at these forms, one at a time.
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Present (active & middle/passive) Tense

Imperfect Present Perf Act
augment, present tense stem Present tense stem (lexical form) reduplication, K
secondary endings primary endings primary act end
Active Middle/Passive i Mid/Pass . Tense Stem:
“I was M: “l was loosing for self” “I r M: “l am loosed for seir”| Active 1. Present
loosing”  P: “| was being loosed” P: “l am loosed” 1 haye loosed" g ::h'"IeAcﬁv
“vov Aviuny : ; Kikoca el
“Aveg EAdov 1 Aehvkag 5. Perfect Middle/Passive
Evev £AvETO b 0 Aéhvkev 6. Aorist Passive
EAdopev EAvopeda v 0O B Aehvxopev
Endete EAdecte p: Aehvxare
“vov Erdovto v 3 ¢ Aehvxaoty

Indicative Mood

Perfect Middle/Passiv

. ] ion, no K, no ing vowel
Personal Endings primary m/p endings

Active Middle .
“I will loose" *I will 00se for i’ M: 1 have MMAPaw
Moo Aoopon loosed EAvpo

0 0 Aedvoot
Moeig Mon forsal” Loty
Moer Moeta ) o
AMoopev Mvoopeda [y Pl havef;een Mmﬁg:
AMooete Moeobe s loosed’ Ly
AMboovoLy Mooviar VIO

Aorist Aor Pass Future Pass
augment, OCL, augment, ne
secondary endings secondary act end primary m/p endings
Active Middle Passive Passive
“lloosed”  “I loosed or sei” “| was loosed” “I will be loosed"
“voa EAvodunY edony AvBricopan
EAvoag oo EA6ng Mbion
Elvoev Eddoato A AMvbroeton

E\boopey  Ehvodpedo 5 eAvnpev Abnodueda
eAdoate EMdoncle [N C eAvenre Avbrioecte
EAvoay E\doavro 5 3 EdBnoay AvBioovrat

Zoom in!

Personal Endings 4 Present I
Present tense stem (lexical form)
primary endings

Active Mid/Pass

“l loose” M: “I am loosed for self”
P: “l am loosed”

AVO AVOLOL

AVELG AV

AVEL AVETOL

AVOEV AvOpEda

AVETE AvecBe

\M')ouow AvovTOoL )

When we learn a verb in Greek we will learn it in the present tense. Because of this, the
clue in the present tense is that there is no clue! The present looks just like the lexical
form with the primary endings attached.
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Imperfect (active and middle/passive) Tense

Imperfect
augment, present tense stem
secondary endings

resent Perf Act
Present tense stem (lexical form) reduplication, K
primary act end
Tense Stems
1. Present
2. Future
3. Aorist Active
4. Perfect Active
5. Perfect Middle/Passive
6. Aorist Passive

“l was M: “I was loosing for seif”
loosing”  P: “I was being loosed”
EAvov Edvouny
EAveg EAdo
Evev EAvETO
erdopey EAvopedo
EAdete eAdecte
Edvov eAdovio

M: 1 am loosed or soi” Active
P: “l am loosed" “I have loosed"
AeAvKe
Aédvkog
AeAvkey
Aeddxoyey
Aehvkate

Indicative Mood

Perfect Middle/Passive

reduplication, N0 K, no connecting vowel

primary endings primary m/p endings
Active Middle

“I will loose”  “I will loose for selr”
Mow Moopot
Moeig Moy
Moer Moeton
Adoopev Avoopeda
Moete Moeobe
Moovoty Moovial

Mid/Pass
Aéhvpon
AehvooL
AeAvran
AeADpefo
Aehvobe
Aehovran

P: ‘I have been
loosed”

Aorist Aor Pass
augment, G0,
secondary endings
Active Middle
“l loosed”  “I loosed tor seif”| “I was loosed”
Avoa EAvoauNY t:el\:lOnv
EAvoog Ao EAdng
EAvoev EMdoato EAoen
EMdoopey  EAvodpeda ;zl\:uenpsv
eMdoate eddoace [ EAvonTe
EAvoay eddoavto Evbnoav

Future Pass

augment, c

secondary act end
Passive

primary m/p endings
Passive
“I will be loosed"

Avdnoopat
AMinon
Avdnoetol
M)Gfm’msea
Avbrioecte
Avbricovron

Zoom in!

[

Personal Endings

Imperfect N

augment, present tense stem
) secondary endings

Elg Active Middle/Passive

EL “l was M: “I was loosing for seif”

OUEV

ETE

0VOL(v)

ov

EC

loosing”
EAVOV
EAVEC
EAVEV
EAVOLEV
EAVETE

P: “I was being loosed”

EAVOUNV
EAVOV
EAVETO
EAVOpEd
EAMVECDE
EAVOVTO

\’éluov

J

The imperfect tense is built on the present tense stem.

Since it is in the past time, we attach an augment to the front of the verb and use the
secondary endings.
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Future (active and middle) Tense

Imperfect Present Perf Act
augment, present tense stem Present tense stem (lexical form) reduplication, K
secondary endings primary endings primary act end
Active Middle/Passive Active Mid/Pass
‘I was M: “I was loosing for seif” “I loose” M: “I am loosed for seit”| . .
loosing”  P: “l was being loosed” P: | am loosed” 4 haye loosed’
EAvov EAvouTY M:m Aéhvxa
EAveg £Adov Meig 1) Aéhvxag
EAvev £Aveto el Aéhvxev
Erdopev EAuopedo Mdopev ; B Aehxapev
EAdete eAdecte Avecbe % Aehbrare
& EMdovio Movron 5 : Aeddxaoty

Indicative Mood

Perfect Middle/Passive
. > reduplication, N0 K, no connecting vowel
Personal Endings . i primary m/p endings

Active Middle "
“I will loose” “I will loose for self’ M: I have Mid/Pass

Mow Adoopat loosed ﬁ:\ﬂlm
Mboerg Ao forsel” xéh‘::“
AMooer Adoetan P-4 have b AeMbicbor
Adoopev Mvoopedo [ < "1 have been 7
Moete Moeole b loosad tk::?;
Mooovory AMboovron

Aorist Aor Pass Future Pass
augment, O0L, augment, me
secondary endings secondary act end primary m/p endings
Active Middl Passive Passive
“lloosed”  “I loosed for seif”, “I was loosed” “I will be loosed"
Evoa EAdvaaunv Flll)GnV Avbroopar
EAvoag edow EAdeng Mbnon
E\voev EAdoato £Aven Avbnoetan
EAdoapey  EAvodpeda ~ EndBnuev Abnoopedo
eAdoate eAdoacte [N K eAdbnte AbricecBe
EAvoay erdoavto 5 5 Erdnoay AvBroovian

Zoom in!

Personal Endings / F uture \

O before
primary endings
Active Middle
“I will loose” “I will loose for self’
AVO® AVCOpOL
AVOELG AvoT
AVOEL AVOETOL
AVCOUEV Avoopefo
AVOETE AVoecOe
Kﬁ.\')oouow AvoovTOL Y,

The future is built on the future tense stem. In the case of A0w, it is the same as the
present tense stem. As we will see, sometimes it changes a little.

But the big clue for the future is the ¢ before the primary endings. It is usually very easy
to spot.
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Aorist (active and middle) Tense

Imperfect Present Perf Act

augment, present tense stem Present tense stem (lexical form) reduplication, K

secondary endings primary endings primary act end
Active Middle/Passive Active Mid/Pass "

“Iwas  M: “l was loosing forseif”" “lloose”  M: “I am loosed for sei’| Active
loosing”  P: | was being loosed” P: “l am loosed” I have loosed"
EAvov EAVOINY Ao Adopat Aéhvxa
Elveg eadov e A7 Aehvrag
EAvev £Aveto e Mdeton Méhvkev
EAdopev EAVopeda Adopev Avopedo B Aehdrapev
Eldete EMdecBe Aete AMdeobe > Aehdrare

£Adovio Adovary Movron g : AehvxaoLy

Indicative Mood

Future Perfect Middle/Passive
. O before reduplication, N0 K, no connecting vowel
Personal Endings  primary endings primary m/p endings

Active Middle "
I will loose” | will Ioose forsoi” M: I have Mid/Pass
0 o AéAvpon
Moo Moopot loosed Moo
Ao Ao pias oo
Mooer Moetan ) pon
AMooopev Modpeo [ P: I have been ulzzg Ea
Moete Moeobe ~ loosed vy
Mooty Moovion vToL

Aorist Aor Pass Future Pass
augment, G0, augment, e
secondary endings secondary act end primary m/p endings
Active Middle Passive Passive
“l loosed”  “I loosed for selr” “I was loosed” “I will be loosed"
o EAvodunY edeny Avbricopat
‘EAvoag Edow EAdbng Avdnon
Evoev Edoato eden Avbrioetan
EMdoapey  Elvodpeda B EAdnpev AvBnoodpeda
Edoate edoace [N e eAdonte Avbnoecte
Evoav Edoavto 5 5 EdBnoay AvBricovian

Zoom in!

Personal Endings / AoriSt \
augment, OOL,
secondary endings

Active Middle

“I loosed”  “I loosed for self”
EAVOQ EAVOOUNV
EAVOOC EAVO®
EAVOEV EAVCOLTO
gEAvoopey  EAvoapeda
EAVOOITE EAVC0C0E
K’ékooav EAVCOVTO )

The aorist tense is built on the aorist tense stem. Usually this is easy to spot and looks
just like the present with oo attached. Sometimes it is unusual. But more of that later.

Because the aorist tense is undefined action in the past time, it uses an augment and
the secondary endings, just like the imperfect.

The big clue for the aorist is the ca. As you can see, the ca makes the secondary
endings look a little different. Mainly, the connecting vowel gets swallowed up by the o,
but the endings are still perfectly recognizable.
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Perfect (active) Tense

Imperfect Present Perf Act
augment, present tense stem Present tense stem (lexical form) reduplication, K
secondary endings primary endings primary actend

Middle/Passive Active Mid/Pass . Tense Stems
M: “I was loosing for seif” “lloose”  M: “l am loosed for sei’ ; Active X 1. Present
loosing”  P: “| was being loosed” P: “l am loosed” 1 ha:/e loosed 2. Future
Evov EAVOPNY Ao AeAvKe

3. Aorist Active

v 7 4. Perfect Active
EAveg EAdov Aderg Aehvrog 5. Perfect Middle/Passive
EAvev £Mdeto Ader 0 Aehoxev 6. Aorist Passive
EAdopev EAvopeda AMopev 6 B Aehdrapev

E\dete £Avecte Mete 0 > Aehdrate

EAvov £Adovio v AMovrar 3 ; AeAvkaoLy

Indicative Mood

Perfect Middle/Passive
i no K, no ing vowel
Personal Endings primary endings primary m/p endings
Active Middle

“I will loose” *I will [00se for set’ M: “l have Mid/Pass

. . AéAvpat
Moo Moopot loosed AeAvoar
AehvTan

Adoelg Mdon for self”
AMboer Moeton .
Moouey  Avoousta P:thavobosn  Mehinsdu
Moete Adoecte  [i8 S loosed A_én,w ©

AMboovoLy Myoovion oVt

Aorist Aor Pass Future Pass
augment, O0L, augment, c .

secondary endings secondary act end primary m/p endings

Active Middle Passive Passive

“l loosed”  “I loosed for seif"| “I was loosed” “I will be loosed"

Evoa EAvaaunv EAdny AvBricopon

EAvoag Erdow éll:ﬁn; Avnon

Evoev eAdoato £ Mvobroetan

Eddoopev  Elvodpebo R EAdBnpev AvOnoodpedo

EMdoate eMdoacle [N 5 EMvbnte AvBnoece

Evoay eAdoavo 5 5 £rbBnoay AvBricovian

Zoom in!

Personal Endings K Perf Act \
reduplication, K
primary act end

Active
°:;" “l have loosed”
Vo) AEAVKQ
ov AEAVKOG
eg AEAVKEV
AEAVKOUEY
AEAVKOLTE

AEAVKOLOLY
\ J

The perfect active is different from the perfect middle/passive, so it gets its own tense
stem.

The clues to look for in the perfect active are

Reduplication® on the front of the verb and
K before the primary active endings.

As you can see, the endings get swallowed up by the o, just like they did in the aorist

and this makes them look somewhat different. But remember: look for shapes. Don’t
insist on exact duplicates.

1 Reduplication means duplicating the first consonant of the word and separating it by an €. For example,
AU > AeAu
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Perfect (middle/passive) Tense

Imperfect Present Perf Act
Present tense stem (lexical form)
gs primary endings
a Mid/Pass )
M: “ was loosing for selr” “ " M:“l am loosed for so"| . Active )
loosing”  P: “| was being loosed” P: “l am loosed” 1 haye loosed'
EAvov EAvouTY « M:'UWH Mervra . Perfect Active
Ehveg EAdon A Aedvxag 5. Porfect Middie/Passive
EAvev eAveto et AéAvKeV 6. Aorist Passive
EAdopev EAvopedo Avopedo B Aehvxapev
E\dete eAdeche Aveobe % Aehdore
£Adovio Movrar g : AeddxaoLy

reduplication, K
primary act end

Indicative Mood

O before
Personal Endings primary endings primary m/p endings

Future Perfect Middle/Passive
lication, no K, ing vowel

Active Middle Mid/P
“I will loose”  “I will loose for seir" M: ‘1 have

0 0 AEADjLOL
Moo loosed €
Mdoerg Yo P xk\‘:;\
N i P: “I have b Aehdyedo
Mdoopev Moopeto [ : I have been e
Moete Moeobe ~ loosed” t&\\:?;
Mooovay AMboovran i >

Aorist Aor Pass Future Pass
augment, O0L, augment, ne
secondary endings secondary act end primary m/p endings
Passive Passive
“I was loosed” I will be loosed"
EAdony Avbroopon
EMdeng AM0on
A0 Avbrioetar
f;:M}Gnuzv AvBnodpebo
eAvbnte AvBrioecte
Erdenoay Avbricoviat

Zoom in!

Personal Endings " Perfect Middle/Passive

reduplication, N0 K, no connecting vowel
primary m/p endings

Mid/Pass

OpEV M: “I have Aol
°‘f;f‘“’ Ioose”d kék\)ﬁat
for self X
d AEAVTON
. P: “ have been AEAVLEDOL
loosed” AEAVOOE

AEAVVTOL
\ %

The perfect middle passive is a bit of an oddball. The forms are not very difficult to
recognize.

Because they are perfect, they are reduplicated.

There is no k. Instead, the primary middle/passive endings are tacked on without a
connecting vowel. In the second person singular, there is a strange form: cat. Actually,

this is the true form of the second person singular that gets all twisted around in the
other forms. Sigmas cause problems for Greek verbs (ca1).
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Aorist (passive) Tense

Imperfect Present Perf Act
tem Present tense stem (lexical form) reduplication, &
ngs primary endings primary act end
Active Mid/Pass 5
: “lloose”  M: ‘I am loosed for so" Active
loosing”  P: “l was being loosed” P: “l am loosed” ‘I /"ar/e loosed"
EAvov EAvOuNY Ao Adopat Aedvxa
Elveg £Adov Aderg Ay
EAvev £AvETO Aer Meton
EAdopev EAVOpEdD Adopev Avopebo
E\dete eAdecBe Adete AMeobe
Edvov eAdovio Abovary Movran

AEMVKaG 5. Parioc Middaassive
AeAvKEV 6. Aorist Passive
Aeddropev

Aeddrote

Aeddxaory

Indicative Mood
4. MéAvka

Perfect Middle/Passiv
. O before ication, no K, no ing vowel
Personal Endings primary endings primary m/p endings
Active Middle i
“I will loose”  “I will loose for seif" M: “l have mﬂm
Moo Moopar loosed me::
Moeig Mo forseif” Advron
Moer Aoeta . oAbt
AMooopev Avoopeto  [§ P: 1 have been mwz *
Moete Aoeobe g loosed byt
Aoovion VIO

Aorist Aor Pass Future Pass
t, OC, («

au

, augment, 1S

/ endings secondary act end primary m/p endings
Middle Passive Passive

“I loosed for seir| ‘I was loos “I will be loosed"
EAvoapuny :zz.\:usnv AvBnoopon
EAdow EMDBnG Avbron
eAdoato Erden Avbroetat
EAvodpea < EAdBnpuev AvBnoopede
eAdoaocte [N S Endente AMvdoece
EAdoavo 5 5 EbBnoav AvBricovian

E— ” Aor Pass )

augment, on
secondary act end
Passive
“l was loosed”
EAVONV
EAVONC
£A0ON
EAVONUEY
eAVONTE
\_ eAVBNoaV )

The aorist passive gets its own form. It is usually very easy to spot.
Because it is in the past time, it is augmented.
It uses 01 to identify itself. This usually sticks out like a sore thumb.

The odd thing about the aorist passive is that it uses secondary active endings. (You
would expect to use middle/passive endings.) But no big deal. The 61 makes it obvious

that it is a passive form. And the person and number are easy to spot if you focus on the
patterns.
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Future (passive) Tense

Imperfect Present Perf Act
augment, present tense stem Present tense stem (lexical form) reduplication, K
secondary endings primary endings primary act end
Active Middle/Passive Active Mid/Pass | Tense Stems
‘I was M: “I was loosing for seit” “I loose” M: “I am loosed for seit” Active 1. Present
loosing”  P: “l was being loosed” P: “l am loosed” ‘I haye loosed" 2. Future
EAvov EAVONY Ao Adopat Aéhvra i ::::m“‘le
EAveg eAdov Aderg Aon Aehvrog 5. Perfect Middie/Passive
EAvev £AveTo Ader Metan Aedvkev 6. Aorist Passive
EAdopev EAVOpedo Adopev Avopefo Aedvxapev
EAdete eAdeche Avete Meabe Aehdrote
EAvov eAdovio Adovorv Movron Aedvxaoly

Indicative Mood
4. AEAvKe

Future Perfect Middle/Passive
. O before reduplication, N0 K, no connecting vowel
Personal Endings primary endings primary m/p endings
 Acve - Midde Mid/Pass
I will loose”  “I will loose for seif M: “I have AEA
Moo Adoopot loosed EAOpaL
Aoerg Mo for seif” Aédvoan
; L Aedvron
Mdoer Moetan P-4 have b NeAbuebo:
b $ : “I have been
Mlmou.ev Mlmouesa . I ,, Aéhvobe
Moete Moecbe loosed p
) ) Aedvvron
Moovoly Myooviar

Aorist Aor Pass Future Pass
augment, OO, augment,

me
secondary endings secondary act end primary m/p endings
Active Middle Passive Passive
“l loosed” ‘I loosed for seit” “I was loosed” “I will be loosed"
EAvoa Edvoauny ?M:JGHV Avbrioopan
EAvoog Moo EAding Aviion
E\voev eAdoato £Av6n AvBnoeton
EAdoopevy  EAvoduedo R eAdBnpev AvBnoopedo:
erdoate eMvoacte [N K eAvbnte AvBroecle
EAvoay eMdoavto 5 5 eAvnoav Avbrioovral

Zoom In!

Personal Endings /Futu re Pass\

primary renT)}g) endings
Passive
“I will be loosed”
AvOnoopon
Avinon
AvOnoeTon
AvOnocopedo
AvOnocecOe
\_ AvOnoovron )

The future passive is sort of an oddball. It is built on the aorist passive tense stem. But it
is easy to recognize.

It uses O1\c to identify itself. We are used to thinking of o as an identifier for the future.
Plus, we use the primary middle/passive endings, which makes sense.

Actually, even though this is an odd form, it is very easy to recognize. The 01| will
shout, “Future passive!” to you.
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So there you have it. All the forms of AVw!

But here’s the deal: If you understand how AUw changes to show you its tense, you are
well on your way to understanding Greek verbs, because most of them follow a similar

pattern.

One more time. Here is a summary of the clues that will be used to recognize tense.

Take some time to make friends with this table!

Tense Clues

Present Present tense stem (lexical form)
Ao primary endings
Imperfect augment, present tense stem

EAVOV secondary endings

Future before

Ao primary endings

Aorist augment, 60,

gAVOOL secondary endings

Perfect Active

reduplication, k¥

AEAVKOL primary active endings

Perfect reduplication, no K,
Middle/Passive no connecting vowel

AEALLLOL primary middle/ passive endings

Aorist Passive
oMV

augment, On
secondary active endings

Future Passive
AvOnoopuon

primary m/p Cndings
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25. Adverbs

Adverbs modify verbs. They do not change form.

What a relief to come across a topic that can be learned as as adverbs!

Two factors make Greek adverbs very simple.

1. They do not change form. Yep! You heard me right. They don’t morph, decline,
shape-shift, or otherwise modify their appearance. Once you learn an adverb, you're
through. Yay!

2. There aren’t very many of them. Greek uses adverbial participles and adverbial
conjunctions to modify verbs. These aren’t so easy. But the pure adverbs themselves
could not be more simple. In fact, here are all of the adverbs used more than fifty
times in the New Testament.

Cognates & Memory Aids

transliteration of Hebrew

truly exclamation amen

there

still, yet, even

immediately

now, already

not

but not, nor, not even

now

not

thus

again

how?

then

here
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In the following English sentences, | have colored the adverb light green and underlined
the verb it modifies. See if this makes sense to you.

1. The students studied diligently for the Greek test.

2. They spent three hours busily completing the exam.
3. They were not happy about their grades!

4. The instructor did not prepare them for the test.

5. He did not allow them to take the test again.

6. They went immediately to report him to the Dean.

Please notice that “not” is a very common adverb. It takes the meaning of the verb and
turns it into its opposite. In John 1, we will see “not” used repeatedly.

(Did you notice that in the sentence above, that “used repeatedly” is another example of
an adverb?)

That’s really all there is to adverbs!

"
s " X
N0 e e

The students cheered wildly at the good news!
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The Labyrinth
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26. Liquid Verbs

Lesson in a Nutshell

Liquid verbs have stems that end in A, U, v or p. When these consonants

combine with o, the sigma drops. This oddity occurs in the future and aorist
tense.

A Liquid Form: U€V®
Liquid verbs are verbs whose root ends in A, 1, v or p.
These letters are called “liquids.” They are called this because of the way air flows over
the tongue (A and p) or through the nose (1 and v) when they are pronounced. But no
need to worry about those details.

For now, it is elementary to remember these four letters. That’s:

elementarly

or

Imnry

if you like.

)\, U, Vand

The quirk of these letters is that they do not like to be followed by ¢, so when a
personal ending uses a ¢ after these letters it simply drops.

QUICK QUIZ

Which tenses use a ¢?

(Turn the page for the exciting answer.)
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Future and Aorist!

Tense Clues

Future
/ O before

MO o primary endings

Aorist
augment O,

evOoa secondary endings

So liquid forms affect only the future and aorist tenses.

On your master chart, you will see that | have listed the liquid forms for the verb pévw.

Notice that uévw has a stem that ends in a liquid consonant, v. We could not use AUw
as an example of a liquid verb. Why? Because its stem does not end in a liquid
consonant. On all of the shaded verbs on the chart, notice that we had to use a different
verb (typed vertically in the bubble). AUw won’t work because AVw is perfectly regular.

Imperfect Present Perf Act 2nd Perf Act
augment, present tense stem Present tense stem (lexical form) ication, K T x

secondary endings primary endings brimary act end no
Active Middle/Passive Active Mid/Pass i )
‘I was M: “ was loosing for seif” “I loose” M: “I am loosed for seit” Active Active
loosing”  P: “l was being loosed” P: “l am loosed” “I have loosed" “I have become”
Evov EAvounY « Mo 0 sz).mm - y@'yovu
EAveg £Adon Mderg 07 Aéhvrag 8 réyovag
E\vev EAdeto Ader 0 AEAVKEV = yéyovev
EAdopev EAvopedo Aopev i Aekd E
EAdete eAdecte Mete 0 > Aehdrate =
EAvov eAdovro Adovory : e

Personal Endings

rec
primary active endings

Yeybvaze

Liquid Future Perfect Middle/Passive
A, HVpP, no, . 3 reduplication, no K, no connecting vowel
primary endings primary m/p endings
Active i .
I will stay” “I will stay forsot” M| “ il loose” *I will Ioose forsat” M- “l have :ﬁﬂﬂ
peVe pevoipat Mow Moopot loosed w.‘.:iz:
peveic S pevil Aoelg Mo for self” ¢
Y 5 : : Aedvran
Hevel *g_ peveitot Moer Avoetan
pevodpev  pevoipebo Adoopev Avoopebo [
peveite peveiofe Moete Moece
6. Aorist Passive pevodotv  pevoivion Adoovory Mdoovrar

e
o]
O

=
o

2
®

2

T

=

[]
(]

Tense Stems

P: “l have been Aehdueda
loosed” Aehvobe
AeAvvTan

Liquid Aorist 2nd Aorcihst Aorist Aor Pass 2nd Aor Pass Future Pass | 2nd Fut Pass
3 v, G, augment, stem change oment, G0, augment, augment, 1| 6nc ne
augmsscnonkr];, e iﬁg;o secondary endings 582:;?;;‘, cndir{gs sm,%é’;ry actend semnﬁarv‘ad end primary m/p endings primary m, > p endings
Active Middle Active  Middle Active Middle Passive , passive Passive Passive
“Istayed”  “I stayed or soi” 1 took 3 1 to0kforsel” “Iloosed”  “I loosed for seif’| “ was loosed” e “I will be loosed" “I will be loosed”
fpewa 5 epewapny € S Erapopny Evoa EAvoauny EAvony eypagnv AvBricopon Gmootadicopat
Epewvag > Epeive € ‘g_ EAdBov EMvoag EAdow EADBng fymm’l Adnon dmootod o7
fpewvev S Epeivoro 2 = '}W?W EAvoev erdoarto eAden ~ £ypadn Avonoeton AmoGTaA T ETON
B s , A 3 ENaBope0 Ebooye: oo 3 erdonpey EYpadnpuev AvOnoopedo. anoctadoopedo
Epetvate Epeivaote EAoBete eAdBeabe EAdoate EMdooofe [N K Erdbnte Eypadne Mbnoecte anootadcecte
Epetvay Epetvavo EroBov eAdBovio Evoav erdoavto 5 5 erdbnoav Eypadnoay Avoncovrat AmosTaA T COVTaL

OMOGTEAA®

In this chapter, | will give you a detailed explanation for how liquid verbs behave. Please
don’t get lost in the details. Remember the big picture!

The only thing you need to remember about a liquid verb is that it drops the sigma in the
future and aorist tense because ¢_does not like to follow A, 1, v_and p.
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lts € I eMelta ry, remember?

Let’s zoom in and look at Lévw, a great example of a liquid future.

Mévw: A Sweet Liquid Future

If pévw were not a liquid verb, we would expect the future to look like this:

Future

before
primary endings

Active Middle
“I will stay” “I will stay for seif”
LEVO® MEVGOpLOL

HEVOELG HEvoT
HEVOEL HEVOETOL
UEVGOUEV HEVGOpEBO,
UEVOETE pEVoecBe
UEVGOVUGLY  HEVOOVTOL

Do you see the problem? In each form we have a liquid (V) followed by a o.

But Greeks do not like liquids consonants
to be followed by sigmas!

So they drop the sigma. The result looks like this:

Liquid Future
x, LVP, no
primary endings
Active Middle
“I will stay”  “1 will stay for self”

HEVD 3 REVOULLOL
HEVEIS =  pevil
peveL X peveiton
peEvoDUEV  pevoupefo
UEVELTE HEVELCOE
UEVOVOLV  UEVOLVTOL

Why the strange augmented vowels with the circumflexes? Here is the full explanation
just in case you want to know. (Don’t get hung up on it.)

The actual tense formative for liquid futures is not o but €¢. Here is what happens,
taking the first person plural as an example.

Mt. Koivn 142



MEV + EC + OMEV
becomes
UEVECOUEV

But Greeks did not like sigmas to stand between two vowels
(They had issues with sigmas. | think they needed counseling.)

So they dropped the sigma
HEVEOUEV

Do you remember the vowel contraction chart?
€0 becomes ov.

The result is

UEVOUUEV

Too much information? Probably.

You do not need to remember all that. There are only two things you need to remember
to identify a liquid future.

1. After the liquid consonant (A, |, v, or p), the sigma is not used.

2. The endings of the liquid futures wind up looking just like epsilon contract

On the next page,
compare the liquid verb Luévw

with the contract verb mo1éw.
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UEV®
HEV®
LEVELG
HEVEL
LLEVOULLEV
LLEVELTE
LEVOVOLV

TO1EW

TOL®
TOLELG
TOLEL
TOLOVUEV
TOLELTE
TOLOVOLV

How will you be able to tell the liquid futures apart from the epsilon contract verbs?

There are two ways.

1. A liquid consonant will precede the personal ending if it is a liquid future. Notice that
this is not the case with To1£w. )\, M, V and p are your friends! Learn to spot them!

2. When you learn the verb, you will learn that it is not an epsilon contract. The lexical

form is p€vw, not uevéw.

MéEvw: A Liquid Aorist

Since oa is used in the aorist tense, we have a similar collision between a liquid

consonant and a sigma.

We would expect this.

A

r Aorist
augment, OOL,
secondary endings

Active Middle

“l stayed” “l stayed for seif”
ENEVOO, ELEVO TV
ENEVOOG EPEVO®
EWEVOEV ELEVOOITO
ELEVOOYEY epevoaedo
EMEVOOTE EMEVOOGOE
EPEVO OV ELEVOOLVTO
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See the problem?

In each form we have a liquid (v) followed by a
O.

But Greeks do not like
liquids to be followed by sigmas!

So they drop the sigma.

So instead, the liquid aorist looks like this.

Liquid Aorist
augment K,u,v, , o0,
secondary endings

Active Middle

“I stayed” ‘I stayed for self”
:t-?uewa 3 t:aua}vdunv
ELELVOG > ENELVOD)
fpewvev =2 épeivaro
EMELVOpEY  EpELvOpEdo
EMELVOLTE EMELVOODE
EPLELVOLV EMELVOLVTO

Do you see how the sigma dropped out, leaving just the alpha? In the liquid aorists
there are no strange vowel contractions, just a missing sigma.

Instead of
oo
00G
OEV
OOUEV
OOTE
oov

We have
o
ag
eV
aUeV
atTe
o
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But there is one other difference that you might notice.
The vowel in uev became petv
Why?

Here is an answer you need to get used to:

It just does!

There are many things in language that just happen. | suppose there is a long historical
explanation of why. But it is best to just accept it.

As we will see,

Often with the liquid verbs,
there is some sort of vowel change.

No big deal!
We will still be able to recognize them.

Look for basic shapes. Do not insist on exact forms. We are learning to recognize
general patterns. This is the key to the Greek verbal system.

To Summarize
Liquid verbs are verbs whose stem ends in a A, U, v, orp.

When the sigma of a future or aorist tense formative comes into contact with these
letters,

1. The sigma drops.

2. The vowels can do funny things.

That is all there is to the liquid verbs.
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27. Second Aorists

Lesson in a Nutshell

Rather than using oo to show that they are aorists, second aorists undergo
a stem change. This is not unlike how in English the past tense of “go” is
“‘went.”

Rather than using oo to show that they are aorists, second aorists undergo a stem
change.

If you understand the previous sentence, you understand second aorists. That’s all
there is to them.

It is easiest to show what a second aorist is by beginning with English.
In English, we have a regular way to put things in past tense — we add ed.
So, for example:

Today I clean.
Yesterday | cleaned.

Today | play.
Yesterday | played.

But there is another way that English verbs move into past time. They undergo a stem
change. For example:

Today | teach.
Yesterday | taught.

Today | go.
Yesterday | went.

Today | run.
Yesterday | ran.

Little kids often say something like this:

Yesterday | goed swimming with my mom. We correct them and say, “Yesterday you
went swimming with your mom.”
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But actually, the kid is applying a logical rule to “go” to make it into “goed.” The problem
is not with the kid’s logic. The problem is with English!

In Greek, second aorists are exactly like this. We have already seen one thing Greek
verbs do to show they move into past time — they add an augment to the front of the

verb.

But how do Greek verbs normally indicate they are in the aorist tense?

For example:

They add oa.

AMw | loose
floa | loosed

Prentw | see
EPAeal | saw

Second aorists do not follow the rules.
They do not add oa.

They undergo a stem change.
Just like in English!

AauPavw: | take
e\afov: | took

paAAw: | throw
€Balov: | threw

Sometimes these changes are very obvious (as in Adupavw/éAapov.) Other times there
is only the difference of a single letter (as in faAAw/EBaAov.)

Which set of endings would you expect the second aorists to use, primary or

secondary?

Secondary, of course.
We are in past time.

' Notice that the o is “hidden” in the . éBAenoa became €BAea. See the square of stops.
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Without the oa, the endings look much more normal to us. In fact, the second aorists
look exactly like imperfects with one important difference:

the stem change

| put that in big, bold blue since it is so important to remember. Second aorists are
simply verbs that show you they have moved to the aorist tense by changing their stem

rather than adding a oa.

augment, present tense stem
secondary endings

Active Middle/Passive

loosing”  P: ‘Il was being loosed”

EAvOV EAVOUNYV
EAVEC EAVOV
EAVEV EAVETO
EAVOUEV EAvOopedo
EAVETE EAVECOE
\\’éxoov EAVOVTO

4 Imperfect )

“I was M: “l was loosing for self”

Personal Endings / 2nd Aori st
augment, stem change

secondary endings
Active Middle
“I took” “I took for self”
EAoBov § eAaopnny
= EdaBov
éhaev S éMapeto
edaBopev & EAaBopefo
ENGBete <~ EAGBecBe
\’éxaBov eAaBovo

eAaBov

J

Look at how Aaufdavw shows it is an aorist. No oa. Just the stem change.

Compare the second aorist of Aapfdavw with the imperfect of Abw. Do you see how

similar they are?

Here is the second aorist on the Master Chart.

Imperfect

secondary endings primary en

Mood

Evov EAVOPNY « Mo
EAveg eAdov Aerg
EAvev £AdETO Ader
erdopev EAvOpeda Adopev
E\dete eAdece AMete
EAvov eAdovio Aovory

ive

icat

Li
ALVP, noo, O bef

"" Ind

Active Middle Active

“I will stay”  “I will stay for seif” “I will loose” “I
pEVD pevoduon M:rom
peVELg pevi AMoeg
HEVEL peveiton Avoer
pevodpev  pevoipebo Moopev
peveite peveiofe Moete

6. Aorist Passive pevodolv  pevodvrot Adoovorv

3

>
&

=%

resent
augment, present tense stem Present tense stem (lexical form)
i dings
Active Middle/Passive Active Mid/Pass
‘I was M: “I was loosing for self” “l loose” M: “l am loosed for seit”
loosing”  P: "l was being loosed” P: “l am loosed”

Adopar
A
Mdetan
Avopedo
Meobe
Movron

quid Future Future

fore

primary endings primary endings

Middle
will loose for seit"

Mdoopon
Mo
Moeton
Avoopebo
Moeobe
Moovia

Liquid Aorist 2nd Aorist Aorist
augment, l, BV,p, noC, augment, smmd_unge augment, OQL,
secondary endings secondary endings secondary endings

Active Middle Active  Middle Active
“I stayed”  “I stayed for ser’” 1 took 3  took for seir” “ loosed”
Epeva 3 EpeVounY Ehafov = ‘}WW‘W :rél\xm
Epewvag > Epeivo EhoPec \g_ eAaBou EAvoag
Epewvev = Epeivato EhaBev S EMdBero EAvoev

Middle
“I loosed for seif”|
EAvoauny
EMdow
eMdoato
P

s s A EraBo1E0: A
Epeivopey  Epetvopedo M"WVU A AD
Epetvote Epetvaote EAdBere = eAdBeobe EMdoate
Epetvay Epetvavo Erofov EAéBovio EAvoay

EMdoacte
EMdoavto

Perf Act 2nd Perf Act

rec
primary act end primary active endings

Personal Endings

Active

“I have loosed" “I have become”
AeAvko yeyova
AeAvKag Yyeyovag
AéAvkev Yeyovev
aad 5

VKO N YeyovajLe
Aedvkote yeyovate
AeAvxaoty yeyovaotv

Perfect Middle/Passive
reduplication, no K, no connecting vowel
primary m/p endings
Mid/Pass

Aedvpon

AedvoaL

Aehvrton
P:“lhavebeen  MeMduebo

loosed” Aedvobe
AedvvTaL

M: “I have
loosed
for self”

Aor Pass | 2nd Aor Pass Future Pass |{' 2nd Fut Pass
augment, augment, | éng . ne .
secondary act end secondary actend primary m/p endings primary m/p endings
Passive , Passive Passive Passive
“I was loosed” 1was i “I will be loosed" “I will be loosed”

eAveny Eypagny AMvbroopet oo TOA 000
E\dbng f"'YP‘f""g Avbnon anootaA o
EA8n ~ £ypadn Avonoetan AmOoTaAOETOL
EAGOn EYpo: Avbnoopedo
f:l\»uen‘zs Eypadne Avinoecte
Evpd: Avbrcovian

anoctadoopedo
anoctadioecte
AmOoTaATCOVTOL

AMOGTEAA®
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Please notice that there are three types of aorists: Regular, liquid and second.
This has nothing to do with the meaning!

These are just different forms that aorists use to say, “Hey! I'm an aorist!”

One more time: What is a second aorist?

A verb that shows does not use oo to show you it is aorist.
Instead, it uses

a stem change!

That’s all there is to it.
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28. Deponents

Lesson in a Nutshell

A deponent verb has an active meaning even though its form is middle or
passive.

Verbs that start with vowels augment by lengthening the vowel.

Deponents are weird, but they are not difficult.

If you understand the following sentence, you understand deponents.

Deponents are middle or passive in form
but active in meaning.

Allow me to illustrate.
Consider a very common Greek verb, £pyouat (which means “l come”).

The ending is middle/passive, as you realize by now.

Personal Endings

Since £pyouat has a middle/passive ending, you would
expect the translation “I am come” or “| am being
come” (which doesn’t even make sense).

Never fear! The correct translation of £pyopiat is “|
come.”

See? £pyopat is middle/passive in form, but active in
meaning.
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How will you know if a verb is deponent? Because when you learn the verb, you see
that the ending is “opo” rather than “w.”

You will learn the word as £pyopat, not £pyw. There is no such verb as £pyw.

Deponent verbs are easy to spot in the lexicon because they will end in “ouat” rather
than “w.” This is because...

"Epxouoat is deponent.
It is middle/passive in form but active in meaning.

Here are thirteen of the most common deponents in Hellenistic Greek. Please notice
that four of the thirteen are forms of £pyopiat with a preposition attached.

Deponent Verbs (present)

ATMEPXOMAL | depart

amoKpivoual | answer

Gamans 1l [begi

(’XGT[O/(CO}JOH | greet, salute

yivouat | am, become

déxouat | receive

513VO(},10(1 | am able, powerful Dynamite gets the job done.
g1GEPYOUaL | go into

é&épXOpOﬂ | go out We go out through the exit.
EpYoual | come (go)

KAadnuat | sit

TPOGEPYOUAL | come to

TPOGEVYOUNL | pray

"Epyouoat indicates motion. The preposition shows the direction of the motion.
ard means “away from.” dmépyoual means “I depart.”
£1¢ means “into.” elgépyoual means “I go into.”
£k means “from, out of.” £€€pyopat means “l go out.”
1pdG means “towards, with.” Tpocépyopial means “I come to.”
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Verbs that are formed by a preposition plus a verb are called compound verbs. They
are very common in Greek.

Here are the present and imperfect forms of €pxouat.

Notice again that they are middle/passive in form, but active in meaning.

€pxouoatl  lcome nexounv | was coming

£pX1N You come npxov You were coming
EpxeTol He/She/lt comes Npxeto  He/She/lt was coming
gpxoueba We come npxoueda We were coming
€pxcobe  You (all) come npxeobe  You (all) were coming
gpxovtal  They come fpxovto  They were coming

That’s all there is to deponents.

Deponents are verbs which are middle or passive in form
but active in meaning.

Augmenting on Augments
Verbs That Begin with Vowels
Augmenting a verb is simple if the verb begins with a consonant.

AU becomes €AV

But what if the verb begins with a vowel, as is the case with £pyopa1? If we were to
simply add an ¢ it would look like this.

€€pX

You can probably guess by now that the Greeks did not like that barbaric double
epsilon. So here’s the rule.

If a verb begins with a vowel, it is augmented
by lengthening the vowel.

gepy becomes 1py

Mt. Koivn 153



Here is another example of augmenting a verb by lengthening a vowel.

ayom® YOTT®OV

I am loving I was loving

Verbs that begin with prepositions
(compound verbs)

Many Greek verbs begin with a preposition. These are called compound verbs.

Where do you think the augment comes on a verb that begins with a preposition:

] before the preposition or
] between the preposition and the verb?

The answer is:

When a verb begins with a preposition,
the augment comes between the preposition and the verb.

Here are some examples:

TEPIMATEW TEPLEMATION
TPOCELYOUAL npocnuEaunv
ETEPWTAW ETNPWTNOX
ATOOTEAAW ATMEOTEINQ

As you can see, the augment between the preposition and verb may do one of a
number of things, including

= simply add an € (as in TEPIETATNON)
= augment (as in TpocNLEAUNY and TN PWTHOW)

= change the vowel (as in dréoteiAa)

The trick is to look for some sort of change
after the preposition. If there is one, it’s probably an augment.
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29. Principal Parts

Lesson in a Nutshell

The principal parts of a verb are the six forms from which all others can be
made. They are always listed in this order:

1. Present

2. Future

3. Aorist Active

4. Perfect Active

5. Perfect Middle/Passive
6. Aorist Passive

Remember: All we are doing here is observing the crafty ways that
Greek verbs give us their tense, voice, mood, person and number.

We have seen how a regular verb like AUw behaves and how certain combinations of
vowels contract (lessons 21-24).

We have also learned about oddballs like

v Liquid futures and aorists, which drop the sigma after A, W, Vv,orp
(lesson 25).

v Second aorists, which change their stem to show us they are aorists
(lesson 26).

v Deponents, which are middle/passive in form but active in meaning
(lesson 27).

g‘r.\ »
enough already!

Every verb seems to have a mind of its own!

How will we keep this all sorted out?
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How did you learn the strange quirks of English? By repetition!

Thankfully, in Greek it is not as hard as English. Once we begin reading Greek in
earnest, we will learn to see these patterns easily. Context and other clues will help us.
Remember, right now we are just laying a foundation.

There is a slick way that each verb can be catalogued that shows us how it behaves in
every form.
By learning six forms of any given verb
(called “principal parts”)
we will know it inside out.

We already know the principal parts of the verb AUw and have studied the way this
marvelously regular verb behaves.

Imperfect Present Perf Act
augment, present tense stem Present tense stem (lexical form) reduplication, K
secondary endings primary endings primary act end
Active Middle/Passive Active Mid/Pass . Tense Stems
“l was M: “| was loosing for self” “lloose”  M: “l am loosed for seit” Active . Present
loosing”  P: “| was being loosed” P: “ am loosed” ‘1 ha:/e loosed" . iﬂi‘a’s'?mm
EAvov Aoy Ao Adopar AeAvra . Perfect Active
EAvec EAdov Averg Adn Aedvxag . Perfect Middle/Passive
EAvev EAvETO Aver Aveton Aedvxev . Aorist Passive

EAvopev EAvopeda Avdopev Avopebo AeAvrapev
eAdete EAdeche Avete Adeobe AeAvxare
Elvov eAdovio Avovarv Avdovran s : AeAvKaoLY

Indicative Mood

Future Perfect Middle/Passive
. O before reduplication, N0 K, no connecting vowel
Personal Endings primary endings
Active Middle
“I will loose”  “I will loose g o n
wi will I for self M: “l have Ao
Ao Avoopot loosed p
AMoet Aon for self” A‘?"‘”’“‘
DOELS , Aedvron
AMvoer AMoeton

primary m/p endings

Mid/Pass

AMoopev Avoopedo
AMoete Moecle
Adoovaory Adoovron

Aorist
augment, 0L,
secondary endings

Active Middle

“l loosed”  “l loosed for seit”
Elvoo EAvoauny
Elvoog EADOO
Evoev eAdoato
eAdoopey  Edvoapebo
eAdoote eAdoocBe
Elvoav eAdoavto

P: “I have been
loosed”

Aor Pass
augment,
secondary act end

Passive

“l was loosed”
Evenv
EADOTC
EAVBN
eAvOnpuev
EAVBNTE
EAVONOaY

AeAOpebor
AEAvoBe
AEAVVTOL

Future Pass
6
primary m/p endings
Passive
“I will be loosed"

AvBnoopon
Avbnon
Avonoetat
AvBnoopedo
Avonoecte
Avonoovion

The root of the verb AUw is Av. Six tense stems branch off from this root.
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Observe the vertical words, numbered 1-6. These are the tense stems. They will always
be listed in this order.

1. Present

2. Future

3. Aorist Active

4. Perfect Active

5. Perfect Middle/Passive
6. Aorist Passive

AU

# Tense Stem Form “Recipe”
’ Present tense stem (lexical form)
1 |Present AOw primary endings
2 |Future AVow _ O before
primary endings
3 |Aorist Active E\voa augment, 60,
secondary endings
4 |Perfect Active MéAvka reduplication,

primary active endings

, reduplication, no K,
5 |Perfect Middle/Passive )\E}\U}J.Oﬂ no connecting vowel
primary middle/ passive endings

augment, On
secondary active endings

6 |Aorist Passive é)\éenv

AOw is our friend because it behaves in a perfectly regular way.

Other verbs do not play so nice — or to be more fair to them,
they follow different rules.
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Here are the six principal parts of the verb amootéAAw. Let’s take a moment to discuss
what is happening in each tense stem.

)
ATIOOTEA
# | Tense Stem Form “Recipe”
2 i Present tense stem (lexical form)
1 |Present O(T[OGTE)\)\(L) primary endings
, » liquid future
2 |Future ATTOOTEAD drop the o after A, u v, p

primary endings

liquid aorist

i i A 1ré augment
3 |Aorist Active améoTeI drop the o after A, pv, p, leaving just o,
secondary endings
4 |Perfect Active ATTECTANKO reduplication, ¥

primary active endings

, ;o reduplication, no k.,
5 Perfect Middle/ O(T[SG'CO()\},[OH no connecting vowel

Passive . . ;o .
primary middle/ passive endings

, Second Aorist Passive
6 |Aorist Passive O(T[EGIO()\Y]V augment, N
secondary active endings

1. The present tense stem adds a A to the stem. It is normal for the present stem to
do odd things. It is actually the least regular.

2. The future tense lacks a o because of the A. It is a liquid future.

3. The aorist tense lacks a o because of the A. It is a liquid aorist. But where is the

augment? It comes between the preposition arto and the verb oteAAw (explained
in lesson 27).

4. Why the €7 This is the reduplication. Reduplications are added between the
preposition and the noun just as augments were. You may have wondered how to
reduplicate a verb that starts with a vowel. It would be odd to duplicate the first
vowel and separate it with an €. (amosootaAKa). Instead, verbs that begin with

vowels do something called a vocalic reduplication. These behave very much like
augments.

5. Why the £7? This is the reduplication. (See #4.)
6. This is a second aorist passive. All this means is that there is no 0. Instead, there

is only an 1.
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Here is a picture of arrootéAAw and its six stems.

( Imperfect )

augment, present tense stem
secondary endings

S /Aciile
OTECTEAALOV
T was sending

R
QMEGTEANOLNY

m:  was sending (for self)

<

1|
N~

p: I was being sent

( Present )

lexical form
primary endings
Active
3 ’
1 OTOCTEAAW
I send
Middle/Passive

OMOGTEAAOLLOL

m: 1 send (for self)

p: I am sent

(" Liquid Future )

7\.,],1.,\' orP,noC,

look like € contract verbs

S Active
QOO TEALD
I will send
Middl

OMOGTELODLLOLL

L will send (for self)

-

a

-

Liquid Aorist
ugment, x, KV,p, noGC,
secondary endings
Active

Ot OTELA

I sent

Middle

OUTLEGTELAOUTV

I sent (for self) J

1
2
3
4
5
6

Tense Stems

. Present

. Future

. Aorist Active

. Perfect Active

. Perfect Middle/Passive
. Aorist Passive
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( Perfect )
Active

reduplication, K
primary active endings

(Active)

OTECTOAKOL
I have sent

—

(" Perfect )
Middle / Passive

reduplication, (no )
primary m/p endings

no connecting vowel
(Middle/Passive)

QTECTOALLOLL
I have sent (for myself)

I have been sent

4 N

2nd
Aorist Passive

augment, T

secondary
active endings

P
QLT GTOATV

T was sent

iV

N7

N /

( 2nd \

Future Passive
primary m/p endings
>
(Passive)

QTOGTOA |~ OO

Lwill be sent

—



Here are the six principal parts of the second aorist verb PaAAw. (PaAAw is also a liquid

future.)
PaA

# | Tense Stem Form “Recipe”
/ Present tense stem (lexical form)
1 (Present [30(7\)\(,0 primary endings
» liquid future
2 |Future [30()\00 drop the o after A, pv, p
primary endings
second aorist
3 |Aorist Active EPaiov augment
stem change, secondary endings
4 |Perfect Active Béﬁ)\l’]KO{ . reduphc.atlon’ K
primary active endings
. , reduplication, no K,
5 Eeelgsei\clteMlddle/ BEB)\]’] Mat no connecting vowel
primary middle/ passive endings
6 |Aorist Passive EPANONV augment, n

secondary active endings

1. The present tense stem adds a A to the stem. It is normal for the present form to
do odd things to the stem. It is actually the least regular stem!

2. The future tense lacks a o because of the A. It is a liquid future.
3. Second aorist. In this case, the stem change is very small (drops a \).

4. Strange in that the o disappears and an 1) is inserted before the endings. An

oddball! But if you remember that the consonants carry the meaning and don’t get
freaked out about vowels dancing around a bit, you can recognize all the clues
and see what is going on. Remember the shapes.

5. (same explanation as #4)

6. (same explanation as #5)
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Here is a picture of BdAAw and its six stems.

( Imperfect )

augment, present tense stem
secondary endings

., Active
cBoAAov

I Pms throwing <
Middle/Passive
cBaAAdounv

m: I was throwing (for self)

-1
N

\  p: I was being thrown = )

( Present )

lexical form
primary endings
Active
’
1 BoAAw
I throw
Middle/Passive

BoAAoLLOL
m: I throw (for self)

p: 1 am thrown

[

-

look like € contract verbs

Liquid Future )
AL,V orp, no O,

Aclileﬁ
BoAw

I will throw
Middle

BaloD Lo
Twill throw (for self) )

-

("~ Second Aorist )

augment, stem change
secondary endings
Active
v
cBarov
I threw
Middle

“Bokounv

I threw (for self)

1

2.
3
4
5
6.

Tense Stems

. Present

Future

. Aorist Active

. Perfect Active

. Perfect Middle/Passive
. Aorist Passive
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( Perfect )

Active

reduplication, K
primary active endings
(Active)

’
BeBAnicol

I have thrown

—

4 Perfect )
Middle / Passive

reduplication, (no K)
primary m/p endings
no connecting vowel

(Middle/Passive)

eBANuLON
I havg thgowrrl }f‘z';r myself)
\ I have been thrown

~  Aorist

Passive

augment, 91’]
secondary
active endings

BANONV

T was thrown

~

T

2nd Aorist
Verb

BaAL®

( Future \

Passive
primary m/p endings

(Passive)

BAN 1 copon
Twill be thrown

J

—



In the Vocabulary Whacker, | have included every verb with its principal parts. Here is
an excerpt. Spend some time looking up and down the columns until you can spot the
patterns. Don’t worry yet about the i verbs.

Present Future Aorist Perf Act Perf M/P Aor Pass
b4 7/
ayama IO(IYO(T[O((JO ayannow yannox NyannKa nyamnuar | ayannénv
ove
ay XYW &Ew fyayov - Alyma #xonv
Ilead
ap | KIPW &pd fipa fipka fippat Aponv
I take up, take away
7 7/
are | ALTEW aitrow ftnoa Atnka fTnuat --
I ask
b4 /
axaAouBe dxoAovOEw axoAovBriow | nkoAovBnoa | NKoAoUONKa - -
I follow
akov | AKOLW dKoUow fKovox axNKoa -- nNKoveOnv
I hear
avapa O(VO(BOHV(O avapricopat | avéPnv avaPéPnka -- --
Igoup
aviota 0‘\’107‘1}11 _ dvaoTiow dvéotnoa avéotnka | &véotnuat | aveotadnv
I rise, cause to rise
awory JAVOLYW - avéwéa - - avexOnv
I open
anogpy | ATLEPXOMAL anelevoopar| anfiAbov | dameAnAvba - -
I depart
amoBov anoeVnGKw T anéBavov -- -- -
I die 1
anoxpwy || ATTOKPTVOLLOL - ATEKPLVAUNY - -- anexkpiOnv
I answer
QMOKTEV I(XIIEHOKTEIVCD ATMOKTEV® | amékTeva -- - amekTavony
i
etc!

Go to the Vocabulary Whacker to see the principal parts of every verb used used in the
New Testament more than 50 times.
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30. U1 Verbs, €iui

Lesson in a Nutshell

Mzt verbs are an ancient form of the Greek verb that behave slightly

differently than the others. For the most part, they are very easy to
recognize and the clues we have already learned will still apply.

There is one last form of the verb that we must mention. These are usually called the Lt
verbs because in their lexical form they end in [t in rather than .

In John 1 we will come across three 11 verbs: 818wit, dnut, and 1oL

For study purposes, | have added Tienm and SSiKvum to the chart below. The [Lt verb
is an ancient form. There are not very many of them in the New Testament but the few
that occur do so with great frequency.

Here are the principal parts of some 1 verbs.
What patterns do you see?

Present Future Aorist Perfect ;?:;3 Aorist
Active Active Active ; Passive
Passive
8‘2‘:\’/2“ Ole0) edwKo dedwiol dedopon £500MV
1?;25‘ oTNOW £0TN00. £0TNKOL £0T0.OMV
Tie‘nul ’ 9 ’ ’ £} ’
| place, put Onow eonko teberkol tebenon eTEOMV
88}1:&’) }/)vm delEw edetfo dedetyol £de1yOnv

For the most part, you would be able to parse the |11 verbs just by using the clues you

have already learned for the regular verbs. (q)nui is an unusual Lt verb that only occurs
in two tense stems, so don’t worry about it.)
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Here are the four strange twists that |11 verbs throw at you.

1. In the present tense, |11 verbs reduplicate the initial letter and separate the
reduplicated consonant with an iota.

This is easy to see with 518w{11. It is less obvious with the other examples. Here
is what happened.

The root of '{Grmu is oto.. When it is reduplicated, it becomes cioto. But the
repetition of the sigma was offensive to the Greek ear, so they turned it into a
rough breathing: 1oto.

The root of T1OnLt is Os. When this is reduplicated it becomes 610¢. You are
probably getting enough of a feel for Greek by now to know that this sound would
offend the Greek ear. So they de-aspirated the first 6 and made it a t: T10¢.

2. 1 verbs use slightly different endings in the present active indicative, as you can
see below.

Present

Active
Indicative

S1dwut
S18wc
S180o1V
S18ouev
31801E
3180001V

3. The stem vowel of the |11 verb changes a lot. It can shorten, lengthen, or drop out
completely.

4. Most of the 11 verbs use ko instead of oot to indicate aorist tense. These are called
“kappa aorists.”

However, in all the other tenses, the endings look like what we have come to expect. All

the clues apply. We simply have to be aware of the slight variations in the present active
indicative.
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Here is a sample of 518wyt with endings for your viewing pleasure. Notice how the
clues we have learned apply.

~

St Swow £dwKa dedwko  |S18d 0
S18mc dwoelg  |edwkog  |dedwkog  |S18am¢ Sag
S1dwotvy  |dwoet edwkev  |dedwkev  [S180 Sy
d1douev  |dwoopev  |edwkopev |dedwicopuey [S18wuev  |dmuev
d1801e dwoete  |edwxote  |dedwkote |S1dmTE d0Te
3180001V |dwoovoty |edwkav  |8edwrav  [d1dwoy  |ddoty

elui
elut is a very irregular i verb. It is also one of the most common words in Greek. The
best thing to do is simply memorize it. There is no aorist or perfect form of sip{.

et nunv eEoouon
Iam I was I will be
el e gon
you are you were you will be
EGTLV nv £0TOU
he/she/itis he/she/it was he/she/it will be
o] VEAY ﬁLLSV €O OLLSOOC
we are we were we will be
£0TE nte £0e00¢
you (all) are you (all) were you (all) will be
€1olv f]G(XV EOCOVTOl
they are they were they will be
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31. Subjunctive Mood

Lesson in a Nutshell

The subjunctive mood is the mood of probability, possibility, wishing, etc. It
occurs in only two tenses: present and aorist. It is easy to recognize
because

1. it is almost always preceded by certain words (especially iva and (v).
2. it has a lengthened connecting vowel.

Since outside of the indicative mood, tense no longer indicates time, an
augment is not used for the aorist.

So far, we have only encountered the indicative mood. This is by far the most common
mood.

Present Active Indicative 1 First Singular
Imperfect Middle SUbjunctive 2 Second Plural
Future Passive IMperative 3 Third
Aorist (Participle)*

peRfect (NHfinitive)*

In the next two lessons, we will conquer the subjunctive mood (chapter 31) and the
imperative mood (chapter 32).

You will find these on your Master Chart underneath the indicative mood.

Perf Act 2nd Perf Act

"* Indicative Mood
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As we have learned, the indicative is the mood used to portray reality. It makes
statements and asks questions.

| am hungry!
| will eat dinner after | finish this lesson.
Does anyone know in which drawer the knives are?

The subjunctive mood is used for possibility or probability.

If | were finished, | would eat.
| am hurrying in order that | might barbecue some hamburgers.

The subjunctive mood has three nice features that make it very easy to spot.

1. Subjunctives only use two tenses.
2. The endings of subjunctives are simple.

3. Context almost always tells you when to expect a subjunctive.

Let’s look at these one at a time.

Subjunctive Mood

* Present and Aorist
tenses only

% Look for lengthened
connecting vowel 2 Aot

% Look for a subjunctive ,
when you see: i‘,""‘.\
TV (in order that) VONTOL

1 Avompedo
OTOLV (whenever) . ¢ }\,'()0'11098

0C OLV (whoever) ,

e » AVCOVTOL
OOV OLV (wherever)

EMGQ unt) EWC OV (until)| “that I “that I ntf;}tltl
EAV (if) might...” | mightbe...” (for m'}'r.self)’
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1. Subjunctives only use two tenses
In the indicative mood, Greek tense tells us aspect + time.

But outside of the indicative mood, time is not a factor.

Mood / Part of Speech Tense Describes...

Indicative Mood Aspect + Time

Subjunctive Mood
Imperative Mood
Infinitives
Participles

Aspect Only

Remember that Greek has three possible aspects:

|. Continuous aspect

2. Undefined aspect

3. Perfected aspect

The subjunctive only occurs in the present and aorist tenses.

Ongoing aspect is captured by the present tense.

Undefined aspect is captured by the aorist tense.
This is why...

The subjunctive mood is found in the

Present Tense
and

Aorist Tense
only!
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There is no need for a “future subjunctive” since the subjunctive mood has nothing to do
with time.

There is no need for an “imperfect subjunctive” since the present tense already captures

the ongoing aspect and there is no need for a “past time” version. The subjunctive mood
has nothing to do with time, only aspect.

2. The endings of subjunctives are simple

AV® Mopot  [Mee  [Aowpor [Av8d
Aong [ Ao Aveng Mo AM0TC
AT Aonton  [Aon  [Monton [Aveq
AMopev | Awopedo. | Mowpev [Aodpedo | \vbdpev
M:m‘cs M:)ncee Monte  |AMonoOe [Avofte
Aoy | Abeviol |Awocwoty [AMowvtol Avedoty
“that] | “that]  |“thatl ntfgﬁtl | “that
mlght"'” mlght be...” rnight...” (for myse]f)” might be...”

Take a look at the endings of the subjunctive. What patterns do you see?

1. Notice the lengthened connecting vowel. In every case, it is either an r_or an w.

2. No tricks at all with the present subjunctive. Use the present tense stem and attach
the primary endings (with the lengthened connecting vowels).

3. The aorist uses oo but the o gets swallowed up by the big fat connecting vowel. All
that is left is the ©.

4. The aorist subjunctive is not augmented. This may throw you at first. We are used to
the aorist being augmented. If you think about it, I'll bet you can figure out why this is
the case.

+ What is the augment used for? ... To tell you we are in the past time.

+ But in the subjunctive mood, tense does not tell us about time, only aspect.
Therefore we do not need an augment.

This leaves the aorist subjunctive looking very much like a future. There is no
augment and no oo (since the o was swallowed by the lengthened connecting
vowel). But there is no such thing as a future subjunctive!
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3. Context almost always tells you when to expect a subjunctive

Even if you miss all of the other clues, context will still make a subjunctive very hard to
overlook. There are certain key words that are nearly always followed by a subjunctive.

If you see... Look for a subjunctive!

va in order that...
AV if..
(O,IO(i\/ whenever...
(OIQ C’)/(l whoever...
OTIOU (’),(7V whereever...
£WG, EWC AV until...

Do you see how @V is used in most of the clues? When we learned dv, we learned that
it was an untranslatable particle used to make definite things contingent.

untranslatable particle used to make

av definite things contingent

In other words, &V introduces uncertainty and uncertainty calls for the subjunctive mood.

A few other things about the subjunctive

1. Did you notice that there are two words used to negate things in Greek, ov and un?
Ouv is used to negate the indicative. V1 is used to negate everything else.

2. The most emphatic way to negate something in Greek is to use ov + 1] + the aorist
subjunctive. It’s like negating the possibility of the possibility!

KAYW 010wt a0Tol¢ (WwTV aivioy,

and]  amgiving  tothem life eternal

KOl 00 U1 ATOAWVTOlL €1¢ TOV ai@va

and not not  they shall perish forever
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3. The first person subjunctive may be used to exhort. This is called a “hortatory
subjunctive.”

ginev 0 Bed¢ [Tonowuev AvOpwOV
said  * God “Letusmake” man...

avaPouev €1¢ BatdnA

“Let us goup”into  Bethel

4. If a question is asked to which the answer is uncertain, the subjunctive may be used.
This is called a deliberative subjunctive.

Ti paywuev; TimiwUeV;
What shall we eat?  What shall we drink?
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32. Imperative Mood

Lesson in a Nutshell

The imperative mood is the mood of command. Like the subjunctive mood,
it is found only in the present and aorist tenses. Unlike English, Greek has a
third person imperative and the ability to indicate ongoing aspect when it
makes a command.

The imperative mood is the mood used for commands. It is much the same in Greek as
it is in English. However, Greek has two nice additions.

Addition #1
The Third Person Imperative

In English, the implied subject of the imperative is always second person: you!
If | say...
Listen up!
or
Quit slouching!
You assume that | mean
(you) Listen up!

or
(you) Quit slouching!

But Greek has a second AND a third person imperative. There is no great way to
translate a third person imperative. The best way to explain the third person imperative
is by an example.

One of the things Jesus sometimes said to the crowds was,

0 EXWV! WTU AKOVETW.
The one having ears let him hear!

' This is a participle. We will understand it very soon!
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GKOVETW is the third person imperative. Do you see how him/her/it is being
commanded? We translate it with “let him/her . But this is a pale substitution for
the Greek imperative. The Greek is stronger. It means something more like:

The one having ears.... HEAR!

Addition #2
Continuous Aspect

Remember that as soon as we leave the indicative mood, time is no longer a factor.

As we saw with the subjunctive mood, there are two aspects that can be captured with
the present and aorist tenses.

Ongoing aspect is captured by the present tense.

Undefined aspect is captured by the aorist tense.

These are the two tenses used by the imperative mood as well. In other words....

The imperative mood is found in the

Present Tense
and

Aorist Tense
only!

In English, the imperative is always undefined. If | tell you to study or to mow the lawn,
the aspect is undefined. | am not telling you anything about the kind of action involved.

But Greek gives the option of the present tense, which communicates an ongoing state
of affairs.

There is a great example of this in John 8. Jesus has just forgiven a woman caught in
the act of adultery. Having forgiven her, he issues an imperative.

TOPEVOL KAl AUAPTAVE,
G

) and no longer sin.

' There actually is a perfect imperative, but it is rare (only four in the entire New Testament).
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We translate this, “Go and sin no more.” But both Topevov and audptave are present
tense. Jesus is commanding an ongoing state of life, not just making an undefined
statement. This nuance is lost in English and almost impossible to translate without
awkwardness.

The Forms

With the subjunctive mood, we found that the forms were easy and that there were lots
of clues to help us spot them.

The same is true of the imperative. Context will help you to expect an imperative.

Even better, the endings never change.

Imperative Mood

(You) loose!  [You) loose toryousen: 25 AVOV (You) be loosed!
Let him loose! |Let him loose (orhimsery ~ 3s AvEcHw Let him be loosed!
(You) loose! (You) loose (foryourseiny  2p AVECHE (You) be loosed!
Let them loose! |Letthem loose for pemsevesy 3p AvECHWOCLY Let them be loosed!

s Aboov (You) loose!  [2s Avoon 2s AvOnTL (You) be loosed!

s Avoat®  Lethimloose! [Bs AvococBw  same [Bs Avbntw Let him be loosed!
p Aoote (You) loose!  [2p AUocioBe  above [2p AUBNTE (You) be loosed!

p Avodrwoov Let them loose! Bp Avodcbwoav Bp Aubntwoov Let them be loosed!

Second Aorist is identical to present except for the stem change.

In the
third person singular
second person plural, and
third person plural,
the endings are always...

W
TE

TWoav
in the active voice, and

0w
o0¢e

obwoav
in the middle or passive voice.
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Nice, huh? As you would expect, there is a o or 01 in the aorist.

As you might also expect, there is no augment in the aorist, since outside of the
indicative, tense has nothing to do with time.
The only trick is to learn the second person singular endings (in blue). These are fairly

common, so do your best to lodge them in your brain.

As usual, a second aorist will not tell you it is an aorist by using co. Instead, it will
undergo a stem change. But that is old news to you by now!
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33. Infinitives

Lesson in a Nutshell

Infinitives are the “to-be” verbs. They are easy to recognize but they can be
challenging to translate since they are sometimes used in ways that are not
like English. Infinitives do not have person and number. They may be
present, aorist, or perfect tense.

To be or not to be. That is the question.
Infinitives are the “to be” verbs.

To run, to dance, to sing, to swim, to learn,

to be or not to be.

Infinitives are verbal nouns. They can function just like nouns in a sentence.

To finish this class will be a great relief.
| like to dance but my wife won’t let me because | look goofy.

In both cases, the infinitive is behaving like a noun in the sentence, even though it is a
verbal idea, hence the designation “verbal noun.”

Infinitives are simple because they do not have person and number, only tense and
voice.

As you might guess by now, the tense of infinitives has nothing to do with time, only
aspect. Infinitives come in three tenses, which capture the three Greek aspects.

Present Infinitives

describe ongoing aspect.

Aorist Infinitives
describe undefined aspect.

Perfect Infinitives
describe perfected aspect.

Mt. Koivn 178



Since infinitives lack person and number and are found in only three tenses, there are
very few forms.

active middle passive

7&1')81\’ to loose ! to be
i to loose (for self) Avecbou loosed
Ao Moot AVoacBor | Avlnvar
to loose to loose (for self) to be loosed
2 AoPBeLv wsove  AOUBECOHON
Ao to take (take)  to take (for self)
AEAVKEVQL | tohave : to have
b
A to have loosed (lf?)?iif}) AgAUGO0L  been

Forms

Present Tense
As usual, the clue for the aorist is that there is no clue. The lexical form will pop out at
you.

Aorist Tense
The Aorist infinitive has our old friend oo (active and middle) and 01 (passive).

Second Aorist
The second aorist endings are exactly like the present tense. The only difference will be
the stem change.

Perfect Tense
The perfect tense will be reduplicated. In the active there will be a k. In the middle/
passive there will be no connecting vowel.

Infinitives are easy to spot. Notice that the present active and second aorist active end
in €1v. All other forms end in o.

As we saw with the subjunctive and imperative, the aspect of the Greek infinitive is very
difficult to capture in English. The present and aorist translation, for example, is
identical: “to loose.” But they mean something different. The aorist describes undefined
aspect. The present describes ongoing aspect.

You could translate the present “to continue loosing” but that is pretty clumsy English!
Better just to learn Greek.
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Translation

Often, the Greek infinitive behaves exactly like the English infinitive and is very easy to
translate. Here are a couple of examples.

dUvatal 0 Be0g £k TOV AMBwv gyeipatl T€kva T@ APpaay.

Heisable * God from stones these toraise children to Abraham.

*

avBpwmoug BEAEL cwbfvat Kat €i¢ Emlyvwolv aAnOeiog
all people He wishes to be saved and into knowledge of truth

ENOETV.

to come.!

The Greek infinitive can also behave in ways that are not like English at all. This takes
some getting used to. Do not panic! We will get used to these as we begin to read more
Greek.

1. Sometimes the Greek infinitive has the article.
Since the infinitive is a verbal noun, this makes sense. When the infinitive has the article
the article will always be singular, neuter. Its case will be determined by the role the

infinitive plays in the sentence.

Here is an example.

yap to (fv? Xp1oTo¢ Kal To amobavelv kEpdog.

tome for to live (is) Christ and to die (is) gain.

Notice that the article defines the “case” of the infinitive in the sentence. In this example
it would be nominative.

T Notice the shift between the first (cwbjvat) and second (éA6<iv) aorist.

2 Remember that {dw is a contract verb. {a + 1v contracts to (ijv.
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2. Sometimes the Greek infinitive is used with an article and a preposition to
mean something you would never guess.

This usage is called “idiomatic” which means there is no clear way to draw a path
between the original Greek and the English translation. You have to know what it means
in Greek, then step back and say it in English.

This chart (found on page 8 of your master chart) summarizes these usages.

The easiest way to begin to grasp this is to take some
examples.

£1¢ TO PA€mery avTOV
into the to see him
A literal transliteration makes no sense at all. This

construction has to be recognized. The correct
translation of £ic to PAémerv ooV is:

In order that he sees.
Huh?? Yep. That’s it. In order to translate this idiom,

you have to recognize the preposition with the infinitive
and see it like this:

Sig TO means “in order that.
BAénsw means “sees.”
OUTOV means “he” (the “subject” of the infinitive).

The strangest part of this construction is that the subject of the preposition will be in the
accusative case but will be translated as if it were in the nominative.

This is tricky since we have trained ourselves to expect accusatives to receive the
action of the verb. In this construction they produce the action.

Here are two examples of each construction. Please don’t worry and have nightmares

about this. Just look these examples over and try to get a feel for this idiomatic use of
the infinitive.
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eicto ________
in order that

£1¢C TO MOTEVELV AUTOV

=in order that he believes

0 V106 ToD avOpwov Tapadidotatl €i¢ TO oTaLPWORVAL!

The Son * of Man is handed over in order to be crucified.

LETO TO TOTEVELY AUTOV

= after he believes

UETK TO AmoBaVETV TOV TATEPX
= after the father dies

because

10 TO MOTEVELV ALTOV

=because he believes

01 TO givat a0TOV €€ 0TKOUL Kal TaTpid Aavid

= because he was of the house and family of David.

1 In this instance there is no expressed “subject” of the infinitive. The subject is obviously the Son of Man.
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when/while

£V TW TOTEVELV AUTOV

= while he believes
£V TQ omelpev! avTOV

= while he sows

\ ~
mpoTO0 ________
before

PO TOD MOTEVELV AUTOV

= before he believes

TO TAGXAX PAYETV Ued’ DUDV PO ToD L TabeTv?

the Passover to eat with  you before I suffer

= to eat the Passover with you before I suffer

mPOCTO ________
in order that

TPOG TO MOTEVELV AUTOV

=in order that he believes

TPOC TO dVVaeOal LUGC oTRval
=in order that you are able to stand

1 omneipw = | sow

2 doxw = | suffer
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34. Participles Overview

Lesson in a Nutshell

Participles are verbal adjectives, usually translated as “ing” words.

As verbs, they have tense and voice. As adjectives they have case, number
and gender.

Participles can behave like adjectives or adverbs.

Ah, the participle,
that wonder of Greek morphology!

The Greek participle will bring together what we have learned about substantives and
motion words into one glorious (terrifying?) part of speech.

The good news is that if you have learned the material we have covered so far, there is
very little new to learn.

The bad news is that if you have not learned the material we have covered so far, it will
come back to haunt you.

The good news is that the participles give us a chance to summarize and review all we
have learned so far. Onward!

In this lesson, we will focus on understanding the grammar of the participle — how it
behaves in a sentence. | will also introduce you to the basic forms of the Greek
participle.

In the three lessons that follow, we will put the participle into play — and play!

What Is A Participle?

A participle is a verbal adjective. It has

= some things in common with verbs and
= other things in common with adjectives.
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In English, the participles are the “ing” words.!

flying
running

falling
laughing

Sometimes participles behave like adjectives.
Other times they behave like adverbs.

As adjectives...

Participles can modify nouns — just like adjectives. This is called the adjectival use.
Pretty tricky, right?

Here is an example of an adjectival participle.
The hunting dog.
See? “Hunting” modifies “dog.”
Participles can also “stand in” for nouns — just like any adjective.
This is called the substantival use.
Hunting is my favorite activity.
In this case “hunting” is behaving like a noun.

As adverbs...

Participles can also modify verbs. In other words, they behave adverbially. This is called
the adverbial use of the participle. Who would have guessed?

Here is an example of the adverbial use of the participle.
My dog broke its leg while hunting.
In this case “while hunting” modifies “broke.” In other words, the leg “broke while

hunting.” When the participle is used this way in Greek, it will often require a key word to
complete the meaning.

1 Actually, “ing” is used to form the active participle in English and “ed” is used to form the passive
participle.
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To review: There are three ways the participle is used:

Adjectival
The hunting dog.

Substantival
Hunting is my favorite activity.

Adverbial
My dog broke its leg while hunting.

One more thing...

The participle can stand at the head of a phrase. This is called a participial phrase.

Watch how the participles in our three simple examples can be expanded into participial
phrases.

Adjectival
The dog hunting by my side.

Substantival
Hunting with my friends on a cool fall morning is my favorite activity.

Adverbial
The dog broke its leg while hunting in the woods.

As we begin to translate Greek, you will discover that it is very important to see
participial phrases.

It’'s a participle paradise!
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Recognizing Greek Participles

Greek participles have tense and voice, case, number and gender.

Tense Voice Participle Case Number Gender

Nominative
Present | Active » , Masculine
_ _ . Genitive | Singular o
Aorist Middle | Participle ) Feminine
. Dative Plural
PeRfect | Passive Neuter
Accusative

Tense: The tense of a participle is not focused on time, but aspect. Remember:
everything outside of the indicative is not focused on time.

Participles do have something called “relative time.” It means that the action described
in the participle takes place relative to the main verb. More about that later.

For now, it is enough to focus on aspect, which is much more important.
It’s the same old story:
Present Participles

describe ongoing aspect.

Aorist Participles
describe undefined aspect.

Perfect Participles
describe perfected aspect.

Voice: The voice of the participle tells whether the subject of the participle is giving
(active) or receiving (passive) the action of the participle. No surprise there!

Case, Number, Gender: The case, number and gender of the participle will match the
noun it modifies. Just as adjectives had to be able to be masculine AND feminine AND

neuter, participles must be able to be all three genders. For this reason, there are 24
forms of each participle.
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This is not like English, but by now we should be used to it.

There is only one form of the English definite article (“the”) but there are 24 forms in
Greek. Why? Because every Greek article matches the noun it modifies in case,
number and gender. But this is old news.

Because the participle is a verbal adjective, it has 24 forms. It will follow either the 2-1-2
or 3-1-3 pattern of declension. In English, | use the same word whether | am speaking

of...

a believing man
believing men

a believing woman
believing women
believing crowds

In Greek, the participle will change to match the case, number and gender of the noun it

modifies.

TMOTEVW V!
TOTEVOVTEC
TOTELOVOX
TMOTEVOLOOL
TOTEVOVTEC

avOpwmog
avBpwrol
yuvn
YUVOIKEC
ox\ot

One more time: Participles have tense and voice, case, number and gender.

Tense

Present
Aorist
PeRfect

Voice Participle Case Number Gender

Active
Middle
Passive

Participle

Nominative ,
. _ Masculine
Genitive | Singular o
. Feminine
Dative Piural
Neuter
Accusative

' The nominative, masculine, singular form of the participle is odd. We have seen this pattern. Nominative
forms tend to do their own thing.
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We will study the forms in the next three lessons, but the good news is that there is
almost nothing new to learn.

* The present tense will be built on the present tense stem.
(It will look like the lexical form.)

* The Aorist tense will reveal itself by a oo, O¢ or a stem change.
There will be no augment.

The perfect tense will use a reduplication, k, or no connecting vowel.

The voice of the participle will be easy to see by the participle morpheme.
(More on that to come.)

Active Middle or Passive
VT, ovoa/1
VT, oooa/1 uev, Oe
KOT, KU1d

* The case, number and gender will be shown by noun endings we have already
learned.

T Instead of a 6n the participle uses B¢.
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35. Present Participles

Lesson in a Nutshell

Present participles are based on the present tense stem.

- Active voice will contain vt or ovoa. They follow the 3-1-3 pattern.
- Middle/passive voice will contain piev. They follow the 2-1-2 pattern.

Present participles convey ongoing aspect.

In this chapter, we will learn how to recognize and translate present participles. Let’s
begin with recognition.

How To Parse a Present Participle

Present Participles

active middle/ passive
VT, 0UGA, VT LEVO, UEVT], UEVO
3-1-3 2-1-2
M (3) F @) N (3) M (2) F (1) N (2)
AVOV AVOVOOL AVOV AVOPEVOC | Avopevn | Avdpevov
AVOVTOC Avovong AVOVTOC AMOPEVOL | Avopevng | Avopevou
AvovTL Avovon AoVt AMOREVD | AVOpEVY | AVOREVW
AVOVTO! AVOVOOLY AVOV Avopevov | Avopevny | Avdpevov
AVOVTEC AVOVOOL AVOVTO! Avopevol | Avopevor | Avopevo
Aoviov | Avovedv | Avoviov | Avopevov | AopEVLDVY | AVOpEVLV
AVovoly | Avovoaic | Avouvoty | MOREVOLC | AMVOREVOILS | AVOUEVOLC
AVOVTOC AVOVCOLC Aovto. | Avopevouc | Avopevoc | Avopevo

| know that when you first look at this table it makes you want to run for the hills

screaming.

There is no need for such drastic measures!
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You already know everything!

Tense and voice, case, number and gender, remember?
Tense Voice Participle Case Number Gender

Nominative
Present | Active » , Masculine
_ _ . Genitive | Singular o
Aorist Middle | Participle ) Feminine
. Dative Plural
PeRfect | Passive Neuter
Accusative

Let’s learn how to recognize each of these pieces of the participle. Then we will put
them into play.

Tense

Present tense is recognized the same way it always is. The clue is that there is no clue.
Since we learn the present tense when we learn the verb, the present tense stem will be
there smiling at you, shouting “Hey! I’'m present tense!”

Voice

This is easier than you might think. Notice that the middle/passive forms all have pev
after the connecting vowel. This is a sure sign that a participle is middle or passive. It’s
worth repeating:
HEV
in the middle
is a sure sign that you’re looking at a
middle/passive participle.

By process of elimination, if the participle lacks Liev, you can assume it is active. But
that is a backwards way to identify an active participle. Here is the positive approach.

Active participles all have either vt or ouoa/n. Of the two, vt is more common. So here
is how to spot an active participle.

VT and ovoa/1

are dead giveaways
that you are looking at an
active participle.
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Case, Number, Gender

We find the case, number and gender exactly as we would expect — by the case
endings. As we learned in the last lesson, since the participles are adjectival they have
to be able to take on 24 forms.

Do you remember the 2-1-2 pattern of declension? It is the most common way that
adjectives decline. The article, for example, follows this pattern. It means the adjective
follows:

= Second declension in the masculine gender

= First declension in the feminine gender, and

= Second declension in the neuter gender

Then, there was the 3-1-3 pattern of declension. The adjective followed this pattern.
It followed:

= Third declension in the masculine gender

= First declension in the feminine gender, and

= Third declension in the neuter gender

We have seen it all before. You should be nodding off on me!

If you remember these patterns, you will have no problem with participles. If not, you
might want to go back and re-watch videos 12 and 13.

Here’s the rule:

Present active participles follow the 3-1-3 pattern of declension.
Present, Middle/Passive patrticiples follow the 2-1-2 pattern of declension.
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To illustrate...

Comparison of the present active participle and

QL0
24 forms of moc (3-1-3)

M (3) F (1) N (3) 3 masc I fem

ALV Avovoo. AvOV | N | mog | mooo oV |
AVOVTOC Avovong AVOVTOg | G | movTog | mOoMg | MOVTOG |
AVOVTL Avovor) AVOVTL D | movtt | moon | TovTl
AvovToL AV0VOOLY Avov | TOVIO | TOIC0V rov
AVOVTEC Aovoot AvovTOL | movTeg | mocon | movToL |
AOVIOV | Avovomdv | Avoviov TOVIOV | THCOV | TOUVTIOV
Avovolv | Avodooug | Avovoiv OO i)
AVoVTOC AVoVeOIC Adovor | TOLVTOC | TovVTo. |

You will want to note the nominative, singular, masculine form (wv, shaded yellow in the
chart above). This is an exception to the rule, but we are used to nominative forms
being odd.

Comparison of the present, middle/passive participle and the article

adie p e
O O
M (2) F(1) N(2) The Article
4 , , M(2) F (1) N (2)
AVOREVOG | AVOMEVT | AVOREVOV Nominative “the” 3 1 %
AVOPEVOV | AVOREVIC | AVOREVOD g Genitive  “of the” | 710V e 700
AVOPEVW | AVOMEV | AVOMEVD) ug; Dative ‘tothe” | 10 ™ 0
AVGREVOY | Avopévny | Avdpevov Accusative the 0V mv 70
Avopevol | Avopevar | Avopevo Nominative “the” ot ol 0
AvopEveV | Avopévov | Avopévov w|Genitive  “ofthe” | t@v | tov | 1dv
= 2 “, ” = = 3
AVOUEVOLC | AVOpEVOLS | AVOpEVOLS a | Dative o the Tolc | Todc | Tole
, , , Accusative “the” TOVG TOG O
AVOMEVOLS | AVOMEVOC | AVOPEVO

The bottom line: If you understand how the 2-1-2 and 3-1-3 adjective behaves, you can
easily tell the case, number, and gender of a participle.
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Let’s Practice

Here are a few examples to demonstrate.

TIOTEVOUEVTV

(being believed)

Let’s break it into pieces to examine it.

TIIOTEL 0 UEV NV

= The stem has not changed from what we learned (rtioTe0). It is present tense.
= [t contains LEV so it is either middle or passive voice. (0 is the connecting vowel.)

= 1)V is the accusative, singular feminine noun ending.

So to parse miotevouU£VnV we simply describe it as a present, middle/passive
participle, accusative, singular, feminine.

One more for good measure.

KataPaivovrta

(going down)

Let’s break it into pieces.

katafaiv o vt o

= The stem has not changed from what we learned (xatafawv). It is present tense.
= |t contains VT so it is active voice. (o is the connecting vowel.)

= ( is the nominative or accusative, plural neuter noun ending for the third
declension.

So to parse kataPatvovta we simply describe it as a present, active participle,
nominative or accusative, plural, neuter.

That is how you parse a present participle.

Now let’s look at some participles in sentences.
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How To Use The Present Participle

Adjectival Participle

"10€ 0 Guvog oD Be0D 6 alpwV TNV GuapTiay To0 KOGUOU.
Behold the lamb * of God  taking away the sin of the world.

alpwvV is a present, active participle, nominative, singular, masculine.

* alpwv is adjectival. It modifies 0 avog o0 BeoD.
* Often with Greek adjectival participles, you have to add some words to smooth
things out. Usually this is translated, “Behold, the Lamb of God who takes away

the sin of the world.” It is better English. But the present force of the participle
gets lost.

* The case, number and gender of the participle match the case, number and
gender of the noun being modified (0 &1VOg).

% The underlined words are the participial phrase.
* IMPORTANT: The adjectival participle almost always has the article.

Substantival Participle

Ol MOTEVOVTEC cWOTcOVTAL.

The believing (ones) will be saved.

TOTEVOVTEC is a present, active participle, nominative, plural, masculine.

* miotebOVTEC is substantival. It does not modify anything. | put “ones” in
parentheses. Often with Greek substantivals you have to add the implied subject
in your English translation.

* The case, number and gender match the plural subject. (Those who will be
saved.)

% The underlined words are the participial phrase.
* IMPORTANT: The substantival participle almost always has the article.
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Adverbial Participle

ginev €v ouvaywyf] dddokwv v Kagapvaovyl.

these (things) hesaid in  the synagogue teaching in Capernaum.,

d1ddokwyV is a present, active participle, nominative, singular, masculine.

* d18dokwv is adverbial. It tells us more about gimev.

% The case, number and gender match the “he” in “he said.”
% The underlined words are the participial phrase.

* IMPORTANT: The adverbial participle never has the article.

The best way — the only way — to learn these is to meet a bunch of them in context.
Try your hand at translating the sentences in the workbook.

Do not become discouraged if you find these difficult. You will get the hang of it!
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36. Aorist Participles

Lesson in a Nutshell

Aorist participles are based on the de-augmented aorist tense stem.

- Active voice will contain vt or caoa. They follow the 3-1-3 pattern.
- Middle voice will contain pev. They follow the 2-1-2 pattern.
- Passive voice will contain 6. They follow the 3-1-3 pattern.

Aorist participles convey undefined aspect.

In this chapter, we will learn how to recognize and translate aorist participles. Let’s
begin with recognition.

How To Parse an Aorist Participle

Aorist Participles

active middle passive
VT, 0000, VT UEVO, UEVT], HEVO Oevt, O10a, Osvt
3-1-3 2-1-2 3-1-3
M (3) F(1) N (@3) M(2) F(1) N (2) M (3) F(1) N (3)
Aoac | Moaoco | ADoav  Jrvodpevoc | Avoopévn [Avoopivov ] AvBeic | AvBeico | AvBev

Aoavtoc| Avodonc [Aveavroc | Musapévou [ Avsapévng |Muoapévou | AvBEvToC [ AvBeiong | AvBEvToc
Moavtt | Aodon | Moovtt | Woapéve | Avoapévy | Avoopéve | AuBevrt | AvBeion | AvBevtt

Aoavto | Avoacoy [ Adoav | Avodpevoy [ Avoapévny | Avsdpevov | AvBévto |AvBeicay | AvBev

Moavec | Moaoon | AMoavto | Avodpevor [ Avsdpevor | Avodpeva | AvBevTec [ MvBEicon | AvBEvTal

Avoaonv fuoavtwviivcauévoy [ Avocopevev [Avoaptvov fAvOevTOV [AVBEVTOV [AVOBEVTWLOV

Moaooic| Aoaoty frvcopévos|voapévars [Moapivoc | AvBeioty [AvBeioaiic| AvBeioLy
Avoaoac | AMvoavto usepévouc| Awoapévoc | Aodpeve fAVBEVTOC [ AvBEiCOC | AvBEVTO

Second Aorist Participles

active middle passive
VT, 0V0A, VT UEVO, UEVT], LEVO EVT, €100, EVT
3-1-3 2-1-2 3-1-3
M@ | F(1) | N@3 M@ F) N (@) M @) F() N@)
Borwv |Borodoo | Bodov [ Bokopevog | Bodopevn |Baddpevov fl ypadelc | ypaeico | ypadev
Bokovroc |Bokovenc |Bakovroc | Baropévou | Bakopévng | Bokopévou Bypodevtog | ypaupeionc | ypodevtog
BaAovrt | Barovon | Bakovrt [ Bokopéve | Boguévn | Bakopéve W ypagévtt | ypadeion | ypagevet
Boovto [Bokovoov| Bokov [ Borouevoy | Bakopevny | Baopevov fypadevio [ypadeicov| ypadev
Bohovrec [Badovoo | Badovto. Jf Bodopevor [ Bokopevor | Badopevo, Bypodévies | ypadeioor | ypadevio
Bodoviwv [Bokovsm v [Badovin v fBoropévay | Bodopévov | Baropevay lypadéviwv [ ypodeicdv | ypadévimv
Balovotv |Barovsoic [Badovoty fBoopevoic|Badopevaic|Batopevoic Bypadeioty [ypadeiconc| ypadeioty
Bohovroc [Bokovooc| Boadovo, JBodopévouc| Bokopévoac | Boddpeve: Bypavévroc|ypoeicoc [ ypoudéveo
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Once again, the sheer number of forms may cause an allergic reaction! Hopefully by
now you’re seeing that there are only a few patterns behind all these forms.

@ Remember: We are just trying to discover the tense and voice, case,
% f‘;‘ number and gender.
o d
'C““ % Before going on, look at the Aorist Participle table. How many
1:# g patterns can you already recognize?
i.\\v\.h ‘T&v’ﬁ
Tense

Aorist tense is recognized in the ways we have already learned.

= oo (active and middle) and O<? (passive) are the big giveaways for first aorists.

= The stem change is the giveaway for second aorists.

Voice

We recognize the voice from the participle morpheme. Most of these forms are similar to
forms we already know.

= Active: vt or cooa (ovoa in the second aorist).
= Middle: pev.

= Passive: O¢ (just € in the second aorist passive).

Case, Number, Gender

Aorist active participles follow the 3-1-3 pattern of declension.
Aorist middle participles follow the 2-1-2 pattern of declension.

Aorist passive participles follow the 3-1-3 pattern of declension.

1 In the participle it is O¢, rather than 01, as we have come to expect everywhere else.
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At the risk of being too repetitive, here is a comparison with (which follows the 3-1-3

pattern), and the article (which follows the 2-1-2 pattern).

Comparison of the aorist active participle with

(after) loosing vt, cooo
M (3) F (1) N (3) 24 formg of mog (3—!—3)
- - — 3 masc \ I fem 3 neut
Avooc | Avooaoco | Avoov
Moavtoc| Avodong [Avoovtog
AOoavTL Avoao) AVoavTL TOVTL | oo | movTt
Aoavto | AMoacoy | Avoav
Moavtec [ Moaoot | AMcavio TOVTEC | Moo | movtoL
\voaviov| Avsacwv fucovimy n(xvm)v\’ TOCWV | TOVIWV
Mooty [Aedooic | Aoaoty TUOLY | TGOS | TOOL
AVoavToC| Aodoac | AVoavTol MOVTOG | MOCOG | ToLvToL

Comparison of the aorist middle participle with the article

ddle
OUHEVO, 00 OUHEVO The Article

M@) F() N (2)

M (2) F (1) N (2) Nominative “the” 0 n 70

Avoapevoc | Avoopevn |Avoopevav % Genitive of the TOP ‘I:Tlg 1:0})

- - - £ | Dative “to the” 0 ™m T

AVGOPEVOL | AUCOUEVTIC | A\VCOPEVOD (2} —+ = c

- - - Accusative the TOoV mv 70
Avoopeve | Avoapevn | Avoopeve

Avoapevov | Aoopevny [ Aveapevov Nominative “the” ot ol 10

Avoapevol | Avoapeval | Avoopevo. | Genitive  “of the” TOV TQV TOV

= . « » ~ ~ =

Moopévov | Avoapevoy [ Avoopévav o | Dative to the TOG | Toug | 7Ol

AVGOPEVOLC [ AVoapEVOLS AVCOIEVOLS Accusative ‘the T0¢ T0Q 1o
Nuoopevouc| Avcopevac | Avoapevo.

Comparison of the aorist passive participle with

(after) being loosed Bevt, Beica

M (3)

FQ)

N (3)

AVOELC

AvBeLloO

AVOEV

AVOEVTOC

AvBetong

AMVOEVTOC

AVOEVTL

AvBeion

AVLOEVTL

AvOEVTOL

AvOeicOLY

AVOEY

AVOEVTEC

AvBgioon

AVOEVTOL

AvBeVTOV

AVOEVTOV

AVOEVTOV

AvOELoLY

AMBeLo0ILG

AvO€LoLY

AVOEVTOC

AvBetooc

AVOEVTOL

24 forms of nog (3-1-3)
3 masc \ I fem 3 neut
N TOLG \ OO0 oLV
G | ToLvTOg \ TOLONG

D | movtt \ TOLOM TOLVTL
A | movto ‘ TOLOOLV

N | TOoLVTES \ TOCOL | TOLVTOL
G navrwv\ TOCWV | TOVIOV
D | moouw \ OO0 | OO L]

A n(wi.;\ TOLOOLG
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Let’s Practice

Here are a few examples to demonstrate.

TIOTEVOAVTEQ

(believing)

Let’s break it into pieces to examine.
TILIOTEL OU VT £C
= oo tells me this must be an aorist participle.
= VT tells me this is an active participle.
= ¢c is the nominative plural, masculine case ending in the third declension.

So to parse miotevoavteG we simply describe it as an aorist, active participle,
nominative, plural, masculine.

Here’s another:

TOTEVCAUEVAL

(believing for self)

breaking it into pieces...

TIOTEL 0A UEV Ol

= ox tells me this must be an aorist participle.
= uev tells me this is a middle participle.
= (1is the nominative plural, feminine case ending in the second declension.

So to parse mioTeVOAUEVHL we simply describe it as an aorist, middle participle,
nominative, plural, feminine.
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Here’s another.

TMOTEVOEVTOC

(being believed)

breaking it into pieces...

TOTEL O€ VT 0¢

= O¢ tells me this must be an aorist passive participle.

= 0¢ is the genitive singular, masculine or neuter case ending in the third
declension.

So to parse miotevO£VTOC we simply describe it as an aorist, passive participle,
genitive, singular, masculine or neuter.

One more.
b} 7/
EITTIWV
(saying)

Let’s break it into pieces.

1T WV

= The stem changed from A€y to €im. It is a second aorist.

= |t uses the odd wv ending which is the active, nominative, singular, masculine
form.

So to parse inwv we simply describe it as a second aorist, active participle,

nominative, singular, masculine.

That is how you parse an aorist participle.

Now let’s look at some aorist participles in sentences. Remember that the only
difference in meaning will be that of aspect.
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How To Use The Aorist Participle

Adjectival Participle

gl 0 avnp 0 AaAnoag mpo¢ TNV yuvaika.

* speaking with the woman,

You are the man

AaAnoog is an aorist, active participle, nominative, singular, masculine (from AaA£w).

* AaAnoog is adjectival. It modifies 0 avrp.

% The case, number and gender of the participle match the case, number and
gender of the noun being modified (0 avrp).

% The underlined words are the participial phrase.

* IMPORTANT: The adjectival participle almost always has the article.

Substantival Participle

0 motevoag Kal Pamntiobelc cwdnoetarl,
The believing and baptized will be saved.

=The (one who) believes and is baptized will be saved.

mioteLoaC is an aorist, active participle, nominative, singular, masculine.
ﬁantw@s‘lq is an aorist, passive participle, nominative, singular, masculine.

* miotevoog and PanticOelC are substantival. They are the subject of the verb.
* The case, number and gender match the implied subject. (The man2 who
believes and is baptized.)

* The smoothed out version adds the implied subject. This is a legitimate
translation.

* IMPORTANT: The substantival participle almost always has the article.

1 From 0w {(w. Notice the future passive clue (010).

2 Often, the masculine form is gender inclusive, much in the same way as in older English “mankind”
referred to all humanity, not just males.
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Adverbial Participle

eABOVTEC €1¢ TNV oikiav €idov TO matdiov.

coming into  the house, theysaw the child.

eABOvTeC is a (second) aorist, active participle, nominative, plural, masculine (from
gpyouat).

* £\06VTeC is adverbial. It tells us more about £150v.

% The case, number and gender match “they” in “they saw.”
% The underlined words are the participial phrase.

* IMPORTANT: The adverbial participle never has the article.

Now try your hand at translating the sentences in the workbook. Again, do not become
discouraged if you find these difficult. You will get the hang of it!
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37. Perfect Participles

Lesson in a Nutshell

Perfect participles are based on the perfect tense stem.

- Active voice will contain kot or kuia. They follow the 3-1-3 pattern.
- Middle/passive voice will contain uev. They follow the 2-1-2 pattern.

Present participles convev perfected aspect.

In this chapter, we will learn how to recognize and translate perfect participles. Let’s
begin with recognition.

active

Perfect Participles

KOT, KUL(, KOT

3-1-3

middle / passive

UEVO, UEVT, UEVO

2-1-2

How To Parse a Perfect Participle

M@ | F() | N@) M (2) F (1) N (2)

renvkdc | Aervxvia | Aedvkdc | Aedvpevoc | Aedvpevn | Aelvpevov
AeMvkoToc [ Aedvrviac |Aervkotoc | Aedvpevov | Aelvpevng | AeAvpevou
AeAvkoTL [ Aedvkvio | Aedvkont | AEAVREVOD [ Aedvpevn | AeAvpEvo
Aedvkoto [Aelvkviov| Aedvkoc | Aelvpevov | Aehvpevny | Aelvpevov
AevkoTec | Aedvkvion [ Aedvkota | A€AVpEVOL | Aedvpevor | Aedupevo
AervkoTov[Aervkvidy ledvkotovl] AeAvpEvey | AeAvpEvoy | Aelvpevov
AeAMvKooLy edvkvionc| Aervkdory | AeAvpevolg | Aedvpevaug [ Aelvpevorg
AeAvkoToC| Aedvivtog [ Aedvkoto [ Aedvpevouc | Aelvpevac | Aelupevo

Hopefully by now, the number of forms does not even faze you. It is the same old

routine, just a few patterns to notice, not dozens of forms to memorize.

Again, (and again and again) allow me to remind you that we are trying to discover the
tense and voice, case, number and gender. We already know most of this.
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Tense
Perfect tense is recognized in the ways we have already learned.

= reduplication!

= Kk in the active and no connecting vowel in the middle / passive.

Voice
Once again, we recognize the voice from the participle morpheme.

= Active: KOT or Kulx

= Middle / Passive: uev

Case, Number, Gender

Perfect active participles follow the 3-1-3 pattern of declension.

Perfect middle / passive participles follow the 2-1-2 pattern of declension.

| am really overdoing it, but here is a comparison with and the article. Concentrate

on the endings. | am trying to drive home the point that these endings are everywhere,
and that you already know them.

Comparison of the perfect active participle with

O O O
24 forms of nag (3-1-3)

vEe | F) NG | [T
AeAvK@G | AeAvkuio, [ AeAVKOG
AeALK0TOC [ AeAvkviog | AedvkoTog TOoNG | TOLVTOG
AeAVKOTL | Aedvkvia [ AedvkoTt TOVTL | 7o | ROVTL
AedvkoTo [Aedvkvioy [ Aedviog A | TOVTOL | TIOLGOLY Toy
AeAvkOTeC | Aedvkvion | AeAvkoTol
ALeEAVKOTOV[AEAVKVIOV AeEAVKOTOV TOVTWV
AEAVKOOLY [AEAVLKVL0NC| AEAVKOGLY n
AeAvKOTOG | Aedvrviog | Aedvkoto
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Comparison of the perfect middle / passive participle with the article

M (2) F@) N (2)

, , ’ M (2) F (1) N (2)
AEAVPEVOC | A€Avpevn | AeAvpevov Nominative “the” 3 A 6
AEAVPEVOD | AEAVPEVIC | AEAVREVOL | |5[Genitive  “of the” | 00 Mg | 10D
AEAVPEVD | AgAvpevn | Aelvpevo 2| Dative “othe” | 10 T 0
AEAVPEVOV | Aedvpevny | AeAvpevov Accusative the OV mv 70
Aelvpevor | Aedvpevor | Aelupeva PP ———— = o =
xskuuf:vmv Xekuu:avwv Xe?muf:vmv 5| Genitive _“ofthe’ | taov - -
Aedvpevoig [ Aedvpevorg | AeAvpevols | |2 pative “othe’ | toic | toic | toic
Aelvpevoug [ Aedvpévag | Aelupevo Accusative “the” t00¢ | 7Tog 0

Let’s Practice
Here are a few examples to demonstrate.
/
TLETIIOTEVKOTEQ

(having believed)

Let’s break it into pieces to examine.

TIE TTOTEV KOT £C

= The reduplication and « tell me it is perfect tense.
= kot tells me this is an active participle.
= ¢ is the nominative plural, masculine case ending in the third declension.

So to parse nemioTeELKOTEC we describe it as a perfect, active participle, nominative,
plural, masculine.

Mt. Koivn 208



Here’s another:

TEMOTEVUEVOC

(having been believed)

breaking it into pieces...

TIE TTOTEVL UEV 0C

= The reduplication tells me this is perfect tense.
= uev tells me this is a middle / passive participle.
= 0¢ is the nominative singular, masculine case ending in the second declension.

So to parse TemoTEVUEVOG We describe it as a perfect, middle or passive participle,
nominative, singular, masculine.

That is how you parse a perfect participle.

Now let’s look at some perfect participles in sentences.
Remember that the only difference in meaning will be that of aspect.

How To Use The Perfect Participle

Adjectival Participle

0 AvOpwWTOG O YEYEVVNUEVOGS €K TOD B00 apaptiay oL Tolel.

*

the man having beenborn  from * God sin not he practices.

ysyevvr]pévog is a perfect, passive participle, nominative, singular, masculine (from
YEVVEW).

* yeyevvnuévog is adjectival. It modifies 0 &vOpwmroc.

% The case, number and gender of the participle match the case, number and
gender of the noun being modified (0 &vr)p).

% The underlined words are the participial phrase.
* IMPORTANT: The adjectival participle almost always has the article.
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Substantival Participle

0 YEYEVVNUEVOC £k TOD B0D auaptiav ol motel.
The having been born from * God sin not he practices.
=The (one who) has been born from * God sin not he practices.

YEYEVVNUEVOC is a perfect, passive participle, nominative, singular, masculine.

* YEYEVVNUEVOC is substantival. There is no noun to modify.

% The case, number and gender match the implied subject. (The man' who has
been born of God.)

% The smoothed out version adds the implied subject. This is a legitimate
translation.

% The underlined words are the participial phrase.
* IMPORTANT: The substantival participle almost always has the article.

Adverbial Participle

"Eyéveto avBpwmoc¢ anestaAuévod mapa 0g00.

came aman having been sent from God.

aneotaAu£voc is a perfect, passive participle, nominative, singular, masculine (from
ATMOOTEAAW).

* anectaAuévog is adverbial. It tells us more about 'Eyéveto.

* The case, number and gender match &v0pwroc.

% The underlined words are the participial phrase.
* IMPORTANT: The adverbial participle never has the article.

Now try your hand at translating the sentences in the workbook. Again, do not become
discouraged if you find these difficult. Remember, this is your first semester of Greek!

' In this case the masculine form is gender inclusive, much in the same way as in older English “mankind”
referred to all humanity, not just males.
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